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1. esProc Description

1.1 Description of esProc Functions
esProc users can complete batch data computing with the following basic functions:

Data Analysis and Structured Computation
Free Access to Database and Online Data Analysis

1.2 Installation
To install esProc, please run the installer according to the instructions below step by step:

Run installer

Click Next to continue, accept the agreement

Select the installation directory, click Install

Complete the installation

If you are familiar with the configuration of running environment of Java, and JDK1.5 or

higher version has been installed locally, then you can also choose to launch the esProc installer
that will not install JDK automatically but prompt you to navigate to the directory of JDK in the
local machine.

1.3 Interface Layout and Cellset File Creation

Run esProc main program and open esProc standard and click A button to create the
cellset file.
q . :
Goto' o A3 EN &
sl & | Value B
S - " . 144]
= ‘|| Value view section |
2 |ragal —_—
=arg*arz Cellsetvariable l’ Global variable |’ Datasource |
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Cellset window || Variable section

On the left is the Cellset window, the active cellset files you are operating are shown here;
on the right, the upper area is the Value View section and the lower area is the Variable section.
Variable section and Data View section can be retracted and expanded easily.
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1.4 Auxiliary Function for Editing Functions in esProc

esProc provides lots of functions. And auxiliary function for editing functions can make code
writing in cells more easily. On the aiding interface for editing functions, you can check the
function syntax, description, and other information:

. Eif(arg=3]1.0)

-
ifiboolExp .trueExp .falseExp )

ifibool -trueValue .. default )

4]

If boolExp is true, then refurn trueValue, otherwise, return falseValue
Param:

1. boolExp (Boolean expression)

2. trueExp (True value)

3. falseExp (False value)

You can open/close the auxiliary function for editing functions by pressing Alt+].

2. Basic Operation

2.1 Data Types in esProc

2.1.1 Data Types
In esProc, the following data types are available:

Integer
Any integer between -2%1~2%-1, i.e. the value range is -2147483648~2147483647. You can
use the type conversion function int() to convert other types of data into integer.

Long integer

-2%-2%.1 which is a value range greater than that for integer type. You can use the type
conversion function long() to convert other types of data into long integer.

Particularly, long integer can be represented by appending a capital letter L to the integer.
Compared with an integer, a long integer has a bigger value range; strings staring with Ox can also
be used to represent the hexadecimal long integers.
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- | Value
123436780900
1 |=1234567200*100
=123456759% 1010 Value
2 |T -530222088
3 | =0x00FF :
Valus
253

Since the value range of common integers is -231~231-1, that is, -2147483648~2147483647,
the result in A2 is beyond boundary. While by using a long integer in A1, the value range is
increased to -2°3~2%%-1 and correct result can be obtained. It can be noticed that, during
performing the operation of a certain step, if one of the operands involved in the operation is a
long integer, the result will be a long integer.

Floating-point number

64-bit floating-point number is the commonest data type for esProc. All real numbers related
computations are performed with this data type. You can use the type conversion function float() to
convert other types of data to floating-point number. Because the floating-point number is used to
store data according to the binary rule, there could be some errors in the computation.

Big decimal
Big decimal can be used to store any real number error-freely, but more memory could be
consumed when using big decimal for computation and the computational efficiency is relatively
low. The type conversion function decimal() can be used to convert other types of data into the big
decimal.

54, 43.31, -4.45E13, 3%

Real number
The real number covers four data types: integer, long integer, floating-point number and big
decimal. number() is the type conversion function available to change other data to real number.

Boolean
It includes true/false.

true, false

String

Double quoted in an expression, and the escape character is \. If the string is defined in a
constant cell directly, the double quotation marks are omitted. You can use the function string() to
convert other types of data to strings. When concatenating two strings x and y in an expression,
you can add the space x y in-between.

abcd
="US\tChina"
="Beijing" "China" Concatenate two strings to get the result "Beijing China".

The escape rule is the same as that of JAVA. For details, please refer to the manual.

Date / time
In the yyyy-mm-dd or hh:mm:ss format. Type conversion functions such as date(),time(),
and datetime() can be used to convert the string or long integer to date, time, or datetime. 2010-1-3,
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23:04:23

Click the Tool -> Options menu item. On the Environment tab, set the format of time/date

data, the character code, etc.

Option

General Environment rAppearance

Log file name

|E:\t00|s\raqsomesProc\Iog\esproc.log

I'%@

Browse Cancel

Searching path |E:\t00|s\raqsomesProc\demo

Main path |E:\t00|s\raqsomHub\main

Browse

Temp path |temp

|

| Browse
|

| Edit

4113

Date format |mry—l'u1 M-dd

|v| Time format |HH:mm:ss

1

Date time format |WW—|'\"||'U'|—C|C| HH:mm:ss

| - | Default charset name |ISO—8859—1

K| XN

Local host [192.168.0.1

| Local port |a282

File buffer(Byte) |

55.535|i|

Precision loss maybe happen when converting a type of data into another one.

2.1.2 Judging the Data Type

In esProc, you can judge the type of data by the following functions:

ifnumber(x)
Judge if x is a real number.

ifstring(x)
Judge if x is a string.

ifdate(x)

Judge whether x is a date or a datetime.

iftime(x)
Judge if x is a time.

=ifnumber(3.5)
=ifstring(now())

true.

2.2 Type of Cells

2.2.1 Constant Cell

false, now() is used to compute the current datetime

The cell string interpreted as constant is Constant Cell by name. Its cell value is the constant.
The constant cell has the following types of values:
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Value
54
A Interpreted as real num{ Value
4331
1 4 Ilnterpreted as real number Value
2 43 Interpreted as real number -4450.0
3 _A45E3 according to scientific notation Value
o | T et s sring | ——(3bed
5 2010-1-3 sl Yalue
Interpreted as date I-§)
& 230423 — 2010-01-03
7 raggoft ‘I Interpreted as time L Value
: S>> 23:04:23
Interpreted as string
Value
ragsoft

The text of the constant cell is in pink by default. Depending on the data in cells, it will be
interpreted into various data types. For those unrecognized data, they will be taken as the string.

- Note: The representation style of 3% is unacceptable in any expression, but it is acceptable
in the constant cell.

Please note the common reserved words below and keep in mind that they are case-sensitive!

null
Null value; the cell value of any empty cell is always the null

true
True

false
False

2.2.2 String Constant Cell
String Constant Cell is a cell whose cell string starts with single quote ', indicating it is a
constant cell with a string value. The cell value is a string composed of those characters after the
single quote. In this case, all characters following the single quote will be parsed as string, not
requiring any additional quotes, escape characters, etc.

- ‘abc\d String abc\d
- "1234.5 String 1234.5
- | Yalue
Cell value of string constant is abc\d ' abchd

! ahed J Yalue

3 12345 _[The value is string 1234.5 H 12345

3 1434.5 lThe value is number 1234.5 | Yalue

12345

2.2.3 Computational Cell
A computational cell is the cell whose cell string starts with =, and that is used for computing
an expression. Its cell value is the computed result of the expression, which can reference cell
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values of other cells =5*(3+2)

- =A1*3
- =A1/B2+B1

The text of the computational cell is in black by default.
3

Click

to execute the code and you will find that the background of the computational
cell turns to light yellow, indicating its cell value has been computed

Click the cell with cell value. In the value view section, the current cell value will be
displayed for you to view the computed result.

File Edit Program Tool Window Help

N P e e 1

1. Click here to compute -t:.l
A1 —[a4 M
=) R
P a1 N @
= Walue ||:
> Seloct the ce T ———————————— S h ..........
g Globalva 3 The result is
displayed here
| No Name | Value

In the expression, you can use various basic operators to compute cell value
at+b a-ba*b a/b
Add, subtract, multiply, and division operations.
- =3*4 12
- =1+2*3 7
a%b

Seek the remainder of a divided by b.

- =121%11 0, which indicates 121 is a multiple of 11, and is divisible by 11
- =100%7 2

a\b

Integer division, in which the integer part of a and b is kept. The integer part of the result will
be returned after division.

- =11\

2, cut off the decimal part of the result
- =6.1\2.9

3, equal to 6\2, the result is 3
S1tS;

Concatenate character string s; and s,. One thing to note, the string will be ignored if added
to a real number.
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=Ilstephenll+ll "+"R0|fe"

=IIAII+3
="A"+string(3)

String Stephen Rolfe
Integer 3, string "A" will be ignored
String A3. If you do need to concatenate the string and

real number, please convert the real number to string first.

2.2.4 Executable Cell

An Executable cell is the cell whose cell string starts with >, in which certain actions will be
executed. The executable cell has no cell value. If an executable cell starts with one of the

reserved words, like if, for, etc. then > can be omitted.
The code in an executable cell can be used to change the value of another cell.

>A1=5
>B1=A1+3

In the executable cell, you can use the cells as variables.

Because the cell itself has no

[ »

value, both Al and B2 are the

SB3=A243

Y

executable cells

Bath A2 and B3 are asSt
valugs. Thus, the cell has va

4

ed with

Y

e

2] N ) (0] [2

Yalue

||* Value -
5| :

2.2.5 Comment Cell

A comment cell is the cell whose cell string starts with /. Its cell value is null.
Comment cells will be ignored during execution.
The text of comment cells is in green by default.

B Comment cell

&
1 =a=4
a 3
3 =a+f 2

Iidefine wariahle a

idefire constant 5

icaleulate ats

2.2.6 Set the appearance of different types of cells
esProc provides the users with options to set the font styles and the foreground/background
color of different types of cells. Click the Tool -> Options. On the Appearance tab, you can view

and modify settings.
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Opton
(General r Environment IrAppearance oK
Row count | 2U|i| Column count | 6=
E—
Row height | 221 Column width 150
Forecolor of const | [ |M Backcolor of const Ii"zl
Forecolor of comments | [ |M Backcolor of comments Ii"zl
Forecolor of value exps | | ] |M Backcolor of value exps Ii"zl
Forecolor of none-value exps | ] |M Backcolor of none-value exps Iil
Font size |12 |v| ndent H
[] Bold [] ttalic [] Underline
Horizontal |Leﬂ | - | Vertical Top H

2.3 Variables and Parameters in the CellSet

2.3.1 Take Cell Values as Parameters
In the examples of 2.2.3 and 2.2.4, we can find that the cell value is used as variable. In
esProc, if there is a value in a cell, then the value of this cell can be referenced with the cell name
by the computational cell or executable cell. A cell with value can be a constant cell, a
computational cell, or a cell assigned with value by an executable cell.

Ea &
: Value [l
1 =3%q - 17 Il
“AL Reference cellset A1, the | .. ... . ... ... . | | v
computed result is 17 F|
! Mo | Mame | Value
4] Il 3

2.3.2 Define Cellset Parameters
You can define parameters in cellset files.
Click the Program -> Parameter to check the parameter settings of a cell:
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P

-

Program parameter @
[]Setarguments before run OK
Mo. Mame Walue Remark Cancel
1 |pi 3.14
2 |argl Hello
arg? [1.4,28] Add
Delete
Up
Down

In the Program Parameter window, you can set the parameters to be used in a cellset file. The
cell parameter name should not contain blanks or signs and should not use digits only. The
parameter value can be various types of constants, and be parsed automatically into the
corresponding data types according to the set value. Please note that the expression cannot be used
in the cellset parameters.

If you check the Set arguments before run option, then the Program Parameter window will
pop up before computing the cellset.

When using the cellset parameters, you can directly call them with parameter names:

WValue
& w 12.56
1 5 Value
2 [=argl+" world!” > Hello world!
3 =argd (~*~) Member
\ 1
16
4
G4

2.3.3 Cellset Variables

You can also use the named variables besides using cell names directly. These variables are
called Cellset Variables.
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D:¥iles\d™ A2 EFY @&

Value o~

Reference variable a

You are not required to declare these variables in the first place. They will be auto-generated
when assigning values to them, and are valid throughout the whole program cellset. But,
referencing variables with no value assigned will cause error.

Cellset variables belong to no data types, and you can change their values at will.

a?=x
This is the abbreviation for a=a?x. “?” is an operator. Besides using the expression a=x to

assign value to the variable a, we can use the abbreviated version a?=x to change the value of the
variable.

at+=5 5 is added to the variable a. The expression equals to a=a+5.

-a
a and —a are a pair of opposite number. Their only difference is the signs. Particularly, if the

data type of a is date/time, the symmetric datetime of a for January 1, 1970 will be used in
computing the opposite number.

(leXZa""Xk)
Compute expressions xi,Xp,...,Xk respectively and return the computed result of xy
=(a=1,b=a+4,b*b) Result is 25. Meanwhile, set the value of the cellset variable a as 1,

and b as 5.

2.3.4 Judgment and deletion of variables

In esProc, when you are done with the variables, then you can use rmv() function to remove
them.

ifv(v)
Judge if v is a variable.

rmv(vi,...)
Delete cell variable v; This variable cannot be referenced in the cellset once it is deleted.

1 =a=5 =a+3 - A R e e T T R R R A T ' 5
= 1" Global variable Diatasource
=
mrvla) *Delete cellset |/ = |
5 Cellsetvariable
ariable a

4 Mo Mame | Value

4l k :

2.4 Execution Order of the cellset
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The code in the program cellset is executed top-down and left-right.

D:files\dficalculate. dfi - o o X
A | B | C | D |
1
: /’__/
| —
a4
5
6
7
2

A computational cell can make reference to the computational cells before it, and the constant
cells after it. The constant cell value is valid even before you execute the cell. By comparison, the
computational cell must be executed to get valid.

Example:
& B C
1 =h3 =2+ =B3
a =Bl
3 3 =3

A2 is computed after B1. Therefore, it can make reference to the cell B1.

A3 is a constant cell. B3 is a computational cell whose cell value is the computed result of the
expression. Therefore, A1 cell can make reference to A3, but C1 cannot get the correct value of
cell B3;

The computed results of A1, A2, B1, and B3 are all 3, but C1 is null.

2.5 Cell Copy and Paste

Unlike EXCEL, the copy and paste operations on the cell will not perform the adjust-paste
for expression automatically.

= | = |

1. Use relative reference; select cellset A3

and press Ctrl+C

=52+5 —

2. Select cellset B3 and press Ctrl+V and the

expression isn’t changed

s s =1
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However, if using Ctrl+Alt+V to paste, the expression will undergo the adjust-paste like what
will happen in EXCEL.

ooa ]

20| =3+4
=245

.

1. Select cellset A3 and

press Ctrl+C

=

= | o

A [ﬂ 2. Select cellset B3 and press Ctrl+Alt+V, then A2 will

=A2+5 :=E.2+5

turn into B2 automatically

===

Like the EXCEL, esProc set it as a rule that the row/column number started with $ will never

get adjust-paste.

|=$P-,$2+5

$AS$2 is absolute reference, paste won’t change

the expression even using Ctrl+Alt+V

2.6 Insert and Delete like Text-editing

On the cell, press Ctrl+Enter, Ctrl+BackSpace, or Ctrl+Del will result in a similar effect of
carriage return, backspace or deleting the current cell. This is similar to pressing Enter, Backspace,
or Del keys in a text editor. Pressing Ctrl+Insert will insert a cell in this row.

1) Pressing Ctrl+Enter will cause a carriage return.

» Jupul o
1 2 |3

I

Carriage return
N ——

Press Ctrl+Enter 4

Select the cellset when it is in non-editing 4 3 = 5

2) Pressing Ctrl+BackSpace will cause a forward delete

A e ¢ |

1 1

2 3

Delete the cellset whose value is 4, then the
cellsets whose values are 5 and 6 respectively

Press CtrI+BackSp;Iﬁ
2 9

Select the cellset when it is in non- edltlng status
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Select the cellset in the first C The cellset whose value is 5 ]
shifts upward to the previous

column in non-editing status

> Y AT i SN €

Press Ctrl+BackSpace
3 é P 3 |7 2 o

3) Pressing Ctrl+Delete will delete the current cell. The following cells will move leftward to
fill the space.

1 1 2 3 N

+
4 & Press Ctrl+Delete
ul

Select the cellset when it is in non —editing status

Delete the current cellset and the cellset
on the right shifts left

4) Pressing Ctrl+Insert will insert a cell, and the following cells will move rightward to make
room for the newly inserted.

N s mfc|o
1 2 3
| Press Ctrl+Insert

Select the cellset when it is in non —editing status

Insert a blank cellset and the cellset
on the right in this line shifts right

5) When the copy area is a whole row/column, pressing Ctrl+B will automatically insert the
row/column first and then paste the content.

To select the whole
column, press Ctrl-C

To select the
whole
column,
press Ctrl-B

Insert a new column before
column B and the
expression doesn’t change

B
3 =42+5
o

If pressing Cltr+Alt+B, the expression will be adjust-pasted in a way similar to pressing
Ctrl+Alt+C.

2.7 Function and Function Options

2.7.1 Normal Functions
In an expression, various functions can be used. The basic format of function is f{(...), in
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which "..." represents the parameters of the function.

if(a,b,c)
Compute the formula a. If true, compute b and return the result. Otherwise, compute ¢ and
return the result. If both b and ¢ are omitted, then return true or false directly.

- =if(a>0,a,-a) Compute the absolute value of a.

IT(X10Y1,X2Y 2,000 XkCYKSY)

Compute the formula x;. If true, then compute y; and return the result, otherwise, proceed
with x,, and compute y, on true and return the result; ...... ; if all x; is false, then compute y and
return the result. It equals to if(X1,y1,if(X2,Y2;-..if(Xk,Yi,¥))). When using it, you can simply write

if(leyI!XZsst nes !kayk!y)'

- =if(a>1000:a*0.8,a>500:a*0.9;a) Compute the purchase value, 10% discount for 500
yuan and above purchase, and 20% discount for 1000 and above purchase.
A |
i a6 2 Value
I Others
2 =if (4 1==80, "Hearvyrweizht”, "Others") —
— — n - n — n 'IIJIIEILIE
=iff 1==80, "Hearyweight" &1==6%,
3 Lliddleweizht" & 1==58 "Lizhtweight ", "Flyareight ") > Lightweight

case(X,X1:Y1,X2:Y2, .« Xk Yk Y)

Compute the expression x. If the value is x;, then compute y; and return the result; if the
value is x,, then compute y, and return the result;......; if not equal to all the x;, then compute y and
return the result. It equals to if(x==X1:y1, X==X2:Y2,..., X==X:Yk;¥). When using, it can be simply
written to case(X,X1,Y1,X2,Y 25+« s Xks YioY)-

- =case(a%3,1,"one",2,"two","zero" Output the remainder of a divided by 3, for example,
the result is "two" if a is 995.

For all function parameters, the three separators from the greatest to the smallest priority are
colon :, comma ,, and semicolon ; in processing.

In addition, esProc also provides lots of object-oriented functions in the format of 0.f(...), in
which the o is the object that functions act on. In esProc, o can be the sequence, TSeq, RSeq, and
records. We will further discuss it later.

2.7.2 Function options
In esProc, many functions can use the function options. Because one function may be used
for many purposes, we need options to specify each of its uses. The basic format of function
options is f@o(...), and o is the option of function f().

- =interval@m("2011-7-1", "2011-8-1")

In this expression, @m is the option of interval() function. With this option, the month will be
taken as the unit to compute the timespan between these two dates.
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by B
1 |[Finterval{"2011-7-1""2011-2-1") =interval@m( "2011-7-1" "2011-2-1")
1 |
2 By default interval function takes day as the unit Using @m option, interval function takes month
to compute as the unit to compute
WValue Value
3l 1

Multiple options which are allowed together can be used simultaneously. There is no
restriction regarding the order of these options.

in(x,a:b)
Check if x is in the range [a,b]. In other words, check if a<=x<=b. Return true or false based
on the result. If a is omitted, then treat it as infinitely small; if b is omitted, then treat it as
infinitely great.

<> @b Return integer based on the result: on the number axis, return 0 if x is in the range,
return -1if it is on the left of the range, and return 1if on the right of the range.

< @1 The left side is the open interval and the evaluation expression is a<x<=b.

< @r The right side is the open interval and the evaluation expression is a<=x<b.

For the specific usage of various functions, please click Help>Function Reference to read
the related documents.

2.8 Read and Write data with File Object

2.8.1 File Objects in esProc
In esProc, you can use the file path to define the file object, and perform read/write actions
on the file through the operation on the file object.

file(fn: cs)

Open a file object with the file name of fn. fn is the file name to be loaded with an absolute
file path. The relative path is relative to the current path (if no current path, then it is relative to the
current system path). cs is a character set (omissible, and use OS defaults instead).

<> @s Specify the order in which the search will be carried out for the file name
through non-absolute path. If the current path exists, follow the order of searching the current
path first, and then the path list (the addressing path set on the Options menu of esProc).
Otherwise, search the class path and then the path list. The result returned is a read-only file
with name fn.

2.8.2 Use file object to store/retrieve string.
With the file object, you can retrieve or modify a file, like storing the string of esProc as file,
and retrieve the content in the file in the form of string.

f.exists()
Verify if the file exists.

f.size()
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Number of bytes of the file.

f.date()
Last modification time of the file.

movefile(fn, path)
Move the file fn to the specified path path. When path is omitted, the file will be deleted:;
when path has only the filename but hasn’t the path, file fn will be renamed.

X3

%

@c Copy file and leave the original one unmoved.
@y Overwrite any file with the same name on the destination path. If no @y is in
the expression, then cancel the move action.

X3

%

f.write(s)
Output the string s to the file object f. The s can also refer to the Blob data.

X3

%

@a Append.
@b Write into a binary file. The efficiency is much higher and it is not allowed to
be edited as text.

X3

%

L
" file( "D filesitxtitest txt") | IThe file is as follows after the string is written into thel
2 test test
5 =i 1 writel £2)

With @a option, you can append the data to the file.

&

i =f']]13|:"D:If']]ﬂs!'txﬂtest.txt"]l | IWith @a option, the string is appended to the file: l

a testd test

3 =1 writei@al A 2) test2

f.read()
Retrieve the file object f as string.
< @b Retrieve it as binary data.
<> @n Return the contents of the file object f as a string sequence, each member of
which corresponds a row.

<> @v Interpret the returned string sequence as the corresponding data type. The

combined use of this option and @n is acceptable

| & |
1| =i Difilsitatitest i) Value
2 f=alead) > test test2

3. Sequence

3.1 Concept of Sequence
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Sequence is the ordered set consisting of some data, and the constitutive data of a sequence
is Member by name. Sequence is equivalent to the array in the high level language. The
difference is that the members of a sequence do not have to be of the same type.

No. 1 2 3 4 5
1 true "abc" 1.1234 010-4-
Member| Floating
Integer Boolean Characte boint numbe Date type

Members of a sequence are ordered. You can locate a member according to its sequence
number. Please note that the sequence number of a sequence starts from 1.

3.2 Generate a Sequence

3.2.1 Constant sequence
Members enclosed in a [] form a constant sequence.

- [1,3,4]
- [a,b,c]
- [5,2011-3-14,54]

3.2.2 Use an Expression to Define a Sequence
Use an expression to define a sequence directly with the similar format is similar to the
constant sequence. You can reference the cell in the expression and use colon to represent a certain

area of cells. When getting the values of a certain area of cells, esProc will follow the rule of row
first.

=[1,A4,B1:B4,C1:C3]

Member
.1
5 | B C

[a,b,c]
1 1 2 3 ;
2 4 3 fi 5
3 7 g o I 3
4 [2b,2] [5,2011-3-14,5 [5,2011-03-14,54]
=[1,44,B1 B4, 3
SR (o ex .

3.2.3 Empty Sequence

A sequence without member is Empty Sequence by name, and you can use [] to define it
directly.

Member -
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3.3 Sequence and Members

3.3.1 Sequence and its Members
ifa(x)
Verify if x is a sequence.

Alen()
Number of members of sequence A, that is, the Sequence Length of A.

Empty Sequence and n-Sequence
An empty sequence is the sequence whose length is 0. An n-sequence is the sequence whose
length is n.

Unique Member Sequence and Pure Sequence

A sequence without duplicate member is called Unique Member Sequence; The Pure
Sequence is a sequence whose members are of the same data type.
A(i)

Get the i™ member of sequence A. Note: esProc uses A(i) instead of A[i] to get the sequence
member.

A(i)=x
Assign value to the i™ member, error will be reported if i is beyond the boundary.

L Because C2 assigns value to the 2" member of Member

1 [1 a 3] AL, Al gets changed after computing 1

a =41 len) =100 =A1N=0244 B !

3

| !
Value WValue
3 3

Ap(i)

If i>0, then return the sequence number of the i"™ member in the sequence A; if i<0, then the
sequence number of the i"™ member from the tail will be returned. I i is beyond the boundary, then
return 0 as the sequence number.

A | B C |
1 [ab,c.de]
2 =&1pi3) =41 pi-2) =£1p(10)
. ! !
Value Value Value
3 4 0

A.m(i)
If >0, return the i™ member of A; if i<0, return the i™ member by counting backwards; if i is
beyond the boundary, return null.
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A | B C
1 [ab,c,de]
2 =41 m(3) =£1 (-2}
: { {
Walue WValue i is beyond the
C c boundary, then return

3.3.2 Modify Sequence
A.insert(k,x)
In the sequence A, insert the new member before the k™ member. If x is a sequence, then
insert all members of sequence x as the new members; if x is not a sequence, insert a member X.

A.delete(k)
k is an integer indicating the k™ member of the sequence A will be deleted.

A.delete(p)
In the sequence A, remove all members from the sequence number sequence p.

A.modify(k,x)

From the kK™ member of the sequence A, modify the values of members of sequence A. If X is
a sequence, then modify their values to each member of sequence x in turn; If x is not a sequence,
then only modify the k™ member to x.

A | B | C | D | Member
1 [1,2.345] =Alinsertid,"&" =41 insert(Z["B","C") =4l 1
2 [1,2.3,45] =A2.delete([1]) — 0 B
C
3 [1,2.3.45 =b3delete([1,3,5]) =3
4 [1,2.3.45] =&dmodifsn2,"&" =& modifs(3,["B" =g.4|
Member A
1 4
2 A 5
3| | Member | |B
4 2| |C
5 4 5
In every function for modifying sequences, you can use the @n option:
R @n When it is executed, a new sequence will be returned and sequence A is kept

unchanged.
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Member L | el

1
1 [1,2.3,4.5] >

2 =81 insert@mnd," 4" 3
7 =81 inserti@n(2 "B, "C"]:I\.A
4 =41 delete@n([1])

5 _{-ildelete@nl[1,3,5])
7 7l modify@n2,"s")

| m
(N | e |t | R -

a (=1 rnchfyrEn 3, BT MLDE;
Member Member Member
: 41% 1 3
4 A : :
- (B 5
: C
: 5

3.4 Integer sequence

The sequence made up of integers is Integer Sequence or 1Seq for short.
3.4.1 Concept Relating to Integer Sequence
n Permutation

If the integer sequence is composed of all the n integers of 1,2,...,n (no matter the order), it is
the n permutation by name.

- The integer sequences of [1,4,3,2,5], [1,2,3,4,5] and [5,4,3,2,1] are all 5 permutation.

3.4.2 to Function
to(a,b)
Generate an Integer Sequence made up of all the integers from a to b (a,b inclusive). Both
a<b and a>b are acceptable.

<> @s b will indicate the number of integers in the result. The 1Seq (integer sequence) will
increase by 1 when b>0, and decrease by 1 when b<0.

- =to@s(10,3), the result is 1Seq [10,11,12]
- =to@s(10,-3), the result is 1Seq [10,9,8]

to(n)
The abbreviated version of to(1,n).
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" | B Membe ;

1 Etﬂ{4} I ==
2
2 3
3 |Foea | :

4 \

i liE Member
6 3
5 4
4 5

A.to(a,b)

It represents the sequence composed of members from the a™ to the b™ in the sequence A. It
is the short form of A(to(a, b)). If a is omitted, then the default value is 1; If b is omitted, then the
default value is A. len(), note that the comma cannot be omitted here.

A.to(a)
A sequence made up of the members from 1 to a in Sequence A. It is equivalent to A.to(1,
a).

L | Mhdember
1 =t 10} r :
- / 4
3 |=&1torze) N :
3 =A1 tals,) \ g 6
4 =£1 tof,4) ~ @
5 [2h.c.de] 10
6| =85 1008 3*'1““‘3'*‘1
Mehber 2
a = 3
b 4
c
d

3.5 Sub-sequence
A sequence consisting of the members of A is called the Sub-sequence of A.

3.5.1 Generate sub-sequence using functions

A(p)
[A(p(1)),A(p(2)),...], in which the position ISeq p is used to get the sub-sequence of A.

Ap(p)
[A.p(p(1)),A.p(p(2)),...] to get the corresponding actual positions of the position 1Seq p in the A.
Negative number is allowed in the p.

A.m(p)
A(A.p(p)), the position ISeq p is used to get the sub-sequence of A. The negative number is
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allowed to exist in p.

A.dup()
A(to(A.len())), which is equal to copy the A.

A.rvs()
A(to(A.len(),1)), that is, reverse the A.

A.step(m,k)
A([k,k+m,k+2*m,...]), that is, return the sub-sequence of A. The position 1Seq starts from k and
the step value is m.

L | E | Z | Member Use sequence
4 as serial
1 [ah,c,de] [1.2.3.3] [1.2.-2,5] b numbers to
—A1(B1} — - create the
=Hl.pl:':1:l Member

2

3 - .
11 fUuse

4 ~A1miCl) sequence to

5 =& 1 dup() get real serial

2
4 numbers, the
0

/
= result will be
fﬁ/ =hlrvs() 0ifbeyond |
L Member
Member Member

Use sequence to get 1Seq’s

a =} Reverse the .
sub-sequence, the result will
h d sequence and i
Copy the sequence be empty if beyond
create a new one
C and generate a new C boundary
d one h
e a \§ J

3.5.2 Options in A.p(p) and A.m(p)

In A.p(p) and A.m(p), you can use the option @r and @0. If using the option @r, on the
sequence number out of range in the 1Seq, perform the turn-around operation and retrieve them by
loop. When using the @0 option, the sequence number indicating the out-of-range will be ignored,
0 or the null value will not appear in the resulting sequence.

B | E | Member
§ | bl [1,2,-2] |

41 p@HEL ——

2
: 4
5 — 41 r@HEL) j Member
d
5 =m.m@nn:a1;.\ — 5
\ Member T~ "
a
2
4

3.5.3 Related Functions of Sub-Sequence
A(p)=X
Assign the members of sequence X as values to the sub-sequence A(p) of A in order, that is,
A(p(1))=X(1), A(p(2))=X(2),.... The length of sequence X is greater or equal to the length of
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sequence p.
A(p)=x

Assign a single value x to every member of A(p) which is a sub-sequence of A. That can be
represented like this: A(p(1))=x, A(p(2))=x,....

Member
0
Result after execution; A
[1.2.3:4.5.6] the code in A2 and A3 = 0
2 =L1([2480="4""B","C"] will changes Al g
3 =L1([1,3]=0 5
C

A.swap(p,q)
The p and g are both the consecutive 1Seq range with no intersection. Swap the members of A

at the positions specified by the two ranges and return the new sequence.

Member
D
A E
1 |rsBCDER F
2 |=&1swapitol1,2) to(46) c
A
B

The swap() function will not change the original sequence.

3.6 Sequence and String

With s.array() and A.string() functions, sequence and string can be transformed to each other
conveniently.

6) s.array(d)
Split the string s into sequences with the delimiter d; parse the data type automatically. The d
is comma by default.

7) Astring(d)
Concatenate the sequence A into a string with the delimiter d and process the data type
automatically; the d is comma by default.

A E |
Members in the sequence will adopt Member
1 a.,l,l:,zﬂl 1-8-1 l,f'alse suitable data types automatically
d
a =81 arrayi) 1
3 =42 stringl) c
Character-type members will use 2011-02-11
quotes when the sequence is
false

Yalue
"at1,7°c" 2011-08-11 false

8) s.regex(rs)
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Match the regular expression rs with string s, and return the sequence of matching result;
if the two don’t match up with each other, null will be returned.

< @i Not case-sensitive.
* @u Match by using unicode.

The simplest usage of regex function is to judge if a certain string matches with a specified
regular expression. Let’s first look at the situation where a digit string is involved:

& B o
1 ‘4 12 ‘546201 .05
2 =41 regex"([0-8])") =81 regex"(Nd)") =41 regea"([0-2])")
3 =Bl regex"([0-51[0-P1)") =Bl .regex("([0-7]+)") =Bl regen "([0-5]%)")
4 | =Clregex "([0-5*)%) =C1.regex "{d*)") =C1regen "(ld* W) ")

As s.regex(rs) is used to judge string s, the single quotes ' are added before every digit in the
first row to represent a string constant. In a regular expression, some signs can be used to match
with digits. For instance, the [0-9] in A2 represents a digit and can match with the string in Al. To
enclose the sign with a parenthesis can return the matching result:

Member

It can be seen that regex function returns a sequence of matching result. In B2, \d is also the
representation of a digit, but because the right slash \ represents escape character in strings, \d is
written as \\d. The matching result is the same as that in A2. In C2, [0-3] represents a digit
between 0 and 3. This doesn’t match with “4”, so the result is null.

In a regular expression, + or * is also used to represent multiple characters. For example,
[0-9]]0-9] in A3 represents two arbitrary digits, [0-9]+ in B3 represents one or more arbitrary
digits and [0-9]* in C3 represents zero or more arbitrary digits. As A3, B3 and C3 all match with
the string in B1, the returned result is:

Member

17

Both regular expressions in A4 and B4 represent zero or more arbitrary digits; the string in
C1 contains decimal point, so the matching result only uses the digit before the decimal point. The
result in A4 and B4 is as follows:
Member

AL
—ﬁ_u.

A

In the regular expression in C4, \\d*.\\d* represents a mode of multiple digits followed by a
decimal point which is again followed by multiple digits. The matching result is as follows:
Member

AL
—ﬁ_u..u

A
[}

By using regex function, common strings can also be matched with a specified regular
expression. For example:


file://d
file://d*./d*
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A B | C
1 X Tl & carn Stuart
3 | =Alregex'(laa])") =Alregex (P00 =Alregex@u{"(hu007E)")
3 =B regex"([a-2] {2})") =Bliegen"([-2]™)")  =Bl.regen@if"([a-z]{2}1)"
4 [ =Clregex"([Aadrrtu ]*)") =Clregea"(NE* W5%)") =C1reges"([A[Z] [a-z]* [A]3] [2-2]*)")

In A2, [a-z] represents a matching character between a and z; [*0-9] in B2 represents a
matching character that falls out of the range from 0 to 9, i.e. a non-digit character; in C2, the
value of unicode \u0078, that is, the x, is used to make a match. The matching result of A2, B2 and
C2 is as follows:
Member

X

In A3, {2} represents finding two matching characters that exist between a and z. Because of
the capital letter M which makes the string fall out of the range, the matching result is null.

In B3, * is used to represent zero or more characters between a and z. In this case, zero
matching character is allowed. So even the first character M doesn’t meet the criterion, the
matching result is empty instead of null:

Member

In C3, option @i is added, requiring two matching characters regardless of the case.
Matching result is as follows:
Member

hia

In A4, find matching strings composed of characters ASadmrtu and blanks. In B4, \S
represents one non-blank character, that is, a non-blank tab, line break, form feed, carriage return,
and the like; the whole regular expression represents a mode of multiple non-blank characters
followed by a blank which is again followed by multiple non-blank character. In C4, [A|S]
represents A or S, and the whole regular expression represents the mode of words starting with A
or S followed by a blank which is again followed by words starting with A or S. The matching
result in A4, B4 and C4 are the same as follows:

Miember
Adam Stuart

Through these illustrations, we have acquired some preliminary knowledge about using
regular expressions to make matches. In fact, regex function in esProc is used more to split strings
into sequences according to specified criterions. For example:

L B 5

1 InTan Ldarn Stuart | Adare Bob, Charlotte Doug
2 =41 regez@l"{ [a-z] ) [a-2] ) [a-2]3")

3 =B regexd "(V5*) (V5*)")

4 =1 regeai " [a-z]* )i [a-2] *1i [a-2] ). [2-2]*) ")

A2 splits the string in Al into a sequence consisting of letters. The splitting is not
case-sensitive. Result is as follows:
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Member

W
AL

a

X

A3 splits the string in B1 into two parts, consisting of consecutive non-blank characters and
separated by a blank. The result is as follows:

Miember
Adam

Stuart

A4 splits the string in C4 into four words with commas as the separator. The splitting is not
case-sensitive. The result is as follows:

Miember
Adam

Baob
Charlotte

Doug

It can be seen that, when strings are split into sequences using regex function, multiple
expressions enclosed in parenthesis are needed to match in order with members of the resulting
sequences. The expressions in A3 and A4 that can split a string into a sequence containing many
words are frequently used. Please note that if there is in the string a member that cannot match
with the regular expression, the result returned by the function will be null.

3.7 Basic Operations on Sequence

3.7.1 Binary Operation
AB
Concatenate: Concatenate the two sequences straightforwardly. Members of B are appended
behind members of A. If A or B or both A and B are single-value instead of sequences, then it will
be handled as a single member sequence.

A&B

Union: It will create a new sequence by putting members of B after members of A and
removing members of B that already exist in A. If one of A and B or both are single-value instead
of sequences, then it will be handled as a single member sequence.

A"B

Intersection: Intersection set of A and B. Get a sequence composed of members that not only
exist in A but also exist in B.

A\B

Complement: Members existing in A but not in B. If B is not a sequence, then treat it as the
single member sequence.
k*A

AJAJ...]JA, concatenate k sequences of A, i.e. copy A for k times. The positions of k and A can
be exchanged.
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ember Concatenate Member
4 a
members of
o b
Al and B1
1 _ — (),
21\ 1 [ab,1,23.4 |[db,10,12, \‘ 2
3 j 3
" 1Un|on =41[B1 Concatenate :
3 N=&l1£B1 Member
o b d

=411B1 d
Member 12 > 4 ':'
6 =2vs1 5

d //_ = Member
B - 7 =[1]*2 4

3
1 / 9 3
2 3 Member

1
4 Multiply the sequence by anj 1

4 integer. Al is copied twice 1
b 1
(%) |
2 1

3 1

4 1

3.7.2 Alignment Operation on Sequences
Two sequences which have the same length and are composed of numerical values can
perform the alignment computation on members, and return a new sequence.

A++B
[A()+B(1),A(2)+B(2),...]
A--B
[A(1)-B(1).A(2)-B(2),...]
A**B
[A(1)*B(1),A2)*B(2),...]
AllB
[A(1)/B(1),A(2)/B(2),...]
A%%B
[A(1)%B(1),A(2)%B(2),...], the % here is the Mod computation.



RAQSOFT
Innovation Makes Progress http://www.ragsoft.com

Member Member
5 < B -3
el b | 123 [4.1,2] ;
5  I—=A4l+BL 1

3 =41--Bl
Member Member
0.25 [ B! ]
50 5 |=A1%%El — 0
15 1

3.7.3 Sequence Comparison
The function emp(x,y) can be used to compare the result of expression x and y. The function
cmp(A,B) can be used to compare the sequence A and B.

cmp(x.y)
Compare the computed result of expression x with that of y and return 1 if x>y, return -1 if
x<y, or return O if x=y. Error will be reported if x and y are incomparable.

A | B Value
1 Zemp (“Alex”, "ﬁ-llen"l——l “Alex’<“Allen” r -
=cmp (0. 4%3, 11 —I 1251 l 5 Value

=cmp (214, 6] 1
F=emp (Mabe”, 151 F=emp (15, "a]:u: Value

I Error will be reported if compare a string with an integer ]

A | La | D

In esProc, the following expressions are used to represent the comparing relationship
between a and b:

a>b a is greater than b, i.e. cmp(a,b)>0

a<b aislessthan b, i.e. cmp(a,b)<0

a==b aand b are equal, i.e. cmp(a,b)==0. Two equal signs are used to differentiate
from the execution of value assigning

al=b aand b are not equal, i.e. cmp(a,b)!=0

a>=b a is greater than or equal to b, i.e. cmp(a,b)>=0

a<=b a is less than or equal to b, i.e. cmp(a,b)<=0

In the sequence A, if each member is not less than its previous member, i.e. A(i)>=A(i-1), or
each member is not greater than its previous one, i.e. A(i)<=A(i-1), then the sequence A can be
regarded as the Ordered Sequence in both cases. In which, the former sequence is referred to as
an Increasing Sequence.

cmp(A,B)

Compare the member values of two sequences in alignment, and return 1 or -1 when
encountering the first unequal member; if A is identical to B, then return 0. Specifically, cmp(A)
or cmp(A,0) will compare A with the sequence of the same length whose members are all 0, i.e.
cmp(A,[0,0,...,0]).
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Value

& | IEOuaI I’ 0

! =erpi["a’, 0" ], ["a, 0", e ] Value
2 =crap([1,3.3,7),[1,3,7.59) 5<7 P
3 =crap([7,6,5,4],[7,6,4,10,11]) = Value
I S ;

In order to differentiate from comparing normal values, the expression to compare two
sequences cannot be written in a shortened form.

3.7.4 Aggregate Operation
In esProc, functions can be used to perform various aggregate operations on sequence A that
contains n members.

A.count(x)

Compute the number of A’s members that make the result of expression x non-null and is not
false. When x is omitted, count up based on the members of A. This is different to A.len().
A.ifn()

Get the first non-null member of A.

A.sum(x)
Compute all members in A with expression x, and seek the summation of the results. If x is
omitted, seek the summation of members of A.

A.avg(x)
Compute all members in A with expression x, and seek the average value of the results. If x
is omitted, seek the average value of members of A, excluding null members.

A B | ¢ | o | & |
1 [null, 4,6, 2,4, 48]
2 =AT.count) =Al.count@bi~=3 =A1.0hQ =AT1.sumg =41 avg)
Walue Value Value WValue Walue
5 4 4 21 42
Number of Number of The first non-null Summate verage. Null values
non-null members that are re excluded in
greater than 3

A.min(x)
Compute all members of A with expression x seek the minimum value of the results. If x is
omitted, seek the minimum value of members of A.

A.max(x)
Compute all members of A with expression x seek the maximum value of the results. If x is
omitted, seek the maximum value of members of A.

A.variance()
Seek Variance. The null member will not be counted when computing variance.

A.ranki(y)
Seek the ranking of y’ value in the sequence. y is not required to be the value of members in
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the sequence.

¢ @z Sort in ascending order.
A.rank()
Seek each member’s ranking in the sequence.
¢ @z Sort in ascending order.
s | & | e | b | B ||Member

o] aa6,2,4.57 6
9 =41 rainf) =b1 ) | =h]varance() =A1 rankif4.5) =41 rank) f
| Rankings of |\ &

Value Value Yalue Value 5

2 6| [1.7599999 3 3

i]

2

I Min ” Max ” Variance IIThe Ranking 0f4.5|

A.conj()
Concatenate all members in the sequence A. If any member in A is not a sequence, then
process it as 1-sequence.

A.union()

Join all members in the sequence A. If any member in the A is not a sequence, then take it as
1-sequence and process (similar to the role of UNION operator in SQL, and no duplicate will
appear in the resulting sequence)

A.diff()
Perform the complementation operation on members in sequence A. If any member in A is
not a sequence, then process it as 1-sequence.

A.isect()
Compute the intersection sequence for all members in the sequence A. If any member of A is
not a sequence, then take it as 1-sequence and process.

Member A Member
| | mzasEassm 1
2 3 |=Alcon() 2
3 — : 3
3 — [ 3 |Thlwmmd 1

. =£1di
. 4 ) -
n 5 /}‘le Izect() =
5 Member
6 Meffber 1
3 3 2

A.merge(Xi,...)

Merge operation. A is a sequence of sub-sequences, and every sequence A(i) is ordered by the
[Xi,...]. Merge and combine all members of A, and the resulting sequence after the combination
shall be still in order for [x;,...]. If xjis omitted, members of A(i) shall be ordered, and we get a
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sequence with ordered members after the combination.

% @u Seek the union sequence when merging
o @i Seek the intersection sequence when merging
o @d Seek the subtraction sequence when merging
B | Member

1 (01,230, (3. [3,4).[3. 5,601 r

— &1 merze@al) Member
—L e @i0) \ ;
=41 merge@d() 3
Meme 4
1 5

6

La | B | L | B2

Member
2 3

s I 3 ) B S TS R S I T I % )

Note: the function merge requires all members of A are in order.

3.8 Cases of Sequence

3.8.1 Name L.ist Statistics
Take the winners of 100 m dash, 200 m dash and long jump events (top 8) in a sports game as
arguments (name list is fields of names separated with comma) to compute:

Athletes winning 2 or more medals.
Determine whether the winners of 100m dash get the same good results in the 200m dash.

e o

Program parameter @
[ ] Setarguments before run oK
Mol MName Value Remark Cancel

1 [100Meters (Bray,Jacob Michael John David,Jam...
2 [200Meters [Joshua Michael Ethan,Bray Joseph,J...
3 [longjump  |Michael Alexander Bray, Zachary, Bran... Add
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& Member
| =1000eters arras) Bray
- _~7 | Jacob
2 =2l sl o) Winners of both 100 m Michasl Member
3 =longjurmp arrayy) dash and 200 m dash — Bray
4 =102 " [Winners of both 100 m Michael
. | dash and long jump
3 Ll — — Member
= . INners or o m — "
4 2 dash and long jump > Michael
7 =550 S8 8A Bray
=p] b I==407 ] i T Member
g = “\ least two events [~ | Bray
If winners of 100 m dash get good result Jacob
in 200 m dash ~.| Value Michael
falze

3.8.2 Judge Scoring (1)

The scoring in a gymnastics competition. Compute the average scores after removing the

highest and the lowest scores.

3.8.3 Judge Scoring (2)

4 Blc|p|E|F|o|u]|1]
e 0125 (92 9.4 (55 (22 53 |90
2 =[&1:1] ﬁ Sequence of scores
5 | oA swn)-A2 i) Value
b2 e A2 Ten()-2,2) (e
e (VTR R —— e ) :
4 a2

For different levels of judges, weighted index varies. Compute the weighted average.

g [Ble|ole|Floufr]
1 9 9185 |98 |94 95 EE |93 |90
2 0g 05 |10 0951 |0&30% |095050
4 =[] ASequence of weighted index Value
i =round({4 3% A4 avald 2} 8.39

4. Code Block and Program Flow Control

4.1 Code Block

In the program cellset, a certain area of indented cells is called as Code Block. The starting
cell is the Master Cell of the code block.
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A B | ¢ | D | E |

1

The green area, in which cells 2 =Code E'Egj-n

are all blank, is called as Code| 3

Block

0C L 4

5 Iot Bl

As shown in the above, if the green area is blank, the 2™ to the 4" row is the code block of
B2, the master cell; if any cell of A5 and B5 in the red area contains code, constant and even note,
or is used for computing and executing the code, the 5™ row is no longer the code block of B2.

The master cell of code block is usually the Statement Cell, that is, the cell string is the
statement code starting with a reserved word.

Unlike JAVA and other high level languages, esProc uses the straightforward format of code
block to specify the working range of statements, instead of symbols like {} or reserved words
(BEGIN/END) to enclose the working range.

4.2 if/else Statement
The branch statement if/else has the following formats:

if X ... else ... in the same line

If condition x is true, then execute the statement after it. Otherwise execute the statement
after else. The else part can be omitted. else and if must be in the same row. After execution, the
value of the cell in which if is located is the computed result of x.

ﬂ—I.E' Value QD
1 12 21 false
2 =fifALl=Bl =A3=A1 elss =43=B1
Output the bigger number between Value
Aland B1 > 21

if X ... else ... in the code block
If x is true, then execute the code block of if; otherwise, execute the code block of else. You
can certainly ignore the else part. else and if must be in the same column.

Multiple blocks of if x ... else if y ...
The statement can be written continuously like this. else if must be written in the same cell.
Stress again that there is no corresponding end if statement. esProc uses the range of the code

& B
1 InitPrice Cantity
2 &7.00 15
3 3920 2
'l"'lla l Le Master cell of the code - :
4 cofthecode |y Lir BI+RA=20 |={ A2*B2+AI*B3*(1-0.15) :
true block of if; if value is true, i
. £ =BE=round(B4.2)
Master cell of the code block off—— T —— |
S&lse =(AZ*BI+AFE3(1-01)
. | e
Value Output the total 7 3=“E|8=1'D1m.dJ:Bﬁ,2:I
amount of discounted
1124.80 oo purchases o
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block to determine where the if statement ends.

A B |
1 i 2
2 (= if &1==E0 Heavyweight level when weight is equal to and greater than 80kg
3 =B10="Heawyweight"
g (= else if & 1==63 Middleweight level when weight is between 68kg and 80kg
5 =E10="Tiddleweight"
§ (=) else i’ B]1==58 Lightweight level when weight is between 58kg and 68kg
7 =B10="Lightweisht"
g (= else Flyweight level when weight is less than 58kg
! ~B10="Flyweight vlt is lightweight level according
10 Weight Class —_ltothe weightin Al J Ligﬁ:Lue?ght

The following logical connectors can be used in the judgment statements:

a&&b
For the “aand b, the result is true only on condition that both a and b are true.

allb
For the “a or b”, the result is true only on condition that either a or b is true.

la
For the “not a”, the result is true only on condition that a is false.

4.3 for Loop and next/break Statement

Loop statement for will repeatedly execute the code cells with itself as the master cell in the
following formats:

for
Endless loop, and the cell value is the current loop counts one by one.

forn
Cycle for n times, and the cell value is the current loop counts one by one.

for A
Cycle members of sequence A, and the cell value is the current members of A respectively.

for x
Cycle when x is true, and the cell value is the computed value of x.

In the loop body:

#C
The current cyclic counter, and C is the master cell of the loop body, that is, the cell where for
is located.

next
Skip the remaining code of the innermost loop body, and enter directly to the next loop.
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next C
Enter the next cycle of which the loop body takes C as the master cell.

break

Jump out of the current innermost loop body, and execute the codes in the cells following the
code block.

break C
Jump out the loop body, which takes C as its master cell.

Sum up 1 to 100:

E | i | Walue

0 Final result output by A1 is 5050 r-’) B050

5 :j o JLoop continuously until program control system intervenes I
=h1=A14HE00 Exit loop when the number of loops
reaches 100
4 = f#LI==100 hreak
B Final result
output by A1 | Walue

1] is 5050 5050
2 (o) for 100 Set the number of loops as 100
3 ET=ETTHLE]

Count the number of students whose scores are higher than 90:

R S T
1 [0, 92 87 76,04 T2 95 27 25 00 A0 TE 22120 0.4 Value
3 :}I for &1 ﬁLoop sequence Al; cell values will be members of Al in order I
4 if 53<90 rezd

Count the number of students whose
5 =hA=A04] scores are higher than 90
- Compute the number at which the summation is over 10,000 during summing up
from1ton:
A s

1 1aaoa

2 (=) for A1=0 4Loop continuously if the result of A1>0 is true
3 =A1=h]-#A2 (Final result Value

=#n7 output by B4
[ is 141 L

4.4 func C, arg/func/return/end Statement

func
Define the subroutine, of which the code is a code block with func as its master cell. The

parameters used for calling the subroutine will be copied in the cell where func is located and that
on the right.
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return x

Return the result x from the subroutine and terminate the running of subroutine, return null if
no return value.

func(C, x;,...)

With the parameter x;,..., you can invoke subroutine starting from cell pC, and return the
result to fill in this cell, or be written in the function mode func(C, x;,...). When calling subroutine,
multiple parameters will be filled in the cells from left to right in order.

During the cellset is running, the code block of subroutine will only be executed when the
subroutine is called:

B B | Member
= Parameters will be 1
Lzl fune copied to A1 when A5
7 return i1 SUI[‘L{:I is calling the Al 5
= 3
3 = fune 'Sub routine in A3 is not invoked.
The code block with A3 as the 4
4 return EE-EWE'::' master cell will not be executed 3
S o El’[1’5’3’4’2’3]7 Invoke the sub routine Value 3
in Al to sum up 18

The return value does not necessarily exist for the subroutine. If no return command in the
code block of subroutine, then the statement in the code block will be executed in order when
calling.

" B | C | 1 Member
i [23,113 56,23 1 After running, the member in Al \ 113
! o will be sorted descendingly - 5
2 (=fune
_ The sub routine will not 23
3 _EII:EEI:U:I return any value. In Al sequence, 373
4 =4 1CAAC1 =410 A 20 20| | the two members located by the
parameters are exchanged. 7
5 =48 1(A2(2=B3 ;
§ (=) for &1 len(}-1
7 = for &1 len()-L6
g = i AUBT=A1BTHD fune &2 [BT.B7+1]

There is no local variable available in esProc. All variables can be called in the range of the
cellset. Therefore no real recursion program can be developed by principle. However, esProc does
not forbid the recursive call actively.

& B C D E
1 = fime When calling a sub
d i &1=0 returm -1 routine recursively with

lae if Al as the master cell, you

3 Rk retumm A5 need the A5 to store the
4 else = 5= g5t 1 fane B 81 ety 45 \computation result.
3 ! Value
f :;1 fune 81,8 - —ICompute the factorial of 8 H 40320

4 5fork
> fork A;,...
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It means executing the code block of this cell in multithreads. A;,... represents sequence
parameters. The length of sequence of each parameter should be equal. The single value
parameters will be regarded and used as sequences that have identical members. The current state
of cellset will be duplicated to every thread to be executed respectively. Parameters will be split
into many and each will be set into a thread. The result in the code block returned by result will be
combined into a sequence and then returned to the main thread.
Different from the common for loop, each loop in the fork loop is independent and won’t
affect others, which is similar to multithreads’ call of the subroutine. For example:

& B C
1 —fifork [2,4.68],2,[5,5.1]
2 FaI1=A100 =h1=41 swap([1],[2])
3 i &1(=A103) =h1=41 swap(d, 5]
4 FAL=A100 =h1=4k1 swapl[1],[2])
5 0=y result &1

The instruction in Al is the computations of three threads that use 2,2,5; 4,2,3; 6,2,1
respectively as their parameters. In the code block, sequences are sorted in ascending order and
returned. The result of Al is as follows:

hember
[2.2.3]

[2.34]
[1.2.6]

4.6 Execution of Cellset Program and Debug

esProc provides the common program and control debug functionalities, such as breakpoint
setup, and single step execution. All functionalities can be accessed from the Program menu and
the tool bar:

Run

Run the whole cellset program.

[2*]
Run and Debug

Start debug and run to the next breakpoint.

. (23
Single-step

Run to the next cell which contains an expression

Run to cursor

Run to the cell where the cursor is located
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il
Pause

Pause the current execution, and you can click the Run button to resume.

. [F|
Terminate

Terminate the current execution, and you can restart the computation from the very beginning
by clicking the Run button.

)

Set/Clear breakpoint

Set or cancel the break point at the cell where the cursor is located.
The func statement can be executed in a single step.

4.7 Cases of Judgment/Loop Function

4.7.1 Prime Factoring
Take the natural numbers as input parameters. Factor it and write to a certain sequence.

e o

Program parameter @

Set arguments before run oK

Mo. Mame Walue Remark Cancel

1 |argl 44568

Add

Delete
Up

Dowin
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& E ' = ' Member

Al stores the result of prime

1 1] =argl factorization

2 A2 stores the minimal prime factor

o) for 42*42<B1

2 CRISAE=T
=hl=h1|A2 Add the prime factor to the sequence of 51
~BLom(BLIA2

=h1=A1[B1 Ide the last prime factor to the sequence of |

5. RSeq and TSeq

2
2
2
3
3
9

Lo I IC S T = O L T (R OU () IS ) ¥

5.1 Table Sequence and Record

esProc inherits the data table concept of relational database, and defines it as Table Sequence
or TSeq for short. Consistent with the concept of relational database, in esProc, every Table
Sequence also has its own Data Structure, which consists of several Fields. Members of a table
sequence are also called as Records.

The key differences between a table sequence and a relational database table are as follows:

Atable sequence is itself a sequence. Therefore, its members have a certain order and
that is why we call it "table sequence”.

The field of table sequence is of no data type. The data types of the values of the same
field from different records are allowed to be different. If a certain field of all records has
the same data type, the field can be called a pure field of the table sequence.

You are not required to name fields of the table sequence, and you can access them with
their sequence numbers.

Essentially different from the relational database table, records of a table sequence can be
retrieved as the data objects for reference, and the table sequence can be regarded as the
sequence consisting of records. You can access its members just as dealing with the normal

sequences.
- T(1) the first record of table sequence T.
- T(to(3)) the sequence consisting of the first 3 records of table sequence T.

But, in order to guarantee the consistency of data structure, you are not allowed to assign
values to members of a table sequence in the same way of assigning value to a normal sequence.

- T(1)=x error, forbid to execute

Each record in the TSeq will store the reference to the TSeq and share the data structure of

this TSeq with each other.
TSeq member modification requires specific functions to be introduced. For details, please

refer to the 6.3 Modify Data.

5.2 Record Sequence
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A sequence consisting of records from a table sequence is called a Record Sequence or
RSeq for short (such as the above mentioned T(to(3))). As a sequence, the members of a record
sequence can be assigned values with the above mentioned method.

The members of a record sequence are not required from a same table sequence. The
record sequence whose members are from a same table sequence is called as Pure Record
Sequence.

Though both record sequence and table sequence are sequences consisting of records in
appearance, they are different virtually:

The table sequence stores the values of records virtually. Every record must belong to and
only belong to one table sequence. Records will not exist without a table sequence.

The record sequence stores the references to the records rather than the actual values.
Therefore, a same record can belong to multiple record sequences or show up in a same
record sequence repeatedly.

The record sequence is a concept introduced for the convenience of explanation. There is no
specific computation for record sequence in esProc, and a record sequence will not be validated,
that is to say, you can assign a value not from any record to a member of the record sequence.

5.3 Create TSeq

5.3.1 Retrieve and Write TSeq from File
When retrieving and writing the TSeq, you can use many types of common file formats, such
as the TXT file, the XML file and CSV file, etc.

f.import(Fi:type;,...;s,b:e)

From the file f, retrieve the TSeq and return. With default parameters, import function will
use line break character (\n) to separate the rows, and Tab (\t) to separate the columns in the file.
Each row corresponds to one record, and each column corresponds to one field. Define the data
scope for retrieval with b:e, that is, from the p" byte to the et byte. Define the fields for retrieval
with F;, and you can set the date type of the field as type;. Without the parameter F;_, all fields of
A will be retrieved. Define the column separator with s. When type is omitted, data type of the first
row will be the first choice.

By default, import() will return the TSeq with no field name. You can get the TSeq with field
name with options:

@t Take the first row of the file as the field name of the Tseq to be returned.
@b Retrieve TSeq from exported binary file. In this case option @t is invalid and
parameters type, s will be ignored.

e @z Retrieve data from file by block. In this case, b and e are respectively the
block number and total blocks.

*@s Without splitting fields, retrieve the single-field string to form a TSeq. In this

case, the parameters will be omitted.

f.write(A)
Write the string sequence A to the file f. Each member of A will occupy a row in the file.

@ @a Append.
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Stateld  Mame Population ShortMame ArEa Capital
1 Alabama 4779736 AL 32419 Ilontgomery
2 Alaska 710231 A GA3267  Junean
3 Arizona 6392017 AR 113998 Phoenix
4 Arkansas 2915918 AR 52597 Little Rock
5 Califormda 37253956 CA 163700 macrarnento
1| 2| 3| 4| 5| _s
4 Statelq Mame| Populi Shorth Area | Capita
1 | =file("Dufilesitxtistates] txt") 1|Alabal47797]AL  [52419|Montg
2 |=Alimport]) > 2 |Alask{71023{AK  [66326]Junes
3 |=Al import@it() 3 | Arizon|63920{AZ 11399 Phoer|
—— ;\ —— 4 |Arkan{29159{ AR [52897|Little
die dme|FopAl.. art..| Area dapl... .
1|AMabals 779 1AL [52419|Montg __5_5@3_‘?53 CA 16370} Sacra
Aaski71023AK 663261 Junea Plotusig @t option, Teq deta structure

Arizon|G, 392 0 AZ 113994 Phoer

2

3

4 | Arkani2, 9154 AR 52897| Little F Using @t option, the first row of the file

5| Califoi37 253 CA 163701 Sacra object will be the field names in TSeq dat

Similar to the retrieval of TSeq, esProc can export the TSeq to a specified file.

f.export(A, x:F,...;s)

It computes the expression x as fields F,.... based on A and write them to the file f. Without
parameter X,..., it will write out all fields of A. But still, the file format is that rows are delimited
with Enter and columns delimited with Tab. The f.export() function will export txt file by default. s
is the column delimiter, and the default delimiter is Tab.

< ot Write the field name of first record to the file as the title.
<> @a Append. Its omission means overwriting the original file. This option cannot
co-exist with option @t.
<> @b Export as binary compressed file, which is a more efficient way for exporting.
This option cannot co-exist with option @t and @a.
“* @hg When exporting as the binary file, adopt the rule of dividing blocks by
group.

The export() function is a little different to the import() function. The export() function can
only be used to process those fields which can be converted to strings. The field values which
cannot be converted to strings, such as record and RSeq, will be ignored.

5.3.2 Create TSegs Directly
The blank table sequence is the one with data structure definition but without records. You
can use the following functions to create a blank TSeq directly.
create(F;,...)
Create a blank table sequence with fields of F;....

T.create()
Create a blank table sequence with the same data structure of table sequence T.
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A |
1 =filei "D ifilesitxtiztates] tat ") roport @t
a =581 createl)
3 =createlStateld Marne Population) \
| Create a new Tseq by
Create a new TSeq with copying another’s data
directly specified field names

Stateld|Name| Fopulation

Stateld|Name| F'upulatinn| ShnrtName| Area |Capita|

T.record(A,k)

Fill every fields of the TSeq with members of sequence A in order to form records. When k is

default or k ==0, append new records to all records of TSeq; If k!=0, then modify the data in T
from the record at the specified position.

X @i If k!=0, then insert (not modify) new data before the specified record.

The create() function together with the record() function can organize the constants in the
cellset into a TSeq for future use.

& | B c
1 =create(Stateld Marwe Population) record( talé))
2 1 A laharna ATTT 364
2 2 Alaska 710231
Fill the 3

blank TSeq
with
sequences

AriTona B392017

=create(Stateld Marwe Population) record( [&2:C4])

\ Organize

constants in the

) Stateld Mame |[Population
cellsetinto a
Mame FPopulatig Tseq for future 1| Alabama 4779736
1 2 3 2| Alaszka 710221
4 5 G 3 | Arizona 6392017

5.3.3 Retrieve TSegs from Databases

Because a TSeq has the similar structure to that of a data table in the database, you can use
the data from the database to form a TSeqg.

L

1 =derno.query "select * from LIQUTORS")

LID MNAME l TPE PRODUCTION STOCK |~
1| 42Below Vodki Vodka Mew Zealand anm | =
2 | Absolut Vodka | Vodka Sweden a5
3 [Appleton Estat{ Rum Jamaica 202
4 [Bacardi Superi| Rum Puerto Rico 741 )
ElDOailmue lrick 0 i ardialie lemlmm A A3 A -

For details on TSeq retrieval from the database, please refer to the Section 8.2.1 Retrieve
TSeq with SQL.
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5.4 How to View TSeq or RSeq

Click the cell where a TSeq is located. You can check the value of the TSeq in the Data View
section: (In this case, this is the TSeq in cell A1)

A |
1 =dermo.guery "select * from STATES")

STATEID | MNAME F'DF'MTIDN ABBR | AREA | CAPITAL |REGIONID || |
1 [Alabama 4779736 | AL 52419 | Montgomer i (=
2 |Alaska T10231 | AK GE3267 | Juneau 4
3| Arizona G302017 | AL 113998 | Phoenix a
4 |Arnkansas 2915918 | AR 52897 |Little Rock 71
EliTalifarmina 2FAEIAEE | TN AEITOANO | S acramnnt 0

Right click on the field in which records are selected to view the TSeq. You can also set the
display format of this field in the TSeq.

STATEID | MAME |POPULATIONABBR| AREA CAPITAL |REGIONIC| =]
1| Alabama 4 ) = e itgomery 6| =
2 |Alaska 1= Copy eal 4
3 |Arizona 63 Edit column format |20 8
4 [Arkansas 24 7 e Rock 7l
Elimalifornin ‘:l?".il:‘jl'll:l:tln‘“ﬂ. | 4R‘3?|‘||‘||Dnﬁrnmnn+n 0 e

Set the display format in the popup Edit Format window:

Edit format
Format |##### | oK
Type Mumber #0.00 |
Cancel
Currency #.00
Date HH
Time #0.000
Date time #.000 T
Fractions # ##0.00
Scientific notation # #.00
FH Hp, —
# #8000 =

Once you set the format, the TSeq will be displayed in the set display format:

STATEID | MAME |POPULATION|ABBER | AREA | CAPITAL |REGIOMID| =
1 [Alabama 4779736 AL 52419 [ Montgomer 6| =
2 |Alaska 710,231 [ AK GE3Z267 [Juneau g
3 | Arizona 6,392,017 |AZ 113898 | Phoenix g
4 |Arnkansas 2,915 918 |AR 52897 | Little Rock 7l
Eliralifarmia 2F IED OEE TN AEIFA0 | S arramant 0 e

Viewing RSeqs is similar to viewing TSeqs. However, in an RSeq, the data structure of each
record is not always the same. When rendered, the records will be displayed according to the data
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structure of the first record. For the records of various data structures, only values of the fields
with the same name will be displayed. When viewing an RSeq, you are not allowed to set the
display formats of fields.

STATEID| MNAME |(POPULATION| ABBR| AREA CAPITAL |REGIONMID

1 |Alabama 47T7AT736 | AL 52419 | Montgome i
2 |Alaska T10231 | AK BE3267 | Juneau 4
3 | Arizona G392017 |AZ 113998 | Phoenix ]

32 |Mew York 8084316
5 |Los Angel 3798981
13 | Chicago 2886251

5.5 Access Records and TSeqs

5.5.1 Access Records
(i)
A TSeq or an RSeq is the sequence composed of records which you can directly access by
position.

A | 8| ¢ |
1 Black Heart Eam Fuam  |Mew Sealand
2 Borbay Sapphire Fin England
3 Canadian Chib Sherry Cask Whisky | Canada
4 Canterbury Crear Corcials Mew Zea]ml Access the 2™ record l
5 ;ﬁﬁfﬁ?ﬁ;ﬁ?ﬂl cap liquor Type Production
- _A5() / Bombay Sapp Gin England

5.5.2 Record Field Access and Assignment
Like most structured programming language, the "." operator is adopted for field access.

r.F
Return the value of record r's field F.

r.F=x
Assign x to the record r's field F.

You can also access the field with its sequence number. Obviously, fields without a name can
only be accessed with this method:

r.i#i
Return the value of the i field of record r.

r.#i=x
Assign x to the i" field of record .

r. field(i,x)
Assign the i field of the record r with the value x.

r.fno(F),T.fno(F)
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It is the sequence number of field F in the record r or TSeq T. If F is omitted, then return the
number of TSeq fields.

r.field(i)
It is the value of the i field in the record r.

& EIC| MAME | SURMAME |STATE|GEMNDER]
=demn.query "select EID, 4 | Kaitlyn| Smith . Texas | Female
1 NHME’SURNAME’ rGet the 4th record. NAME field
sTATE,GENDEE. from and GENDER field in the
EI".I'IPI_DYEE":I records are modified by the code
7 =B 1(4) |_~{inA6:A8
\
3 =LA NAME (A3~A5 aim to get NAME Value
C field in A2. Here the obtained Emil
4 =ha#2 is the original value :
5 =42 field(2) \
6 =02 WA NME="Faitlyn"
i =02 #2="Faitlym"
8 =42 fleld(s, "Fermale")
Q =H2-fm':GENDER-:' The sequence number of Value
10 — &1 fuo{GENDER) | GENDER field = 5
T.fname(i)

It is the name of the ith field in TSeq T and returned as a string.

r.fname(i)
It is the name of the ith field in record r and returned as a string.

i | Member
i =dermo.quersy "select * EID
fromm EWPLOVEE" Value MAME
2 |=Alid /'E'D SURNAME
3 =41 frame(1) Value GEMNDER
4 =47 fharee(2) IAME STATE
5 | =il frame) =IRTHDAY
HIREDATE
DEPT
SALARY

5.5.3 Judgment of Record/TSeq
ifr(x)
Judge if x is the record and return true/false.
ift(x)
Judge if x is TSeq, and return true/false.

ifr(A1) Judge if the result in Al is record.
ift(A3) Check if the result in A3 is TSeq.
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5.6 Loop

5.6.1 Expression Convention in the Sequence Loop
Members of a sequence can be referenced in the loop function parameters and the rules are
defined as given below:

Current sequence member, also called as Base Member.

#
Current member’s sequence number.
- A.sum(~*~) Compute the sum of squares of the members in A.
- A.max(if(#%2==0,~,0)) Find out the max value of members in the even positions.
Alll, ~i]

Relative reference. Return the member whose sequence number differs by i from that of the
current, looped member. The i could be a negative number.

- A. (~~[-1]) Compute the sequence composed of the differences of each
member subtracting the previous member in A.

5.6.2 Loop Function of Sequences
The function to perform certain computations on every member of a sequence is called Loop
Function, of which the usual form is A.f(x). In fact, converge operation of sequences can also be
implemented with the loop function. For example, the summation function A.sum() introduced in
3.7.4 Converge Computation. The computational behavior of the loop function is determined by
the function name, such as sum indicating sum up, and avg indicating average.

A.sum(x)
With each member of A, compute the expression x and sum up the results.

A.avg(x)
With each member of A, compute the expression x and the average of the results.
A Value
1 [4.7,9.3.2.1,56,7.8 nullyll 45 56,7895 Multiply 2 and summate [~ 658
2 |mhlsmmd (o momame) | Value
B 5L el —faverege = 1175
~—

Return the relevant sequence:

A.(X)
Return the sequence after computing x for every member in the A.

Integer Loop:

n.f(x)
The abbreviated form of to(n).f(x).
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Value
b | 55
-
: —Looe Member
2 = A sequence consisting 1
of the first 5 odd 3
numbers
5
7
4

5.6.3 Expression Convention in the RSeq Loop Computation
F
It represents referencing field F in an expression. All records in the RSeq must have this field
when this field is referenced in the expression.

r.F,~F AF

In the expression, reference fields of the specified records and fields of base members, or
fields of specified RSeq.

The following deserves special attention: If there is any variable in memory whose name is
the same as the field name, please do not use the abbreviation of this field in the loop function.
You must use the full name like ~.F or A.F. The F alone in coding will be interpreted as the
variable of the same name.

The loop function also provides the reference scheme for the neighboring members:
Alil, ~i]

Reference the member which is i records away from the current member in the expression.
The i could be negative value, and return null if the referenced member is out of range.

A{a:b}, ~{a:b}

The expression is to reference an RSeq composed of records from the a™ to the b™ record
after the current record. a or b can be negative value. A default a will start from the first record in
A; a default b will end at the last record.

F[i]

This is equal to A[i].F, that is, referencing the field F of record i records away from the

current record.

F{..}
This is equal to A(...).(F). This expression is to build a sequence composed of records of F
field after getting records from A.
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A | 8 | © |[Name [0BP[SLG
1 Fran Johnson 0.411 0.520 Ryan Joh|0.411 [0.529
a Tacoh Ivloore 0370 0.529 Jacob Mao| 0.37 |0.529
3 Iulatthew Toknson 035 0 ,-1.::/ Matthew J0.354 [0.464
Use cellset constant to create a .
4 CI'II'.i.StEIphEI’HEIIlEIldBZ [/ Christoph 0.24 | 0.37
5 =create{Mame, OBP,SLG) record{[A 1 .04
Member
& =55 (ronnd{(OBP+A S 50G .30 004
7 =55 .{mundJ{DBP-Paj [1] _QBPE}} Reference the fields of records \\ 0899
2 =55 (round{OBP-OBF[1]1.30 0818
0 =A5(AST1 OBEN 071
10 =£5(0BPI1:20 IReference the next record l
T~ Member Member
IReference the next two records I [U a7 . 0.5 0041
[0.354,0.3 0.016
[0.34] 0.014
0 034
A field(i)

To RSeq A, return a sequence which is composed of the i field of all records.

A field(i,x)

Typically, the computational result of expression x is a sequence. Assign the values of the

sequence members to the i field of each record in th

e RSeq A one by one.

b Member
{ | =derao.cqueryt “select * from STUDENTS™ | EMIlY
. Elizabeth
2 | flexBen Cathy, Danny, B Frank Gaby] |- o ID[ NAME |GENDER]AGE
3 =41 field(2) 1falex |F 17
=1 eld(2,42) N I Y R 15
e
i ’ Michael &n
5 =51 John 3 |Cathy | M 17
T———— . 4 [Danny [ F 15
The function in A4 has Micholas :
modified the NAME field 5|Eric |M 16
of student of the TSeq & IFrank | M 13
7 1Gaby | M 16
5.6.4 The run function
A.run(x)
Cycle the function to compute the x, but still return A.
Member
A 2
1 [1,2,3,4] ~=x means assign value to the 4
current member by loop. Note
2 =41 .BJIL(~=~*2:I that the sequence in A1 will also a]
be modified after execution. 3

The run function can be used for records to simplify the coding when referencing the field for

multiple times.
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r.run(x)
For record r, compute x and return r.

r.run(amount=price*quantity) Equal to

r.(x)

For record r, compute x and return x.

r.(price*quantity) Equal to r.price *r.quantity.

r.amount =r.price *r.quantity.

In most cases, run() function is used to assign values to the records of a record sequence
although you can still use it to handle a normal sequence. When the run() function is used for
record assignment, esProc provides a much clearer way of coding:

Arrun( xi:Fj,...)

Assign value x; to the field F;. This is equivalent to A.run(F=x;,...).

A.run(age+1:age) Equivalent to A.run(age=age+1).

The run function in this format can also be used to assign values to multiple fields
simultaneously. You can use it by simply putting it in proper order:

A.run(age+1:age, age-entryage:schoolage)

8 | Price=Original Off)

Crriginal- Off Price)

The code in A6 equals to that in B6.
the deduction and the discounted price after 15% discount.

Use run() function to compute

5.6.5 Iteration

A | B
{ | 42-Inch 1080p LCD TV - Black 111099
TV |[Original| Off Price
2 [ 30-Inch 1080p Plasma HDTV 109995 | aoaeci1110.99] 166,65 94234
3 [#Inch 1030p Plasma HDTV 79225 |50-Inch [1099.95( 164.99 |934.96
4 51-Inch 1020p &600Hz 30 Plasma HDTW 1209 99 42-nch | 79995 | 119,99 | 579.95
5 :[ﬁégi]T}EDﬂgﬁnaLOfﬂPﬁm)-remrd / 51-Inch [1299.99| 195.0 [1104.99
=5 rnf Off=round{Origimal*0.15,2),  =AS5 mn{round(Origimal*0.15,2):01f,

The loop function can be used iteratively, that is, use loop function again in the computation

expression.

Ay.Fi(Az. (X))

In the loop computation, the symbol in the x will be explained preferentially as belonging to

A,

10.(#.sum(~*~)) A sequence of the accumulated quadratic sum from 1 to 10.

In the nested loop function, the ~ and # will be interpreted as the current member and the
sequence number of the inner sequence. In referencing the outer sequence, the sequence name

must be added, like A.~ and A.#.

A.max(B.count(A.~==~))

Max occurrence of members of A showing up in B.
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A le] ¢ |p]
1 Hicholas Johnson 47 % Light 48
2 Tacob Williars 55 8 Bartarmweight |54
3 Ilichae] Harris 56.1|Featherweight |57
4 Tyler Anderson 6E
5 =createlMarne, Weight) record([A1:B4]) In the expression of A7, if the Weight is not clearly
6| Gl et Comt) eond(1 B L
=LA Connt=»2 5 count{ Weight<=548. at various classes. The computation of A6 is as follows:
! Weight £& (Weight=AA[-1] Weight)h)

Class Weight | Count
Light flyweight 48 1
Bantamweight hd 0
Featherweight a7 2

5.6.6 Summary Loop

Used to perform calling in the summary loop statement, then return the result of computing
expression x last time.

A.loop(x;a)

A summary loop, meaning executing loop on members in sequence A, and the results of
computing expression x will form a sequence. In the expression x, you can use ~~ to reference the
previous result of the expression. The initial value of ~~ is a. loop() function can handle loop
computations, such as accumulation and summarizing.

If ~~ is used to make a reference, the previous computed result of expression x will be
returned. This differs from the case of relative reference. ~[-1] will return the previous member in
the sequence A.

Member Member
1 A | 1
4 Compute the sum\ 1 [1.3.5.6.44] 4
of each member Compute the
8 plus its previous = =41 -':“'+“' [' 1]:' accumulation 9
member of result of each
" sequence Al. 3 =41 lnopi~+-~ ) member of 13
10 sequence Al 149
i] 21
A.loops(x;a)
Compute A.loop(x;a). Return the last computed result of expression x.
" | Member
.1

1 [1.3.5,6.42]

lCompute the continued product ] 3
= Fme? =
2 Al ']'DDPIZ ’1} result of sequence one by one ' ’ 15

3 =41 loops(~*an1}
Compute the 90
continued product Value 360
of sequence
T20 720

You can use A.loops(x;a) to compute the final result of summary loops.
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5.7 Basic Operations on RSeqs

5.7.1 Locate Function
Position functions can be used to locate the specified members or members meeting certain
conditions in a sequence or an RSeq. The locate function usually has the following two common
options:

X @a Return the position sequence of all members meeting the conditions.
Otherwise, only return the position of the first member.
< @z Locate from back to front.
A.pos(X)

Return the sequence number of member X in sequence A, in which x is not a sequence; when
X is not found, return null.

X3

%

@b Members of A are ordered. Binary search is used for locating desired members.

@s Members of A are ordered. With the binary search, the position of x will be
returned if x is a member of A; otherwise, return the opposite number of the sequence number at
which position the x can be inserted orderly.

X3

%

<> @n If x is not found, return A.len()+1 instead of null, it is mutually exclusive with @a
option.
b | Value
-
. - o . 4
1| csice, Etizabeth, Helon Brviliy, Seliza] Fosition o Emiy |
in Seq Al
2 [ahappyday] = q
3 =41 pos{"Eruliy ") If "Henry" cannot be found
4 =El.st("Herﬂ3r"]I in Al, return the null
5 =41 posidng "Henry") —[(Use @n option, and | Value
— return the length of 6
6 |=A2posiflai®a’) ~_|Sed AL +Lf not found
7 =[1,3,5,7.9] posi@s(a) p \
\ Use @a option to find
6 isn’t in the Seq, and it can be inserted between 5 and 7 in all the positions of "a" N
order. As the Seq number is 4, the result is counted as -4 in the Seq A2 \ IvIBTHIRET
\ \. J . 1
Vilue 3
4 B}

A.pmin(x)
Return the sequence number of the member in A which can produce a min value for
expression X.

- A.pmin(UnitPrice*Quantities) The sequence number of the item of the lowest total price.

A.pmax(x)
Return the sequence number in A which can produce a max value for expression x.

- A.pmax@a(Win*3+Draw)  To compute the sequence numbers of all football teams with
the highest points in the league football match.

A.pselect(x)
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Return the sequence number of the first member meeting the condition x in A. When x is set

by default, return a sequence composed of the sequence numbers of all members of A.

@b Members of A are ordered for the expression x. Use binary search to locate the
sequence numbers of members in A which meets the condition x==0, and then return the
sequence number.

@s Members of A are ordered for the expression x. With the binary search, if none
of the members in A can make the expression x generate a result of 0, then return the opposite
number of the sequence number of the position at which the number meeting the condition can
be inserted.

@n If no member in A meets the condition x, return A.len()+1. The @a option and
it are mutually exclusive.

A.pselect( ~>5)
[1,2,3,4,5].pselect@bs(cmp(~,3.5)) The result is -4. With @bs option, the negative value
will be returned if all members in the sequence cannot meet the condition of the expression.

A.pselect(Xy:Yi,...)

Return the sequence number of the first member in A that meets the condition x==yx...

@b All members of A are sorted in ascending/descending order based on
expression xy. Locate needed members with binary search.
@s All members of A are in descending/ascending order based on expression Xy.

With binary search, if no members meeting the condition are found, then return the opposite
number of the sequence number of the position at which the member meeting the condition can
be inserted.

@n If no member in A meets the condition, return A.len()+1. The @a option and it
are mutually exclusive.

- A.pselect( Gender:"M",left(Name):"C") Locate the sequence number of the first male
employee whose initial is C.



RAQSOFT
Innovation Makes Progress http://www.ragsoft.com

STATEID] MAME [POPULATION AREA || =
b 1| Alabama 4779736 | 52419 || =
=dero query "select STATEID, 2 | Alaska 710231 663267
1 HAME POPULATION, AREA > 3 | Arizona 6392017 (112092
frorn STATES")
: 4 | Armnkansa 2915918 | 52897
5 [Coloradn, Idaho, Texas, Ohin] —
5| Californig 37253956 163700 |
3 =A2'PDS( Texas :I Fli™nlnradn En20208 Mnddos ||
4 =41 proag POPTULATION) WValue
5 =1 prrdn{POPULﬁTIDNIHREA 3 | |Serial number of Texas in A2
& =41 -PSEl&CtﬂEﬂ(NHME1:'=="C":' Value Serial number of state with the highest
=41 peelecti@alleft( N ATIE 1):" 3 | [poputation
! C" POPTILATION= 5000000 tre) Val
= Serial number of state with the lowest
Member Serial numbers of all states 2 | [povutation density

B |fwhose name starts with C
i Yalue - -
nd population exceeds 5 | [Serial number of the first state whose
million. 5 | Jname starts with C

When using the above position functions, you can specify the starting position for searching:
A. f(x,k)
Search from the k™ member; and you need to write it as A.f(,k) if x is set by default.

- A.pos(1,5) Locate the position of 1, starting from the 5" member.

Also, you can return positions of multiple members at the same time using function pos()
with parameters of sequence.
A.pos(X)

In it, x is a sequence. Return the 1Seq p to make A(p)==x. In searching, for each member of x,
only locate the first position.

<> @i Return the unique member increasing 1Seq p to make A(p)==Xx.
< @b Ais ordered. Use binary search to locate members.
<> @c Find their first positions in which members of x appear in A in proper order.
Member
& | 1
3
1 [3’2’1’9’6’9’1’2’8] Only the first position will be —
2 =H1.pDSI{[3 1.1 1]:, =1 returned for each member 3
3 =41 posiE@if[3,1,1,1]) In AL, the third 1 cannot be 3
51 @1{[2 19 1]} ound. Thus, the result is null. Member
4 = Jposl 2L, \ W
5 =41 -PDS@'::I([L;:&:Q]:' With option @i, the result is the 2
With opton @c, members of Alwill be single increasing ISeq 3
1,9,6,9 starting from the third position \ 4
Viiue !
3

In particular, the member x can also be located in A if x is a sequence. In this case, A is
usually a sequence of another sequence.

% Apos@p(x) Return the position of sequence member p in A.
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L | Member

b | e o bl b e [2.c2]

a

b .
2 [0 Use @p option to find Value [ab.c]
5 =81 pos@pl b ) the position of entire i 3 b
4 |=h1posia) Seq ;
hember
Disable @p option, and find the 2 a
position of each member in Seq 4
\; j

A.in(B)
All members of sequence A are held in the sequence B, that is, B.posi@p(A)!=null.

Let's discuss some combined functions below. They will search the desired position
according to a certain condition, and then perform computing in the specified sequence according
to this position.

A. lookup(Ai:Xi,...)
Find the first k that satisfies the condition, making the k™ member of the sequence A,... equal
to X;,.... respectively. Return the k™ member of the sequence A.

<> @a Return the sub-sequence of A according to all positions satisfying the
condition.

A. sumif(Ai:Xi,...)
Find all ks that satisfy the condition, making the k™ member of the sequence A,... equal to
Xi,. ... respectively. Return the sum of values of the members in these positions of the sequence A.

A. countif(Ai:X;s...)
Find all ks that satisfy the condition, making the k™ member of the sequence A,... equal to
Xi,... respectively. Count the members of the sequence A in these positions and return the result.

A. avgif(Ai:X;,...)

Find all ks that satisfy the condition, making the k™ member of the sequence A,... equal to
Xi,.... respectively. Return the average of values of the members in these positions of the sequence
A

A. minif(Ai:xi,...)

Find all ks that satisfy the condition, making the k™ member of the sequence A,... equal to
Xi,. ... respectively. Return the minimum value of the members in these positions of the sequence
A.

A. maxif(Ai:xi,...)

Find all ks that satisfy the condition, making the k™ member of the sequence A,... equal to
Xi,... respectively. Return the maximum value of the members in these positions of the sequence
A.

These combined functions are usually used when data are stored in the cellsets directly. The
desired data can be searched on the specified conditions. For example:



-,

X3

¢

X3

¢

RAQSOFT
Innovation Makes Progress http://www.ragsoft.com

& B c D

Mew ¥ork 20284314 NY
Loz Bngeles | 379201 Ch
Chicago 2BEA251 IL

Houston 2009234 TX
Philadelphia |14592231 P
Fhoenix 1371940 L7
San Diegn 12359532 Ci

—_—

MO G | =0 | O [ | e | D B e
R e T =T L. T o B % ) By |

Diallas 1211467 |TX
San Antomio 1194222 |TX
w10 Detroit 025051 i
dember | 11 |SALAID =BLEI]  =[C1:C10]  =[D1D10]
LDSA”QE'ES‘& =B].1]J:Il:lk1lp|:.;ﬁh115:| Yalue
SanDiego | 13 [=Blllookup@a(D11:"C4") "Philadelphia
— 14 |=B11lookup(D11:"CA"BIL(eft(~ 10" [ Value
441552 ~=C11 swaiffD11:"TX") an Diego

Value 16 | =C11cowntiff D1 "TX" \ Value

14718410 1 =C1Lagfi DT ™ 3
Value 12 =C11 pniraffi D11 TE™ Value
2009834 -=Cll.ma:dﬂD11:"TX"}\)> 1194222

The data in the cellsets are about the top 10 cities ranked by population in the USA. A12 is to

find the name of the city ranked the 5; A13 is to find the names of all the cities in California State;

Al4 is to find the city whose initial is S and located in California State; A15 is to compute the

total urban population of Texas State; A16 is to compute the total cities of Texas State; A17~A19

is to compute the average, minimum, and maximum urban population of Texas State.

In this case, the sequence for computation is directly built with cellsets. When using the
sequence, you can compute it through TSeq.

5.7.2 Pickout Function
Pickout functions can be used to select out a member or record at the specified location or
meeting certain conditions from a sequence or an RSeq. The pickout functions usually have the
following four common options:

@1 Return the first member meeting specific conditions. Please note that the @1 is
integer 1 instead of character |. In fact, there is no such character option as I in esProc.
@a Return a sequence composed of all members meeting conditions.
@z Locate from back to front.
A.minp(x)

Return the member of A resulting in the min value for expression x. The default option of the
function is @1. If requiring the function to return all members meeting the conditions, then you
can use @a option.

A.minp(UnitPrice*Quantities) The goods with the lowest total price.
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A.maxp(X)

Return the member of A resulting in the max value for expression x. The default option of
this function is @1. To return all members meeting the conditions, you may use @a option.

A.maxp@a(Win*3+Draw )  Compute all football teams with the highest points in the league
football match.

A.select(x)

Return the sequence consisting of members satisfying the condition x in the A. Return all
members of A when x is omitted.

X @b Binary search is used to locate desired members, the filtering condition is
x==0, and the A must be ordered for x.

- A.select( ~>5) Select all the members greater than 5 in the sequence A.

Unlike pselect, the select function will return all members satisfying the conditions by
default. By comparison, the pselect will only return the first match. A.select(x) can be defined as

A(A.pselect@a(x)). The @1 option can be used if the first member meeting the conditions is to
returned only.

ID] TEAM |(W[D|L|F[A
& 1|Red Devils[23 [11| 4 7837
=derno.queryt "select * fiom h h the high
= . The team with the highest 1
I |SOCCERSTAT") poinis 'E' - TdE"!‘M 1';“ S 1'; 5'; :;
eas
2 =& 1 g W3+ All the teams with the highest
=51 min @EJ:D:I = Of matches ended in draw 13| Potters 13| 7 |18/46/48
— 17| Wolves 11| 7 (2014656
4 =&1 select(F-L=30) ~ -
All teams with a goal In TEAM WIDILIF|A
difference over 30 -
~|1|Red Devils 23 11| 4 7837
2 |Pensioners{21 | 8 | 9 |69[33
5.7.3 Sorting

A.psort(x)

Sort the members in A to arrange the results of expression x in ascending order, and return a
sequence composed of sequence number of every member in A. If x is omitted, then sort the
members in A and return the sequence of sequence numbers.

A.psort(x;:d;,...)

Sort members of A in the order of the results of expression x;, and return a sequence
composed of the sequence number of each member of A. For processing, the d; is the direction of
each time of sorting, 1 or omission represents the ascending, -1 represents the descending, and 0
represents the original order.

<> @i Return A.psort(...).inv(). For details on Inverse ISeq, please refer to the Section
5.8.2 Inverse 1Seq and Inverse Sequence.
A.sort(x)

Sort the members in A and then return the sequence, so as to arrange the results of expression
X in ascending order. If x is omitted, then you sort the members in A.
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A.sort(x:d;,...)
Sort the members in A by the results of expression x; and then return the sequence. During

sorting, d; is the direction for sorting at each expression, 1 or omission represents ascending, -1
represents the descending, and O represents the original order.

LIDNAMBETYPE|PROD...| ST... ||~
L 1 | 42Be|Vodki New Ze{ 301 ||=
| poenn queryl"select * from 2| Abso| Vodk{Sweder] 95
LIQUORS") 3| Apple R J icd 202
! g Rum|.Jamaics
3 |=h1 psort(PRODUCTION op
4 |Baca|Rum|Puerto H 741 |__

3 =41 sort{PRODTICTION) Sort by place of pTI P FRTEPE B |

production, and return B ————

4 =41 peort{TYPE:-1, he serial number Member || «|
FRODTUICTION) < 13I=
=41 sont(TYPE-1, Sort by place of |

5 PROD}JCTIDN} production and return 15

Sort by type in descending order. | o by type in dt:scending order, 47

sort by place of production, and {14 gort by place of production 49

return the serial number —

7 \ gz ™
LIDNAMETYPEPRODU..IST... | - Member |~ LIDMAME|TYPE|PROD..|ST...|| =
13 | Jim B Whis| America |241 |[ =] 13|12 [13 [Jim B{Whis{ Americd 241 || =
15 | Four | Whis| America |521 15 15 | Four RWhish Americd 521
49 | Sevel Whis| America (207 49 47 |Blue { Lique| Americd 233
A7 [Jack | Whis| America | 92 ||__| 57| |49 |Sever WhisK America207 ||_|
iz AT A YA F | b =k | - 20 - s 1 Le CLAA MG =l N s i s L | -

A.sort(...;loc)
Sort with the specified local language, and loc is the language name.
A.sort(;"zh") Sort A in Chinese. Besides the language name, the loc can be used to

indicate the region, for example, "en", "zh_TW", and "en_GB".

A.ptop(X...;n)

Sort the members in A, and return a sequence of sequence numbers of n members that result
in the smallest results of expression x.
A.top(x...;n)

Sort the members in A, and return n members that result in the smallest results of expression
X.
A.topx(X...;n)

Sort the members in A, and return the n smallest results of expression Xx.
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" | Member
i =dermo.guery "select * =
frorn LIQTIORS") Serialno.of thed [ &2
2 =H1.ptDp{STOCK;3:I 1 ines with the lowest B0
|inventory level
=A1 topl3TOCE;
3 opl A S————— [ mE | TTPE [PRODUCTION SIOCK
4 =41 topaSTOCK 3) ith the lowest (5 | Bitters Ligqueur| Spain 14
i tory level
5 =P11_tDpI:-SITDCK;3]I Itn s \:2 Feter H Ligueur| Demnmarlk 18
Records of the 3 wines with the highest Inventory level of the $0 | V. 5 0.| Brandy | France 20
inventory level 3 wines with the least
ﬁ inventory Member
LI0  1TAME PE [PRODUCTION STOCK
4 | Bacardi 5 Bum Puerto Ri| 741 12
15 | Four Rose Whisloy| America 521 16
03 | Chivas Rd Whisky| England | 487 20

5.7.4 Ranking
In the sequences, you can use A.ranki(y) and A.rank() functions of converge computation to
compute the rankings. Similar computations can also be performed in the RSegs.

A.rank(x)
For each member in the RSeq A, compute the ranking of the expression x, that is, A.(x).rank().

@z Sort in ascending order.

- Memb;a'; é
=detno.cueryt "select * frorm |

1 LIQUORS") Ranking by place of 1

production —>

a =] rank(PRODTCTION) — descendingly 16
8]
2™

5.8 Other Operations on RSeq

5.8.1 Locating Computation
The locating computation function can be used to compute the expression on the specified
members of a sequence and return the result. Although it is required to compute on the sequence,
you can still use it to accomplish the computation based on an RSeq.

A.calc(k,x)
At the k™ record of the RSeq A, compute the expression x and return the result.

A.calc(p,x)
For the RSeq A, compute the expression x on every record whose sequence number is in the
ISeq p, and return a sequence which is composed of the results of the expression.
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EID NAME SURNAME || =
1 |Rebecca Moore 1=
2 |Ashley Wilson
3 |Rachel Johnson
4 |Emily | Smith | Value
o A o *|_| Emily Smith
A Full name of the / EEE
|| et query select EID,NEME,"SURNEM Hemployos Emily Smith
frorn EMPLOYEE where EID=20") J 7 Hember
3 | =&l caleid HAME+" "+SURNAME) Full name of the -
=1 calofhl peelect{NAME=="Enily"), _— et Emly Ashiey Wilson
I | HAME+" 4SURNAME) Emily Smith
4 |=Alcale([2,4,5.8) NAME+" usumama/ Ashley Smith
Megan Wilson

5.8.2 Inverse I1Seq and Inverse Sequence
Suppose that there is an 1Seq p’ with a length of k and an initial value of 0. Perform loop on
the 1Seq p, and assign value to p’. If the member at the i position in p is p(i), then the member in
p’ at the p(i)™ position get assigned as i. The resulting p’ is the Inverse 1Seq of p.
In the sequence A, take the inverse 1Seq p’ that is as long as the 1Seq p as the position I1Seq.
The resulting sub-sequence of A is called the inverse sequence of A regarding p.

p.inv(k)
Return the inverse 1Seq of p with a length of k. If omitting k, then return an inverse 1Seq that
is as long as p.

A.inv(p)

Return the inverse sequence of A regarding p. Please note that if I1Seq p is an n permutation,
then p and p.inv() are inverse 1Seqs of each other, and p.inv(p) will obtain [1,2,3....,n].

Member
A 3
1 [2.3.1,5.4] 1
3 |=Al i) nd 2
3 |=Alisial) 5
4
Member
1
2
3
4
5
5.9 Application of RSeqs

In a sports game, the scores of female all-around gymnastics scores are stored in the database
table GYMNASTICSWOMEN:
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] MNAME COUNTRY| VAULT |UNEVENBARS |BALAMCEBEAM|FLOOR || ~|
1| Ana Ailva BRA 14175 14175 14.175| 1435 | =
2 |Anna Pawvlar RUS 15.275 14.525 15.975| 15.05
3 | Ariella Kask sul 16.35 14.275 14.425 | 13.95
4 |Barbara Keesling |SUI 14.525 14.125 15.075 14.3
5 | Becky Down GBR 16.025 15.625 147 141
filBeth Twaddla GBR 144 15 R7H 14 8 151 |

esProc will be used to collect the statistics on scores below.

5.9.1 Score Statistics 1
Sort the scores of athletes by nationality and vault scores respectively:
ID | NAME |COU...|[VAULT| UNE... | BALA._[FLOOR] =
A | 14 |Dicks [AUS [H4.075[14.875| 14.85 [14.475 =
=derno.guery "select * from
1 GYMN ASTICSWOMEN") 118 Euler |AUS [144251527514.525 14.275
5 =41 sort{COUNTRY) 20 | Gaelle| BEL 14012875 13113975

" A1 sort(VAULT-1) 1|Ana Al BRA  [1417514.175(14.175 | 14.35
AR | Diinman | DDA A2 R A NTEI AE NE |14 T9FE

\ ID | NAME |COU_|VAULT|UME...| BALA . |FLOOR)

‘#@‘1 Hong {PRK [15.525| 13.5| 1425 |13.675
3| AriellalSUl | 1535 14.27514.425 | 13.95
2|Anna ARUS [15.27514.52515.975 | 15.05
5|Becky |GBR. [15.025[15.625| 14.7| 141

e | Ol anl D AE OTE 44 O 44 OF 44 4

L] o |[4]

5.9.2 Score Statistics 2
List of athletes who are ranked in Top 10 in both the vault and the uneven bars events:

& |

=derno.guery "select * from
1 GYIMASTICSWONEN")
5 =1 sort(VATTLT -1} ARank by vault scores |

ARank by uneven bar scores | Wember

3 |=A1son{UNEVENBARS:-1) Becky Down
4 |=sattort1myrasie o) =fmemnoele | iGheiisie Memmel
5 =44 z0rt(ID) (HMAME) Elyse Hopf

5.9.3 Score Statistics 3
Compute the total scores for each athlete to generate a ranking list of total scores, and the

ranking list of total scores of athletes from USA and China:
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&

=derno.querst "select * from
GYLIMNASTICSWORLEN")

+UHNEVENBARS+ BALANCEBELR

+FLOOR-1 ) (HATVE)

Member

Chellsie Memmel

L] e

Ferrari

Anna Pavlor

Bigaorre

Dt Taaen dAdln

Member

=41 {roumd{VAULT+HINEVENBARS+

4 | BALANCEBEAW+FLOOR 2% _
- i Ranking list of

3 P;ll:ﬁz.psljﬂl: 1) total scores

4 |=L3(HMAME) _—

5 =43 gelecti LOUN TRY=="1UaA"
[COUNTRY=="CHN").{H A ME) The ranking st of
=1 select{COUNTREY=="T54" athletes of China and
COUNTRY=="CHN" ) sart{ VAULT USA. The results in

f A5 and A6 are the

same.

Chellsie Memmel

Bigaorre

Zhau Zhuaru

Pang Panpan

6. Table Sequence Maintenance and Modification

6.1 Computed Fields

You can add a computed field to a TSeq or an RSeq, and return a new TSeq.

A.derive(x;:Fi,...

)

Add field F;... to RSeq A with the value of x;.... in which x is an expression related to A, and
return a new TSeq. You can use the fields of A in this expression, and get null value if omitting the
fields. If F is omitted, an unnamed field will be added.

A. derive(UnitPrice*Quantity:Amount) Add the “Amount” field to TSeq A and return the newly

created TSeq

&

1 =derno.querst "select * fror RECEIPT™)

=41 dermvel round{ THITPRICE®
2 QUANTITY, 2):Total)

6.2 Record Reference

6.2.1 Record Reference
The fields of records in a TSeq are of no data type, which means that you can assign any
value to them. If assigning another record to it, then you can conveniently implement the foreign

key references.

The derive() functions will not change the
riginal TSeq. A new TSeq will be returned.

\
MAME [UNITPRICE

UMNIT QUANTITY Total
Apple 1.69 LB 12 203
Banana 069 |LB 323 223
Cucur 077 |[EACH 3.0 23
Cinion 099 LB 133 132
Crange 499 | BAG 1.0 4499
Red Grape 099 LB 287 284

Suppose A is a Department table, and B is a Staff table, if you perform the following code:

A.run(Manager=B.select@1(ID:A.Manager))
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The field Manager of the table sequence A will become the records of the table sequence B.

At this point, you can use:

A.select(Manager.Gender:"Female")

Get the department whose manager is Female.

This is to avoid the multiple table associations that frequently occur in SQL. The coding will
thus be much clearer and the computation will be much faster.

&

=demo.query “select CID HNAME,

i POPULATION STATEID as STATE CID MAME POPULATION STATE|| =~
from CITIES") 1 [Mew York 2084316 | 32 =
=derno.quety "select STATEID MAWE,

2 ABBR.CAFITAL from STATES™ 2 Ln§.ﬁngeles 3798981 |5

: =ET rm(o T & TE=52 selectin] 3 | Chicago 2886251113
(STATEID==5TATE) 4 |Houston 2009834143 ||

Set value of STATE field in — -”nﬁﬁ;l.' - =
cities information as the IDoubIe click to view the value of STATE field. The value is a
VA
STATEID| MNAME .ﬂ.EﬁEI R| CAPITAL
13 [inois  |IL Springfield

6.2.2 RSeq Reference

You can also assign an RSeq to the field since there is no restriction on the field values.
Suppose there is a Department table D and an Employee table E, run the following program:

D.derive(E.select(DeptNumber:D.Serial Number):Employee)

You can add an Employee field in D, whose value is a record sequence consisting of the
records from the Employee table, to create a new TSeq.

D.select@1(Dept:"Sales").Employee.avg(Age)

Then, you can compute the average age of employees in Sales department.

STATEID NAME | ABBR [CAPITALl CITIES | =
=deruo.queryl "select CID MAME, 1| Alabami AL Montgor| (90,104} =]
1 [FOPULATION,STATEID as 2 |AMlaska |AK  [Juneau|[74] |
STATE from CITIES") : :
et query{“select STATEID, 3 | Arizona |AZ Phoenix| [6,27 39
9 |HAMEALBBR CAPITAL from 4 | Arkansa AR Litle Rotl |||
STATES") & lolifocnica | IEEFPFE (b4
5 =i] .ruIU{S'I;ETE=$2.SE].ECt@1 Double click to view the Cities field value that is an RSqu
(STATEID==STATE}) 7z
4 =2 primary| ABBER) CID | MNAME |POPULATION| STATE |[=|
=E2 QerTvel 1 Selecl ST B TE A, & | Phoenix 1371960 | AZ =
C)CITIES) 27 | Tucson 503151 | AZ
39 |Mesa 426841 |AZ
81| Glendale 246531 .57 |
= e = w

he State field is still the record reference, but the display differs to the
bove example. The record will display the value of its primary key.

Similar to record reference, join operation in SQL can also be avoided for record sequence
reference, so as to write clearly and compute quickly. The difference is that record reference
usually refers to referencing primary table records in subtable, while on the contrary, record
sequence reference usually refers to referencing subtable records in the primary table.
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6.3 Modify Data

6.3.1 Insert/Delete Records
T.insert(k,xi:Fi,...)
Insert a record before the k™ record in a table sequence, and assign value x to field F. If k is 0,
then the record will be inserted at the end of the TSeq; omitting F means assigning value one after
another; that both x and F are omitted represents inserting an empty record.

- T.insert(0,"David":Name,28:Age,"M":Gender)
- T.insert(2,"Julia","F",25)

T.delete(k)
Delete the k™ record in the TSeq T.
T.delete(p)
Delete records of TSeq T whose sequence numbers are in 1Seq p.
T.delete(A)
Delete the records of RSeq A from TSeq T.
- T.delete(3) Delete the 3" record.
- T.delete(to(2,4)) Delete the records from the 2™ to the 4™.

In the following example, in order to check the result of insert/delete operation, you can click

(2] ) . . .
the button continuously to use the stepwise execution of the debug function, and check the

execution result of each cell one by one:

ID| MAME |GEMDERAGE
1|Emily |F 17
A 5| William | M 20
1 =derno query "select * fror STUDENTS") 3 | Elizabetl F 16
5 ;%E}Sﬁ{?ﬁﬁ%%ﬁﬂhm"ﬂmm& 3(Sean  [M 17
3 |~A2imsert(0,111, Tessica”, "F", 18] 4|Lauren |F 1
5| Michael |M 16
4 =43 delete(])
{ 6 |John M 13
~hd delete(to(3, ) | 7 | Nicholas|m 16
1ID| NAME |SENDERAGE
ID | MAME [GEMDERA&GH | 1|Emily |F 17
25 [William [M 20| [25 | William | M 20
2 |Elizabetl F 16| | 2 |Elizabeti F 16
ID| NAME |GEMNDERAGH | 3|Sean |M 17 3| Sean I 17
25 | William | M 20 4 |Lauren |F 15 4 |Lauren |F 15
2 |Elizabetl F 16 5 | Michael | M 16| | 5 |Michael |M 16
& |John M 13 G|John |M 13| | 6|John M 13
7 | Michalaz M 16 7 |Michalag M 16 7 |Micholag M 16
111Jessica|F 18| 111 JessicalF 18| [111Jessica |F 13

For TSeqgs, you have to use insert and delete functions to insert and delete its members. This
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is different with common sequences because the latter can be reassigned with values to make any
change.

esProc does not provide the counterpart of deleting on conditions function as given in SQL
though, you can implement this function by combining with the pselete:

T.delete(T.pselect@a(Age>=30))

After ID| MAME |GENDERAGE
execution, the -
—dero.queryi "select * from STUDENTS }—| records for 1|Emily |F 7
e male students 2 |Elizabeth F 16
5 3=u"-*:;1 deletel 2] peelect == in TSeq will be
M :|:| \ removed. 4- L-'EILIFEFI F 15

The delete() or insert() functions will remove or add records in
he original TSeq. They can be used in the executable cell.

The following methods can be adopted to insert records in batches:

T.insert(k:Ax;:Fi,...)

Operation against each member of A through looping execution. Insert multiple records
before the k™ record of TSeq T. Field F gets assigned with x. If k is 0, then insert at the ending, and
omitting F indicates the assignment will be done one by one. For A, the integer n can be used to
represent the sequence to(n).

A |
1 =dermo.guery "select * from STUDENTSE")

=41 insert(2:3, 251D, "Williar"+string(#) M AME,
2 | 2040, "M"CENDER)

ID| MAME |GEMDERAGE ID| MAME |GEMDERAGE
1|Emily |F 17 1|Emily |F 17
2 |Elizabeth F 16 26 William1| M 20
3 |Sean M 17 27| Williamz| M 20
4 |Lauren |F 15 28| William3| M 20
5| Michael |M 16 2 |Elizabeth F 16
G |John M 13 3| Sean M 17
7 |Micholas| M 16 4 |Lauren |F 15

5| Michael |M 16

G |John M 13

7 |Micholas| M 16

6.3.2 Modify Records
r.modify(xi:Fi,...)
Modify record r, and assign field F with value x. If F is omitted, then assign values one after
another in proper order.

T.modify(k,x;:F,...)
T(k).modify(x;:F;,...), modify the k™ record in TSeq T.

T.modify(1,"Tyler":Name,28:Age,"M":Gender)
T.modify(2,"Alexis","F":Gender,25)

With the students table in the 6.3.1 again, the record modification is illustrated below:
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ID| NAME |GENDER| AGE
=dermo.queryi "select * from STUDENTS") 11| Matthew | M 7
ey T SR T T TR 2 |Elizabeth |F 16
2 | M".GENDER) 3[Sean  |M 17
3| =L1(4) modift22, "Slyssa", "F",18) 22 | Alyssa |F 18
5 Michael |M 16
6 [ John M 13
7 |Michaolas |M 16

Again, we emphasize that it is forbidden to assign value to the members of table sequence by
replacing them, for example, T(2)=r is illegal. In fact, there is no way to change the members of
table sequence as a whole. You can only reassign values to its fields.

T. modify(k:AXx;:Fi,...)

Operate against each member of A through looping execution to modify multiple records
since the k™ record in T in batches.

D Mame | Gender| Age
: | 1|Emily |F 17
i =esProc. query("zselect * from studentsz”) ::i Elelzanbemlr:.l 1?
o Al modi £y (203, II+10:I0) — 14 |Lauren ,; 15
5 [Michael [M 16
& |John M 13
7 | Nicholas|M 16

6.3.3Reset a table sequence
T.reset()
Empty table sequence T while keeping its data structure.

6.3.4 Paste
r.paste(r')
Change the field value of the record r to the field value of the record r' according to its
position.

<> @n When modifying the record, only modify the values of fields in record r that have
the same names as those in record r'. The case is sensitive when judging if the fields are of the
same name.

STUDENTS SELLERS

ID| MAME | GEMDER | AGE GROUPRID(ID MAME GEMDER
1 [Emily F 17 1 (1| Ashley Williams F

2 |Elizabeth |F 16 1 (2 | Andrew Miller M

3| Sean I 17 2|1 |Sarah Johnson F

4 |Lauren F 15 2|2 |Grace Johnson F

5 |Michasl |M 16 2|3 |Christina Williams | F

G |John M 13

7 |Micholas |M 16
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& | lVaIues of fields in red box are changed I
! =derno.querst "select * from 1D MAME GEMDER AGE
STUDENTS") 2 2 | Grace Johnson |F
=derno.gquery "select * from
2 SELLERS™) D MAME GEMDERAGE
3 =L 111} pastel H2040 / 2| Grace Johnson F 17
4 | =AL{G) paste@nlA2(4) ID| NAME |GENDER| AGE
=&1(3) paste(["pl","p2","p3") p1|p2 p3 16

P.paste(A)
With the members of sequence A, paste the records in RSeq P in order. In most cases, A is an
RSeq (not a must) and the members of A can also be normal sequences.

@n Modify every record of P with the @n option.
& | IO MAME GEMDER.  |[AGE
| | =dero queryt"select * from STUDENTS") | 1|Ashley Williams | F

=deran query(“selsct * from SELLERS") /'1 2 [Andrew Miller  |M
2| 1|sarah Joh F

—&1(to(1,3)) paste(52) 2ren onnean

D] NAME |GENDERAGE

=8 1itol46)) paste@n & 2)
\1 Ashley William| F 15
2 | Andrew Miller [ M 16

Sarah Johnson F 13

= | L | B2

—

6.4 Primary Key

6.4.1 Set Primary Key
One or certain fields can be set as the primary key(s) of a TSeq. To simplify the code, some

specific functions are provided to conduct the search on the basis of the primary key(s). By
principle, it is assumed that the value(s) of the primary key(s) in the record of the TSeq is unique,
but no compulsory check is set to validate it. No error will be reported even if any primary key
values are repetitive. The primary key can be left unset, and in this case the primary key will be
the first field. When T.create() is used to generate a new TSeq, the setting of T’s primary key(s)
will be copied.

T.primary( Fi,...)
Set the primary keys of the TSeq T as F;,.... When T.create() is used to create an empty TSeq,
what is about T’s primary keys will be copied.

r.pkey()
Return a sequence composed of all primary key fields in the record. If the member of a

primary key field is still a record, then this record will continue to execute pkey() and insert the
results to the sequence. If merely one primary key exists, then only return the field member
instead of the sequence.

v.v()

If v is a record, then return field value of the record’s primary key, or a sequence composed of
the field values of primary keys. Otherwise, return v itself.
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STATEID| MAME AEEHREGIGNID‘:
A | 1|Alabama |AL 6 [I=
=dermo.guery "select STATEID, 2 [ Alasks AK g
MALIE ABBE, REGIONID from
! STBT%S "y R, — 3|Arizona  |[AL a
9 =41(3) phey) ~_ 4 | Arkansas (AR 7
- [ Ilf no primary key is set, liformial (™8 all™
3 =hl P REGIONID’EBBR} then get the 1 field. Value
4 =P:;1I:3:ka.&j.ﬂ::l You can set multiple B 3
5|10 e || ember
6 =P‘12.V{:I A1(3) is a record. \ 8
Return the record’s AL
ISince A2 is not a record, then return the cell value itself. I primary keys.
N Member
Value \ 8
3 AL

T.index(n)

For the primary key of TSeq T, create an index table with the length of n. Without n, the

length will be assigned automatically. If the primary-key-based search should be performed for
several times, the efficiency will be improved with the index table created.

6.4.2 Usage of Primary Key

You can perform locating and pickout operations on the corresponding records with the
primary key values.

A.pfind(v)

Return the position of record member in the sequence A whose primary key value is v, or the
positions of non-record member in A whose value is v. If there are multiple primary keys, then v is
a Sequence.

<> @b If the members of A are ordered based on its primary key, then use the binary
search to locate them.

<> @bs The members of A are ordered based on its primary key. With binary search, the

position will be returned if v can be found; If v is not the primary key value of members of A or

the member value, return the opposite number of the sequence number at which position the v
can be inserted orderly.

A find(v)

Return the record member whose primary key value is v or the non-record member whose

value is v in the sequence A. If there are multiple primary keys, then v is an RSeq. If there is an
index table for A, then use it for searching.

<> @b If the member of A is ordered against its primary key, then use the binary search
and ignore the index table of A.
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& IO MNAME |GEMDERIAGE

! =derno ey "select * frorm 1 |Emily F 17

STUDENTS") ——————[2|Elizabeth|F 16

2 [=hlfnd(3) 3(Sean  |M 17

3 =41 primary N ATE) 4 (Lauren |F 15

Primary key of A= 1 pfind{"Sean"} 5| Michael |M 16
SeqinAlis

ID by default G |John I 13

and changed to 7 |Michaolas | M 16

D) MNAME |[GEMDERAGE

VE'UES 13|sean |M 17

With the primary key, the role of some functions can be affected, such as append@p. For
details, please refer to the descriptions in the Section 7.1.3 Append Record.

6.4.3 Record Conversion and switch() Function
With switch() function, you can swap it with the record r, and convert the value of one or
several fields in r to the record reference in RSeq P with these field values as the primary keys.

P.switch(F;, Ai:x;...)

Assign the fields F; of each record of RSeq P with A;. select@1(x:F;), which indicates the
references of the record whose primary key is the F; in A;. If there is an index table for A, then use
it for searching. When x is omitted, perform searching according to A;’s primary key; When A; is
omitted too, field F; gets assigned with value F;.v(). Specifically, use the sequence number to
locate if x is #. If no corresponding records are found in A;, assign the related field with null.

<> @i In computing, if no corresponding value in F;is found for each A; against a record
in P, then remove the record.

With switch() function, you can implement the record reference and assignment much easier:

- A.primary(ID)
- B.switch(Salesperson,A)
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STATEID MAME ABBR ||~ CIoy MNAME  [POPULATIONSTATH| =
1|Alabama  |AL = 1 | Mew Yark 8084316 | 32|=
2| Alaska AK 2 |Los Angeles 3793981 5
3 [Arizona AL 3 | Chicago 2886251 13
4 |Arkansas |[AR - 4 [Houston 2009834 431 _|
EliTmalifarnmin (it} E1Dhiladaslnki AAOFTI T4 20 o
\ I After executing the switch function in A3 I
A \ | CIO MNAME |POPULATIONSTATH| ~|
g | Sdemmo.queryt "select STATEND, 1 |New York 8084316 (32 | =
HMAMEABBE from STATES™
—demno.query( "select C1D, HAME, 2 |Los Angeleg 3798981 |5
2 POPULATION, STATEID as 3| Chicago 2886251 ;3
STATE from CTTIES") 4 [Houston 200083443 ||
3 }AESMtCMSTETE‘?BIZI ElDhiladalmkid -1.10"]{}-1 0 s
Double click to view the records I
4
STATEID | MNAME ABBR
13 | linois IL

With switch() function, you can handle some rather complicated situations, such as changing
field value simultaneously in multiple fields:

=53 switchi JHIT,BLID,

STATEIC| MAME RE-EFJ: IDJUNIT| DETAIL [ =| GROUPIGID NNMEGENDEF&:
1|Alaban AL | 1|LB  |Pound |= 1|1 |AshigF =
2| Alaskal AK 2 |BAG |Bag 1|2 Andrqm
3 | Arizond AZ 3 |[EACHEach 2 |1|sarafF
4|Arkans AR ||| 4|kG |Kilogram|_| 2|2|GracqdF a
2 o liElel i = = = e [ FE Y P | -

e o\
= Uery select =deran queryl select * frord [=detan queryl select * fror
{  |STATEID HAME ABER |[UrT™ SELLERS")
from STATES")
» B! primary{UNIT) =1 primary(H AME)
=derno.query select F Trom
FOODE"

4 PLALCE L1:ABER,
SELLERS.C1)
ID|{NAME PLACE[UNIT|UNITP.. [SELLERS |ID NAMEPLACEUNIT UMITP... [SELLERS
1| Apple 22 LB 1.69 | Ashley Wiarter 1 | Applg M 1 1.69 |Ashley W
2 |Banalg LB 0.69 | Andr :vxv‘:f:h"”g > | Banal FL 9 0.69 | Andrew I
3| Cucu| 5 EAC 0.77 | Christinaffunctionin |3 | CUcw| CA 3 0.¥7 | Christina
4 Dniorq %EI 0.99 {:hn's{na“ 4 | Onion CA 1 0.99 [ Christina
5 Dran;sj EN; 4.99 |Ashley T 5| Oran{ FL 2 499 |Ashley W
I \ \
STﬁTEUa Nﬁ.rms\ ABBR SROUPID 1D MAME |ZEMDER
5 Califomia\ CA 2 3| Christina | F
N\
ID N UNIT DETAIL
1|LB Pound
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7. Data Association

7.1 Data Generation

7.1.1 Create a New TSeq
»  Anew(x;:Fi,...)
Ais a sequence or an RSeq. Firstly, create a TSeq whose field is F;,... Then, loop every
member in A through the expression x; and insert the new records to the TSeq.

Value Square Cube
& - 1 1 1
i j-iijj:.éeugig:value,re ~BruAre, : 5 A 2
3 g 27
4 16 64
5 25 125
With A.new() function, you can use the existing RSeq data to generate a new TSeq:
STATEID| NAME |POPULATION[ABBR| AREA | CAPITAL [REGIONID] ]
1 [Alabama 4779736 | AL 52419 | Montgomery ] =
2 |Alaszka 710221 |AK | 663267 |Juneau 4
3 | Arizona 6392017 |AZ [ 113998 |Phoenix g
4 | Arkansas 2015918 | AR 52897 |Little Rock 7
5 | Califarnia 37253956 |CA | 163700 | Sacramenta 9
Al nlnradn ROZ9149R | M AN4186 | Nenuar a )
ID| MNAME |POPULATION AREA
4 CA | California | 37253956 (163700

=derno.queryt "select * from

Get information

1 |[lsTaTES" of states whose |1 | 1€X@S 25145561 [263820
lati by

S |-Alson(POPULATION D) |Penot | [NY | New York | 19378102 54556

=H2|:t,:,|:1 5:':'.IIE‘E’1:;':‘LEBRZID top 5, and create FL |Flarida 18801310 | 65755

3 [wamEpoPULATIONARES[]* ™™ | [iL [ilincis | 12830632 54826

> Aregex(rs,Fi,...)
Execute regex(rs) on each member of string sequence A, and combine the matching
results into a new TSeq whose field name is F;,...

7

<% @i Not case-sensitive.
<  @u Use unicode to match.
Using A.regex() function, you can split a string sequence to create a new TSeq. For

example:
L B L D
1 Olrver Traist Hoah Claypole |Roge Wlaylie |Toby Crackit
2 =[&1:D1]
3 =42 regen! "(15*) (V5*)" FiretMarme, Last} arne)

In A3, the name sequence is split into FirstName and LastName which are separated by a
blank. The computed results in A2 and A3 are as follows:
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hdember FirstName LastName
Otiver Twist Oliver Twist
MNoah Claypole Noah Claypole
Rose Maylie Fosze hdavlie
Toby Crackit Toby Crackit

When a regular expression cannot match with a certain string, records won’t be created.
According to this rule, we can filter sequences and select specified strings to create a TSeq. For
example:

A

| =derao.query( "select MAME, STATE,SALARY from EMPLOYEE")
3 |=Al(~string)

3| =82 regen (BVS),( 40" Marne, State, Salary)

4 | =A2remen "0 #L0CIT] #0000 Mare State, Salary)

The string sequence created in A2 is as follows:
MMember
Rebecca California, 7000

Aczhley New York, 11000
Fachel New hexico, 2000
Emily, Texas, 7000

Azhley Texas 16000
hiatthew California 11000

A nazie Tlisn o Ol

In A3, names of employee, states where the employees are and their salary are matched
according to strings. The point . in the regular expression represents a character which is neither a
line break nor a carriage return. The matching criterion requires employee names starting with B.
The result of A3 is as follows:

L] »

-

Mame State Salary -
BErandon Pennsylvania | 7000 =]
Erandon New York 10000
Erianna Georpia 2000
Bryan Tllinois 12000
Erandon Pennsylvania 6300
Benjamin Florida 3000 -
Dennla AT ners Vo= L0 s

Still, in A4, names of employee, states where the employees are and their salary are matched
in order to create a TSeq. The matching criterion requires that the states being matched start with
C or T. The computed result is as follows:

Mame State Salary -
Febecca Califorma T000 =]
Emily Texas T000
Ashley Texas 16000
Matthew California 11000
hdegan California 1 1000
Victoria Texas 3000 -
Tocok L0 s
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7.1.2 TSeq Duplication
As we mentioned in the Section 3.5.1 Generate the subsequence, the A.dup() function can
be used to copy a sequence. A TSeq is actually a sequence. When copying a sequence, you need to
note several points.

T.dup()
Take and copy T as a sequence. Please note that the result is an RSeq composed of records in
T, instead of a TSeq.

X @t When using dup() function in the TSeq, you can use the @t option to generate a
TSeq. The records from the original TSeq will be copied to the new TSeq one by one and new
records in the new Tseq will be generated.

= | ci  NAME F'UPULATIGNSTATEIEIE
_ 1| New York 8084316 32 ||1=
1 =dﬂm'q“m"“1“t*fmm':ITIES":'/,E Los Angeles| 3798981 5
2 [=hldupd) —73 Chicago 2886251 12
3 | =Aldup@t() — 1 4 Houston 2009834 43|
4 =1ft & E | Dhiladalnhis 4 AN a0 ™
s T AT) Value
false
\ Value
EFUE

Note: If the T.dup() is used without @t option, then the record of new RSeq is only the
reference of the record of the original TSeq. The record itself is not copied.

& | Cioy  MNAME F'GF'ULATIGNSTATEIDl:
1 =detmn queryt "select * from CITIES") 1| DAVIDA 8084316 2 |=
7 =1 dup() 2 Ln§.ﬁngele. 3798981 5
5 =41 dup@1() 3 [ Chicago 2886251 13
f— " 4 |Houston 20093834 431
4 A1) modify"DAVIDI " NAME) E | Ohiladalnhi 440773734 2o ™
5 | =430 modify"DAVIDL NAME) c0  NAME |POPULATIONSTATEIC] «]
f =41 | 1| Mew York 2084316 32| =
In A2, since T.dup() is used alone without @t option, only ) 2 |DAVIDZ 3798981 3
record references occur in A2. When A2 is changed in A4, 3 Chil:EIgU 3006254 13
then the record in the original TSeq is also changed.
J 4 [Houstan 2008334 43 1|
cio NAME |POPULATIONSTATEID] ] S Rhiladalabil—anaaad 8
1|1 DAVIDA 2084316 3z =
2 [Los Angeles 37989381 8
2| Chicago 2886251 13
4 [Houstan 2009834 431
E | Dhiladalenki 44034 20 || ¥

7.1.3 Append Records
T.append(T;,...)
Tand T;,... are the TSeqs with the same number of fields. Append the records from T;,... to T,
and empty all records in the TSeq Ti,....



RAQSOFT
Innovation Makes Progress http://www.ragsoft.com

< @p During appending records with the @p option, if there are records to be
appended having the same primary key as that of some of the original records, then these
original records will be replaced by those to-be-appended ones.

STUDENT STUDENT

D MAME |[GEMDER| AGE D MAME |GEMDER| AGE
1| Emily F 17 3| Micholas| M 16
2 |Elizabeth| F 16 5| Michael |M 16
3| Sean M 17 G |John M 13
4 |Lauren |(F 15
" ID | NAME |GENDER AGE
i =dEIfU3.qU-EI}f{::SE]ECt * from After_executing append, the TSeqs of A2 and A4 will be
STUDEMTS1 :I _femptied. B
=dﬁm_q1_‘|ﬂr5ni"selﬁct * frorn 1= LI Fa 1 el L ) . Y )
E STUDENTE2" 1| Emily F 17
3 |=Aldup@t) 2 | Elizabeth| F 16
4 =52 dupEt() 3| Sean M 17
5 =41 appendA2) 4 |Lauren |F 15
6 |=A3append@p(hd) 3| Nicholas| M 16
5| Michaal |M 16
G |John M 13

For comparison, first copy the TSegs in Al and A2. The
@p option is used with append() function in A6. By D MAME |(GEMDER| AGE

default, the primary key is the first column of ID.

herefore, if there are duplicate records whose 1D is 3, 1 Eﬂ"l”':.l' F 7
hen only keep the new records. 2 |Elizabeth| F 16
\ 4|Lauren |F 15

3 |Micholas|M 16

5| Michael |M 16

G |John M 13

7.1.4 Split Record
A.news(...)

Based on the expression ... , the operation can be performed that each record in the RSeq or
TSeq A is split into a RSeq or a Sequence, then return the merged members in all the Sequences or
merged records in all the RSegs. In the end, the returned result is usually a Sequence or an RSeq.

For example, the scores of a women’s individual gymnastics all-around are stored in a
database table named GYMNASTICSWOMEN:

D MAME COUNMTRY | VAULT | UNEVEMNBARS | BALANCEBEAM |FLOOR || |
1 |Ana Ailva BRA 14.175 14.175 14.175| 14.35 | =
2 |Anna Pavlor RUS 15.275 14.525 15.975| 15.05
3 |Ariella Kask sSuUl 15.35 14.275 14.425| 13.95
4 |Barbara Keesling | SUI 14.525 14.125 15.075 | 143
5 |Becky Down GBR 16.025 15.625 147 141
fi | Riath Tussddls CRE 144 15 A7R 1aal a4l

Every athlete’s score for each game is computed as below:
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&

1 fzelect * from GV ASTICSWOMEN

=&1 newst [[FAME, "Vault” TAULT],
[ AME, "UnevenBars",

2 |UNEVENBLRS],[HAME,"
BalanceBear" BALANCEREAM],

[ AME, "Floor" FLOOE]])

b

i)

[Beclky Down, Vault, 15. 025]
[Becleyr Down, UnevenBars, 15. 625]
[Beclky Down, BalanceReam, 14. 7]
[Becleyr Down, Floor, 14.1]

eth Tweddle, Vault, 14 £]
[Beth Tweddle, UnevenBars, 15. 875]
[Beth Tweddle, BalanceBeam, 14. 8]

== a7

-

rn P 1 1m0

You can see that in the parameters of A.news() function, the expression splits each record of
the original TSeq into a Sequence, and stores in each sequence the score for each event. The final
returned result is a sequence of sequence in which any event score of every athlete is shown.

To list the results in a clear way, a TSeq will be generated for each record:

by
1 $select * from GYMNASTICSWOLEN
=21 rewslcreatelMatme, Frent, Score). Hame Event Score ol
recordi [FAME, "Vanlt" VA&TTLT, Becley Down Vault 15.025 |||
9 Eiﬂ%::gﬁz‘ﬁﬁiENEHMEﬂRi Becley Dlown UnevenBars 15. 625 =
BALANCEBELN MATE, "Flaor", Becley Down BalanceBeam 14.7
FLOOR] \ Becley Dlown Floor 14.1
™Meth Tweddle | Vault 14.4
Beth Tweddle | UnevenBars 15. 675
Beth Tweddle | BalanceBeam 148 |||—]

At this point, when A.news() function is performed, the records in all TSeqgs will be merged,
and then return a RSeq.

7.2 Group and Summarize Data

7.2.1 Compute Unique Value
A.id(x)

Compute expression x on every member in the sequence A, sort the sequence composed of
the results, keep only one of the neighboring members with the same value, and then return the
sequence. If x is omitted, then sort the members of A, keep only one of the neighboring members
with the same value, and return the sequence.

@o No sorting. Keep only one of the neighboring members of the same value directly,
and there could be members of the same value in the result.

The score sheet of a gymnastics competition is as follows:
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D MAME EVEMT SCORE

1| Ana Silva Vault 14175
2 |Berky Downie |Vault 15.025
3| Ariella Kaslin | Vault 15.35
4 | Ana Silva UnevenBars 14175
5| Ariella Kaslin | UnevenBars 14275
G |Berky Downie |UnevenBars 15.625
7 |Berky Downie |BalanceBeam 147
8 | Ana Silva BalanceBeam 14175
9| Ariella Kaslin | BalanceBeam 14.425
10 | Ariella Kaslin | Floor 13.95
11| Ana Silva Floor 14.35
12 | Berky Downie |Floor 14.1

Let’s check the execution of id() function:

&

=derno. ey "select *

from GYMSCORE")
=41 id(MAME)

=41 idi@o(NATE)

Member
. - — N\ Ana Silva

Compute the unique value of name. - -

If no option, then the result will be > Ariella Kaslin
=1 s0rted in ascending order. EEFH&" Downie
=~ @o option is to remove the o~

neighboring member with the same Member =

value, and duplicate may exist. — Ana Silva 1=
Berky Downie
Ariella Kaslin

Ana Silva |

-

frimlle Wmmlim

The working of id function is similar to the distinct operation of SQL.

A.ranki@i(y,x)

Compute the expression x on each member of the sequence A, remove the duplicate results

and then compute the ranking of y.

A.rank@i(x)

Compute the distinct ranking sequence of expression x on each member of sequence A.

&

=derno.guery "select * from
I | GYMSCORE")

=
=]

5 =1 ranki @ i{lﬁ.S,SCORE:I IRanking of 15.5points |>

3 =81 ranl@i SCORE)

Compute the ranking of score in
each record; note that there are 3
14.175 points ranking 8th, and
the 14.1 point still ranks 9th

—
[ I e e 3 O Y A P I O Y % S
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7.2.2 Equal Group
A.group(X;...)
Group sequence A by the result of expression x;... in ascending order, and return the
sequence composed of each group.

< @o No sorting on values of x;.... Collect the neighboring x;... members of the same
value to a group.
X @n The result of expression x;... is an integer; as a group number, it is for direct

locating. This option and @o are mutually exclusive.
X @1 Only keep the first member for each group.

4 |
o ety {"select ¥ Member ID] NAME|EVENTSCORE
1 from GYIVISCORE™ F— (148, .1} 1| Ana sifVault (14175
A1 group(NAME)  —Jsscending [ [[3,5,9,..] | 4 |Ana Si| Uneve|14.175
ooy 2,67, ] 8 | Ana Si| Baland 14.175

=& 1 groupiE@olHAME)

11| Ana Si| Floor | 14.35

Member

2
3

4 | =41 zroup@nlDYa+H)
5 | =A1goup@I(MAME)

[} D] MAME|EVENTSCORE

L

[2] 2 | Berky [ Vault [15.025

l@lmeans only keeping one member in each l

"/ The @n will directly (3]
ID| MAME |[EVENT|SCORE specify the group [4_]
P numbers. There will
1|Ana SifVault (14175 be 3 groups based on 5}
3 | Ariella| Vault | 15.35 the record ID. @ois not to sort
[E.?] and only to group
2 [Berky | Vault [15.025 8] the neighboring

members with the

ID| MAME| EVENT|SCORE ME‘FI"IDEF [9,10] same Name into
3 |AriellalVault | 15.35 /[3,5,9, -] [11]
6 | Berky | Unever(15.6297 |[1,4,7,..] [12]
Q| Ariellal Balanci14.425 | |[2,5,8, ..]
12| Berky | Floor 14.1

The group function works as the GROUP BY operation in SQL. The return value of group
function is a sequence consisting of subgroups. Each subgroup is a sub-sequence of the original
sequence (or the position 1Seq in the original sequence). The final result is a sequence consisting
of sequences. The group summary value can be further computed for many times based on group
result.

There is no explicit set data type in SQL and the group result will not be saved. You must
compute the group summary value immediately after GROUP BY operation. After computation, the
group results will be discarded forever.

In esProc, you can summarize the group results after grouping:
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MAME Sum

A Ana Silva 56.875

=derno.querst "select * fiom : :
1 GVISCORE" Ariella Kash.n 5a8.0
5 &1 goup(HAME) Berky Downie 59.45

3 =52 newt MANE round ~ s MAME Max Min

(SCORE),3):5urm) Ana Silva 14.35 [14.175

=52 new M ANE, ~ rad SCORE]: 5 -
4 Mla ~ min{SCORE)-Min) —> | Ariella Kaslin| 15.35 | 13.95
Berky Downig|15.625 [ 141

It reveals that cells A3 and A4 have made group summary twice towards the same group
result in A2. The grouping result can be reused, which is one main feature of esProc.

Let’s jump to =A2.new(NAME,round(~.sum(SCORE),3):Sum). Every member of A2 is a set of
records (i.e. RSeq) since A2 is a grouping result. Therefore, when new() function is being used to
perform loop onA2 , its internal expression is operating on the RSeq. For example, NAME means
getting the value of the Name field of current member’s first record. ~.sum(SCORE) means suming
up the Score field of the current RSeq.

As the GROUP BY in SQL, group function also supports grouping more than one
field(expression) at the same time:

GROUPID|ID| MAME | GENDER]

- | 7 1|1 |Ashley F
=demn. "gelect *
A fm:tg ouery S..§ C GROUPIDID| NAME |GENDER
ELLEI_ i Member A 1|2 |Andrey M
2|74 ey NAME) | |jashley Williams] =
=41 group{GROUPID, . 7 sl
3 GENDER) “rlAndrew Miller] 511 sarah | F
[Sarah Johnson, Grace Johnsss 52 Grace |F
2|3 | Christi F

7.2.3 Group Summarization
esProc also provides functions to directly compute the group summary value:

A.groups(x:F,...;y:G,...)

Group and summarize the data in sequence A by the computed result of x,.... The result will
be aggregated into the result set to return. The process equals to
A.group(x,...).new(x:F,...,y:G,...).In aggregating, members of A will not be sorted. Instead, every
member of it will be computed one by one in a loop, and match the result of x,... in specified order;
You are only allowed to use simple converging functions sum/count/max/min in the expression y.
Once computation is completed, a new TSeq will be returned with the fields F,...,G,..., in which
field F,... is the primary key.

@o Grouping with @o option.
o @n The computed result of x is the sequence number of a group for direct locating in
aggregating.
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& Dept Count TotalZalary

i =file( "D filesitxtieraplovee txt") Administration 4 40000
5 R E—— Finance 24 177500
=82 mroups(DEPT Dept count(~): HR 19 138000

3| cout swalSALARY) TotalSalary) | Marketing 99| 733500
Production a1 BE3000

RE&D 28 239000

Sales 187 | 1362500

Technology 47 344000

7.3 Alignment and Enumeration Grouping

7.3.1 Alignment
P.align(A:x.y)

Align members of sequence P with members in sequence A in a one-to-one relation. The
results of expression y for members of P equal to the results of expression x for corresponding
members of A. Omitting y indicates that the member value of P itself will be used, and omitting x
indicates that the member value of A itself will be used. By default, only the first member of P is
reserved for each result.

Similar to equal grouping, alignment grouping usually uses the following options for various
settings on grouping:

<> @a Alignment grouping. In aligning, retrieve all members from P meeting the
specified conditions. Like group function, the return value of align@a function is also a
sequence of the grouping sequence.

<> @b A'is ordered. The binary search can be used to increase efficiency.
o @p Return a sequence composed of sequence numbers of members from each group.
& |IResuIts of A3 and A4 are the same l
=detno.cueryt "select * frorm
1 " Member
GYRISCORE™ [; 5.0 ID| MAME | EVENT|SCORE
o | [BalnceBean TnevenBars, = 10| Ariella | Floor | 13.95
Floor, Vault] [4,5,6] ¥ ana SilFl 1435
. AnNa ol oar .
=41 align@a( 42 EVENT—" _[[10,11.1 21/
_ EN/ 12 Berky O Floor | 14.1
4 =41 align@lal &2~ EV [1,2.3]

After alignment grouping is executed, you can associate the grouping result sequence A3
with A2 by sequence numbers, and make the statistics, for example:
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&
=dermo.guery "select * from
I | oyMSCORE")

[BalariceBearn UresenPars,
2| Floor, vault]

: Event AvgScore
=41 align@al 42 EVENT) BalanceBeam 14433
4 =41 align@al b2~ EVENT) UnevenBars 14 692
=h3new( H2(#) Event, FFloor 14133

5 ronme (- SCOREDLS):
Mgs,m:;’g( Vault 1485

Let’s talk about expression =A3.new(A2(#):EVENT,round(avg(SCORE),3):AvgScore). It
represents performing computation on each member in A3 by loop and generating corresponding
records for a new TSeq. Since A3 and A2 have the same order, the sequence numbers of their
members are completely identical. Therefore, you can get the member of A2 with the same
position through A2(#), here # refers to the current sequence numbers of A3’s members. The
expression is equal to another one: =A3.new(EVENT:Event,round(~.avg(SCORE),3):AvgScore).

< @n @a option is used in computation. Among the results, an extra set will be generated,
which can be used to store members of P that cannot find their counterparts in A.

< @s Members of the sequence P are sorted according to A’s order, where the
non-corresponding member with A is aligned in the last row.
L | Member
i =derno.gquery "select * from [7.8.5]
GYMSCORE :I '[4=:'=ﬁ] ( A4 uses @n option, and one more
9 [BalanceBearn, UnsvenBars, [10.11,12] group is produced than A3 to store
Floot] — Vault item which doesn’t exist in A2
\
=81 aligial 2 EVEHT) Miember
4 | =51 alic@n A2 EVENT) [7.3.9] 10| WaME  [EVENT| SCORE
: 4.3.6] 1 | Ana Silva | Vault/14 175
5 |=&1 aligu@s(a2 EVENT) il B
[10,11.12] 2 | Berlgy Down| Vanlt15. 025
[123] 4|3 |Ariella Ke Vauld 15.35
1D TAME EVENT SCORE || =~
T | Berler Downie BalanceBeam 14.7 ||
8 | Ana Silwa BalanceBeam| 14175
- - Ariella Eazlin| BalanceBeam| 14£. 425
With @s option, the athlete’s scores are
sorted in A5 according to A2’s order, 4 | Ana Silwa UnewenBars | 14. 175
namely, the records of each group in . . . A
Ad are joined in turn 5 | Ariellas Kazlin| UnevenBarz | 14. 275
6 | Berlogy Downie UnevenBars | 15. 625
10| Ariella Kazlin| Floor 13.95 [
-

An easier direct sequence number alignment:

P.align(n,y)

P.align(to(n),y), which means the value of y is already the sequence number for alignment

grouping.

To use the sequence number to create alignment, the grouping fields should be consecutive

integers. In this case, you can use the P.align(n,y) to uplift performance. @a and @p options can
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o @r The computed result of y is not a sequence number, but a sequence of sequence
numbers. In this case, a record in P is allowed to appear repeatedly.
L | Member |~ | EID | NAME |GEMDER| BIRTHDAY || =]
=demo.query "select 7184172, ] |= 76 |Tyler (M 1972-02-06/ =
B FID HAME, [76,85,87, ..] 85 |Hailey |F 1977-02-10|
GENDEER BIRTHDAY
from EMIFLOYEE" 10,18, ] a7 |Sarah |F 1972-02-16
5 =& 1 aligni@al 12 mont [3,21,95 ..] | 100 [Jacob |M 1978-02-12

(&1 BIRTHDLY ) 6472 373 1 - 4739 | femlen | C 4007 na ool ™
Group by month of birth

When aligning with the sequence number, you can also generate consecutive integers with
the locate function.

A |
=dermo.guery "select * Member
L | from GYMSCORE" [7.89] 4 |ID| NAME EVENT |SCORE
. [EalanceEear, [4,5,6] PBerky Dow BalanceBean 147
E;T*?Bm;fﬂiz‘fﬂ/(ﬁn.ﬂﬂ] % | Ana Silva | BalanceBean 14175
3 ,:EHENTE};,@ T [1,2,3] 9 | Ariella Kag{ BalanceBean|14.425

7.3.2 Enumeration Grouping
eval(x,a)
Compute the expression in the string x with argument a. In the X, use the i"?to represent the
i parameter or represent the parameter with ?i by pointing out its position. When the number of
parameter is less than "'?", you can start the loop from the first member.

- eval("?+3",5) Return 8
- eval("?>3",5) Return true
- eval("?+3*?",5,7) Return result of 5+3*7, that is, 26

- eval("?+3*?+?",5,7) Return result of 5+3*7+5, that is, 31
In particular, if eval(x,a) returns true, then a meets the condition x.
E.penum(y)

E is a sequence composed of the condition expression. Compute expression y, find members
in E requiring condition which the result matches and return the sequence number of the first
member that can be found. In particular, the result is regarded as eligible if the condition is null.

& | B | Rank | Score
1 L =B A 7=85
2 B =70 2=70
3 |C 22600 c 7=60
4 =createf Fank Score) record{ [£1:B3])
5 =H4.I:SCDI‘E]I .penu.m(??} Return 2 since 77 SELE
& =[B1:B7] pEn‘IJII“L(??:I : meetsthe condition the 2
o @r Conditions can be overlapping return the 1Seq composed of sequence numbers of

all members whose condition matches with the result. Only when the result cannot satisfy



RAQSOFT
Innovation Makes Progress http://www.ragsoft.com

conditions of all the members, return the 1Seq composed of sequence numbers of the
members whose condistion is null.

i
1 &
2 B
3 C
4 D
5 =rreatelRank Score) record([& 1:B] 7
77 can meet the conditions of 2 L
fi =45 {deore) perumn T = |and 3, return an I1Seq 3
7 =[B1:B4] permru@@y77)
55 cannot meet the first 3 _ Member |
2 =[B1:B] penmre@n35) conditions, return the position 4
of null condition: 4
X @n If any condition is not met, return E.len()+1. This and @r option are mutually
exclusive. Now the null condition is not required.
B | E | Eank Score
i i 9235 A 83
70
2 B =70 'B
C 60
3 c =60
4 =createf Fank Score). record [£1:B3])
55 can’t meet all the 3 conditions, Value
5 =[B1:B3] peruru@n55) =1 return 4 4
P.enum(E.,y)

Allocate the member of the sequence P to several groups in one-to-one corresponding
relation to members of RSeq E. Group members of sequence P and create a one-to-one
correspondence between these groups and members of E, the condition expression sequence. The
results of expression y for members of each group shall satisfy the conditions required by the
corresponding members of E. If omitting y, then you use the value of members of P itself. By
default, every member in P will only be placed in the first group meeting the conditions.

Similarly, the return value of enum function is also a sequence of sequence.

Group by score, for example, Group 1 satisfies the condition
" | that SCORE >15
=t | e e Member | D] NAME |EVENT|SCORE
I | oynscoRED [23,6] |2 |Berky Downie|vault |15.025
2 [F=157=14.57=14] L[7] 3 |Ariella Kaslin | Vault | 15.35
3 =&1 enuraf A2 SCORE) / [145, ..] 6 |Berky Downie| Uneven15.625

When E.m(-1)==null, that is, the result of the expression is eligible when compared with the
null condition, enum function will gather all members from P not satisfying any other condition
fields in E into a group corresponding to E.m(-1), which is equivalent to the “others™ group.
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I Member - —
Records not meeting any conditions
=dem|:|_qu,er5r{"se]g.:t * o [2,3,6] will be placed in the last group
1 GYI'.I.-ISC@RE"} [?] corresponding to the null.
2 [F=157=14.57=14null] /»n 45, ] ID] NAME |EVENT/SCORE
5 =41 enuraf 42 SCORE) [10] —7110| Ariella Kaslin| Floor | 13.95

By default, enum function assumes there are no overlapping groups during the process of
computing, that is, the member in P won’t match the results of two condition expressions at the
same time.

X @r Allow overlapping groups, that is, the member in P may correspond to multiple
members in E simultaneously.

b | Member Records that meet SCORE>15 also meet the
= 0 condition of SCORE>14.5. With @r option, the
1 &%‘éﬁ%";ﬂﬂd * from [2,3,6] result will also appear in the 2™ group.
(2,38, ..]<
3 [=15.7=14.5.7=14 ] 23] ™\, |ID| NAME |EVENT|SCORE
3 — A1 enur@r( A2 SCORE) a0 2 |Berky D|Vault |15.025
,l, 3 [Ariella K Vault 15.35
With @r option, only the records not 10| MAME |EVENT|SCORE |6 | Berky D Unever15.625
meeting any conditions will be placed in
the group corresponding to null 10[ Ariella K Floar 13.95 | (¥ EEFK_'.I' O Balanc 147

The following options are often used with the enum() function to perform various grouping:
o @p Return a sequence composed of 1Segs of the sequence numbers of members in each
group

<> @n When all conditions cannot be satisfied, return E.len()+1. This and @r option are
mutually exclusive . Null condition is not required now.

- | N ember ID[ NAME [EVENT|SCORE
=deran cueryi "select * fiom 238] S 2 | Berky Downie|Vault [15.025

’ GYIECORE") M \ Ariella Kaslin |Vault | 15.35
2 | [=157=1457=14] 145, .] 6 | Berky Downie| Unever[15.625
3 =41 enaraf@ng &2 SCORE) / [19]
'A

4 With @n option, any record which does
ID|_NAME | EVENT|SCORE not meet any condition is stored in a new

10 Ariella W Floor 413.85 | |group without null condition

7.4 Join

esProc also provides the join operation like SQL does, but this kind of operation has become
not common since esProc began to provide the reference mechanism for records and the RSeq, as
well as align and other alike functions.

7.4.1 Equal Join
JOIN(Ai:Fi, X, 05000)
Join Sequence A,,... on the condition that the corresponding fields (expressions) X;,... has the
same value, and generate a TSeq with F;,... as field to save the results. F; takes the member of A,
as its value.
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- STATEID MAME ABBR =
1|Alabama AL 1=
=dermo.guery "select * from
1 STATENAME" 2 2 |Alaska AR
5 =derno.query “select * from o4 3| Arizona AZ
SO MAGFNENE 4|Arkansas AR |
=derno eyt "select * fio — =
® | STATEINFO") STATED | CAPITAL A
=joirf s ] Marne ST A TEID, =
4 AE:Capita],STBTEI'ﬁ' : 1 |Montgomery =
Ity STATEID) 2 [ Juneau
. 3 | Phoenix
Mame | Capital | Info || = .\ 4 | Little Rock
1 -L," ‘1 ““““ E ElCarrammnantn :
2 S12 e 2" STATEID |POPULATION AREA |~
3 3 3 1 4779736 r2419 [ =
4 4 4 Feed. . 2 710231 BE3267
E E E b BN 3 6392017 113998 I
4 2915918 52897 ||__|
E ITIEINOEE agazonll™

join function approximately acts as the following statements in SQL.:
- select A.* as F,... from A;,... where Ai.x; =... and ...

This is also the most common writing style of join in SQL.

The join function has three common options as follows:

<> @f Full join. Every member of A; appears at least once. Use null if there is no
corresponding value.
<> @1 Left join. Every member of A; appears at least once. Use null if there is no

corresponding value. Note: the 1 in the option is a digit instead of the letter I. esProc does not
use the letter I in an option.

i STATEID| MNAME | ABBR [«
=dgm_qu313r|:"se]f;ct * fyorm | 1 [Alabama | AL E
I | STATENAME") step(2,1) > 2| Arizona | A7
=dermo.guery "select * fror —
2 STATECAPITAL" step(2,2] 5 [ Californial CA
=deran gueryt "select * from 7 | Connectig CT |
3 STATEINFO") step(3,1) ol Clarida Cl =
=join@f{ &1 Maree STATEID, STATEID CAPITAL ||
4 | A2:Capital STATEID AT Info, > Junean =
STATEID) . ]
=join@1 (L1 Nare, STATEIL]; 4 |Little Rock
5 | &2:Capital STATEID A3 Inf}, & | Denver
STATEL 8 |Dover -
A0 | A e mtn S
Mame |Capita ﬁfﬂ || |Name|Capital Info |[ =] STATEIDIPOPULATION AREA || =
1 1 — |1 1 = 1| 4779736 | 52419 |[=
3 - 4| 2915918 | 52897
3 3 7| 3574007 5543
7 7 - 4 4 - 10| 9687653 | 59425 |||
0 = 47 A IOE DT EAQTE -
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7.4.2 Apposition Join
pjoin(xi:Fi,...)
Xj IS @ sequence; generate a TSeq with F,...as field, in which F; of the record K™ gets assigned

with x;(k), that is, joining members of sequence x;,...in order, with a length subject to the smallest
one, X;.len(), and then return the TSegq.

y.N STATEID| MAME | ABBR
i =derno.query "select * from 1| Alabama| AL
STATEWNALIE" step(14,1) 15 [ lowa A
=derno.cuerst "select * from
2 |STATECAPITAL" step(11,1) 29 | New Harn NH
=derno.query “select * from 43 |Texas |TX

3 STATEINFO" step(20,1)

=pjoin{&1 ZNEIHE,EQ:C&FH&L&Q.’" STATEID CAPITAL
! o}y o~ 7 1 |Montgomery
‘‘‘‘‘‘‘ 12 |Boise
"""""" 23 [3aint Paul
I:I\JE”-r1IE iiquﬂ-'}lnfn ........................ 34 |Bismarck
15 1 21 i STATEIDPOPULATION AREA 45 | Montpelier
o 1| 47797236 [52410
a7 21 6547629 105
suplect o e smales 41 514180 77184

When members of a record sequence are joined in apposition, the joining order conforms to
the order of the records and the field stores the records from the original table.

7.5 Application of Data Association

The data association is used widely. Regarding data analysis, data preparation, and other data
process work, you will need to perform grouping, summarizing, joining, and other operations
related to data association.

7.5.1 Group and Collect Statistics on Wine Inventory according to Requirements
The LIQUORS table in the database stores various data on liquors, such as the name, type,
origin, inventory, and other information:

LID MAME TYPE PRODUCTION STOCK ||
1 |42Below Vodka Vodka Mew Zealand 301 ||=
2 |Absolut Vodka Vodka Sweden 95
3 | Appleton Estate Reserve |Rum Jamaica 202
4 |Bacardi Superior Rum Puerto Rico 741
B [Railevs Irish Cream Cnrdials Ireland A4 -

»  Collect statistics on the types of liquors in inventory and the total inventory level of
various liquors.
Collect statistics on the inventory level of each kind of liquor. You are only required to group
by the TYPE field, and collect statistics respectively:
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1 =dermo.guery "select * from LIQTORS")
a =41 group(TYPE)

=42 new( T YPE,~ count{):Count,~ surm
3 |isTOCK Stack)

Get the liquor information from Al. In A2, group by the TYPE; In A3, compute the resulting
TSeq based on the grouping data in A2.

After cellset computation, you can view the grouping of records in Al from A2:

Member || = LID MNAME TYPE [PRODUCTIONSTOCK]| =~
[11,16,21, ..] =Doub|ec|ick 12 | ¥ 0. Hennessy ¥. 0. Cognac| Brandy| France 168 |LI=
[12,22 30, . 3= toview details | |22 | Martell Medaillon Brandy| France aa

of records in "
[5] the group T Martell Medaillon Brandy| France 216
14,2432, ] 37 | Club De Remy Martin Brandy| France 200 |
4047 1 il AA [0 Conrenicier % 0 Brandu Franre el

The resulting TSeq in A3 is as follows:

TRE Count Stock =
Aperitif ] a0o0
Brandy 11 1941
Cordials 1 434
Gin g 2410 ||=
Lirtenr 13 IR0 =

»  Collect statistics on the respective types of Rum, Brandy, Gin, and Whisky in inventory,

and their total inventory.

From the above statistics, we can see that the record is sorted by TYPE field first and then
group the record of TYPE field if group function is used directly. The align@a function is
frequently used to group records by a specified order.

&
1 =dermo.guery "select * from LIQUTORS")
2 [Foare, Brandy, Grin, Whisksy]

3 |=Al align@al 2, TYPE)

=&3 new( T YPE,~ count{):Count,~ surm
4 |(STOCK ) Stock)

In A3, group the liquor information in Al in alignment by the TYPE field against the member
values in the corresponding sequence A2. The resulting TSeq in A4 is as follows:

TYPE Count Stock
Rum ] 2077
Brandy 11 1941
Gin g9 2410
Whisky 13 3813

»  Collect statistics on the liquors of OverStock(>500), LackStock(<100), and
NormalStock(enough) respectively, and compute the total inventory level of each group.
Enum grouping can be used to group records by certain conditions.
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L B
1 =derno.uery "select * from LIQUTORS™)
2 #=300 CreerStock
3 #=100 LackStack
4 null Mornmalstock
i =41 prurnl[&2: A STOCE)
=5 newt [B2:BA](# Condition ~.
6 connt( ) Count ~ sum( STOCE ) Stock)

In A5, group the records in Al by STOCK according to the grouping conditions; In A6,
according to the grouping result in A5 and the name of each condition , you compute the resulting
TSeq as follows:

Condition Count Stock
Owerstock 2 1262
LackStock 16 927
MormalStock 50 14211

7.5.2 Data Preparation for the Sales Statement
The SALES table in the database stores the sales information over a time. This table stores
information including the ORDERID, CLIENT, SELLERID, AMOUNT, and ORDERDATE:

ORDERID CLIENT SELLERID AMOUNT ORDERDATE || =
1| UJRNP 17 392.0 | 11-02-2008 151 =
2|S8JCH ] 4302.0 | 11-09-2008 15
3 |UJRENP 16 13500.0 | 11-05-2008 151
4 |PWQ g9 26100.0 | 11-08-2008 154
5| PWQ 11 4410.0 | 11-12-2008 1511
6 |HANAR 18 6174.0 | 11-07-2008 15:3__|
FICi™ L A7onnn l44 ne anno 454

In this case, taking year as parameter, we need to retrieve the sales data of this year and last
year to prepare the object table. In the object table, list the number of sales person, sales of this
year, sales of last year, growth rate, number of clients, big client (number of clients to whom the
sales exceed 50 thousand yuan), and the proportion of the big client.

Because you need to compute the data for each sales person, after retrieving the sales data of
the recent two years, you need to group data by the sequence number of sales person first, collect
statistics on the annual sales data, and then collect statistics on the sales data of each client after
regrouping by the client.
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P =

Program parameter @
[]Setarguments before run OK
Mo. Mame Value Remark Cancel
1 [|year 2010
Add
Delete
Up
Down
L B

=derno query "select * from SALES
1 where ywear{ ORDERDATE] in ()",
[rreat,year-17)

2 =41 group(SELLERILY

=createl3eller]d §{ stringyeari+"
Sales"},${ stringlvear-1)+"Sales"},
3 CustCount, BigCustCount,
BigCustRate, GrowthRate)

4 (=) for &2 =&4(1) SELLERID
=round &4 selectyear{ ORDERD & TE)==1ear) sutn
5 (AMOUNT).Z)
=roundl &4 selectyear{ ORDERD A TE)==1ear-1).
£ sl AOUNT), 2
7 =84 moup(CLIEN T (round{~ swral AWIOU T, 25
2 =BT count)
o] =B7 count{~==50000)
10 =round{BNBE.2)
11 =round({B3-B&)EB6,2)
12 =73 inzert(0 B4 BS Ba BE BO BIOB1L)

In A1, retrieve the sales data of this year and last year, taking year as parameter. In A2, group
the retrieved data by the sequence number of the sales person. In A3, establish the result TSeq.
The code after the 4th row will loop the sales data of each sales person in the A2 to collect the
statistics. The sequence numbers of sales person are obtained in B4. The total sale of 2010 is
computed in B5. The total sale of 2009 is computed in B6. In B7, the sales data will be re-grouped
by CLIENT, and the total value of the orders for each client is computed. According to the
computation in B7, the total number of clients of this sales person is computed in B8; and the
number of big clients of this sales person is computed in B9. The proportion of big clients is
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computed in B10; the growth rate of sales of this sales person in 2010 is computed in B11. After
computation, in B12, fill the statistics of this sales person to the resulting TSeq in A3.

After computation, you can check the result of data preparation in A3:

Sellerld20105ales20095ales CustCountBigCustCount BigCustRate| GrowthRate || =
1|265934.0 [313228.0 22 1 0.05 -0.15 || =
2|301502.0 [298006.0 22 3 0.14 0.01
3|279986.0 [142054.0 17 2 012 0.97
4 |228070.0 [237614.0 19 3 0.16 -0.04
5(175478.0 [252204.0 19 2 0.11 -0.3
6(198150.0 [246882.0 19 2 011 -02
FIACSAON O | A 2200 0 L= ] Nn4% nnoll™

7.5.3 Payroll Computation
The EMPLOYEE table in the database stores the employee information, such as the name,
state, gender, birthday, and basic salary:

EID MAME |SURMAME|GEMDER| STATE | BIRTHDAY |HIREDATE [DEPT|SALARY] |
1| Rebeccg Moore F California | 1974-11-20| 2005-03-11R&D | 7000 || =
2 |Ashley [Wilson F Mew York |18980-07-19) 2008-03-16 Finan 11000
3 |Rachel |Johnson |F Mew Mexicg 1970-12-17| 2010-12-01| Sales 9000
4 |Emily | Smith F Texas 1985-03-07| 2006-08-15 HR 7000
5| achlsy | Smith E Texas 19750513 20n4-n7-20 RN |_1A000 |7
Days absent from work this month of each employee are stored in the ATTENDANCE table:
EMPLOYEEID ABSEMCE

1 1.00

3 2.00

i 1.50

4 3.00

The employee evaluation and bonus in this month is stored in the PERFORMANCE table:

EMPLOYEEID | EVALUATION BOMNUS
1 0.75 6000
2 0.90 10000
3 1.10 2000
4 0.80 200
5 1.40 3000
6 118 4000

salaryPaid = SALARY*(1-ABSENCE/(250/12))+SALARY*(EVALUATION-1)+BONUS

The employees not in the ATTENDANCE table are considered full attendance, and the
employees not in the PERFORMANCE table are considered to deserve a 1 evaluation and 0 bonus.
Compute the name and salary to be paid of top 5 employees with the greatest difference between
standard salary and salary to be paid.

Because not all employee records are contained in the PERFORMANCE table and the
ATTENDANCE table, you cannot perform computation directly with the sequence numbers. You
need to conduct alignment grouping or equal join on the records in the ATTENDANCE table and
PERFORMANCE table according to the employee number, and then collect the statistics.
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Style 1: Without join

& B &
=derno query "select * from
1 | EMPLOVEE"
=dermno.query "select EWPLOVEEID,
2 LBSENCE from ATTENDANCE")

=derno cuery "select ERWPLOVEEID,
3 EVALTTATION, BONTS from
PERFORNIANCE"

4 =52 align( & |:.FID, EMPLOYEEID)
5 =43 align( s 1 EID EMPLOYEEID)
fi
1

a
(=) for &1 =ATSALARY |=B7
if Bigh Tyl =mll =CV=BTH1-A4EAT).
8 LBSENCER2501123)
if B S(EL 7=l =CISCIHBETRASELT).
0 EVALTTATION-13+45
(#LT) BONTS
10 ==k around{CT-BT7.2)
11 =L peort{ahs(~) - 1toll,5))
=A1(8110 newi A TWVE+"
12 "+5URN ANE Fulllfarme, L6041 1(#)
+5 AL AR Salary)

In Al, A2, and A3, retrieve employee data, attendance data, and performance data from
database. In A4 and A5, perform the alignment grouping on attendance and performance data
respectively by employee ID. In A6, prepare an empty sequence to store the difference between
the actual salary and standard salary of each employee.

In the code block of A7, compute the difference between the actual salary and the standard
salary of each employee by loop: in B7, get the standard salary; in C7, store the actual salary; in
B8, if this employee has the absence record, then compute the salary according to the days absent
from work; In B9, if this employee has any record about performances, then compute the salary
according to his performance; in B10, compute the difference between the actual salary and the
standard salary and store the result into the sequence in A6.

In All, compute the sequence numbers of top 5 employees with the greatest salary difference.
These sequence numbers are the same as those employee numbers in A1’s employee table. Finally,
in A12, compute the resulting TSeq on the basis of the data of these 5 employees.

The resulting TSeq in A12 is as follows:

FullMame Salary
Ashley Smith 25400.0
Azhley Wilson 19900.0
Fachel Johnsaon 17036.0
Matthew Johnson 16188.0
Rebecca Moare 10914.0

Style 2: With join:
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-y B C
=derno cuery "select * from
1 | EMPLOYEE"
=derno query "select ERWPLOYEEID,
E LPSENCE from ATTENDANCTE"
=derno.query "select EWIPLOVEEID,
3 EVAILTTATION BONTS fram
PERFORMIANCE™
ot 1A ] Info EID: &2 & ttendance,
4 EMPLOYEEID &3 Performarce,
EMPLOYEEID)
5 =54 dertvelSalary)
§ (=) for A4 =54 Info. =Bf
if &6 Attendance =CA=BA*(1-4A &ttendance.
! I=rmll EPRSEMCER2507120
if &6 Perforrnance =CA=CA+Ba* LA Performance.
2 I=rmll EVALUTATION-1+AE,
Performance BONTS
9 =L Salary=ronndC6,2)
=L zort(abe(Salary-Info SATARTY):
10 1ytoi1,5)
=10 newtInfo MALE+" "+nfo.
11| SURNAME FullHare, Salary Salary)

In A4, through the equal join regarding the employee 1D on the EMPLOYEE table,
ATTENDANCE table, and PERFORMANCE table, all information of an employee will be
consolidated to form a TSeq. @1 option is needed to perform left join during the operation. In A5,
the actual salary field will be added to the TSeq of A4. The following computation is similar to the
style 1. At last, in Al1, return the information of the top five employees with the greatest salary

difference, and the result is the same:

FullMame Salary
Ashley Smith 25400.0
Azhley Wilson 19900.0
Fachel Johnsaon 17036.0
Matthew Johnson 16188.0
Rebecca Moare 10914.0

With the join(), the data from different tables

can be consolidated to a TSeq clearly. The train

of thought is much clearer when collecting statistics.

8. Database

8.1 Connect databases

8.1.1 Datasource Manager
To connect the relational database:

»  Click the Tool -> Datasource connection menu item, open the Datasource Manager.

Create a new datasource, and select the

type.
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Database type [
rDatabase type oK
i IDBC
Cancel
i ODBC

Select database type, charset and other information; set the datasource connection
parameters and name the datasource.

Datasource

r General properties r Extended properties |

ib)g

Datasource name Database vendor Cancel
‘sqlsvr ‘ ‘MS_SQL_SeNer |v| =
Client charset Database charset

I150-8859-1 |+ | s0-8850-1 ||

Driver

‘com.micmsoﬂ.sqlsewer.jdbc.SQLSewerDriver |v|

Datasource URL: Remember to replace the contents in brackets

‘jdbc:sqlsewer:!ﬁ92.188.0.1:1433;DatabaseName=test |v |
User Password
|Sa - |

[[] Convert charset of retrieving statement  [_] Convert charset of retrieved data [] Case sensitive

[] Qualify object with schema [ ] Enclose object name in quotes

Connect, and the Datasource Manager will display if the Datasource is connected
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successfully. In the Datasource Manager, you can connect to multiple databases at the
same time.

o . ==

[Swstern] deran [Cormected]
test[Mot conmected]
soylsvr[Connected]

8.1.2 Database Connection Function
Besides the connection and disconnection from datasource in the Datasource Manager, the
database connection functions are also available in esProc.

connect(dbn)

Connect to the datasource dbn, name of the datasource and connection parameters are
configured in the Datasource Manager. Return the database connection object db. This object
can be invoked directly with the cell name.

<> @e Error message will be returned and handled by the code if errors are caused.
Otherwise the execution will be interrupted.

When connect function is used with the @e option, you can check the error information with
codes:

db.error()

Return the error code of the previous command regarding the database operations, and 0
indicates no error.

<> @m Return the error message string of previous database-related command.
db.close()
Close the database connection object db.
4 |
1 =conmecti "deran ") ﬁ Connect to datasource demo I
2 =41 ety "select * frora FOODS")
¢ =841 closel) % Close the datasource connection in Al I

8.1.3 Commit transaction and Rollback transaction of the Database
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In esProc, non-automatic commit is allowed when you execute certain database functions.
Then, you can use functions to control the commit and the rollback of database.

db.commit()
Commit the operation on database to the database.

db.rollback()
Rollback the database, and cancel the operation pending commit.

8.2 Data Retrieval from Database

8.2.1 Retrieve TSeq with SQL
db.query(sql...)
Execute the sql statement in the datasource db, and return the resulting TSeqg. sgl statements
can have tailing parameters, and you may directly add the parameters after statements.

- db.query("select * from employee")
- db.query("select * from employee where dept=?", 3)

A | B | c |
1 =ponnect] “dema")
=& 1 cuery "select * frorn =41 guery "select * from =41 guery("select * from
a ADVEHTURE") LDVENTURE where LTWEHTURE where
NHI‘-.-'IE??","I‘-.-’I"}‘ MAME=? and AID=2""1]",5
3 =81 closel) Scenic spots whose names are
alphabetically behind "M"
w Scenic spots whose names are
AlD MAME COUMTREY)| = Iphabetically behind "M" and
1|Grand "ICEIFI olus ; AlD MAME COUNTRY erial numbers are below 5
e ! i — | 3|vosemite NajUs T
dlilua-kana
- 4 |Moab Us AlDY NAME = |COUNTRY
3| Yosemite Naj US 5 | Sequoia and |US 3 [Yosemite Mal U3
4 |Moab s
i < | 8|oympicNati{us 4| Moab Us
ElConnnia andll 2
<> @1 Only return data of the first row. The returned value is single-value or the sequence
instead of the TSeq.
- Member
Return a sequence since 1
=derno.quersifd 10 "select * frora e data of 17 row is from _
1 LDVERNTURE") multiple columns Grand Canyon Mational Park
3 Frgﬂmmi%u;]?ﬁﬁﬁﬁﬂ et =~JReturn single-value since us
the data of 1% row is from
one column Value
Grand Canyon Mational Park

db.query(A,sql...)
For the sequence A, execute the sgl statement on the data source db, and return a TSeq

incorporating the result sets. The sql statement can have parameters and you can just add them
after it.
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" | AlD MAME |COUMTREY
7 2 [Kailua-Kg L3
=derno.query [2,5,7],"select * frorm -
Df;“ LDVENTURE where AID=7" ~) >5 Sequoia { US
rE =create! Flurm). nsert{(, [24,6] ) insert{0, 7 | Clacier Ml US
[5.0] T T.6]) insert(0, T
7 =dermin.query b “zelect * from ALl MAME |[COUMTREY
ADVENTURE where AID in (73" Nura~_ > [Kailua-Kd US
i Si
A 4|Moab | US
16 [Denali N{ US
5 [Sequoia {US
G [Denali MqUS
7 | Glacier M| US

After retrieving data from a TSeq, you may need to perform the switch operation on the TSeq,
and the short form is as follows:

Execute the query() function first, then perform the switch() operation on the resulting TSeq.

ABBR NAME STATEID | 4|
ﬁ AL Alabama 1=
=derno.quersyt "select LBBE,

1 HWAMESTATEID from STATES"T (0K Alaska 2
=0T qUeryl Select ¢ lrorm AL Arizona 3
CITIES" STATEID, &1 STATEID) R Afkancas il
CID MAME  [PoPOLATIONSTATEID| «| c2 Califarnia sl X
1 [New York 8084316 | NY =
2 |Los Angeles 3795981 CE S
3 | Chicago 2886251 | IL N AR NAME STATEID
4 |Houston 2009834 | TX n CA California 5
E | Philadalnhiz 4403334 | P -

8.2.2 *Execute the Stored Procedure in the Database
db.proc(sgl,a:t:m:v,...)

Call the stored procedure to compute. For any possible result returned, it will be carried out
with the v in the parameter.

The stored procedure is different to the normal SQL. In addition to the input parameter, there

are still the output parameters. The return value of stored procedure will be taken out with the
output parameter v.

8.3 Write to Database

8.3.1 Execute the SQL Command in the Database
db.execute(sql....)

Run sgl statement in datasource db, ““...” is a parameter. Unlike query function, execute
function will not return the result set. It is usually used to override the database data.

db.execute("delete from EMPLOYEE where DEPT=?", 3)

Similar to query() function, the execute function can also work with an RSeq or a Sequence:
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db.execute(A,sql,...)

Run sgl on every member of Sequence A. If A is an RSeq, you can use the fields of A in the
same way as using the loop function in the parameter expressions.

- db.execute(A,"update EMPLOYEE set NAME=? where EID=?",Name,|d)

A | ID| Name |GenderAge
i | =filet" D fesittistudents tt™) 1|Emily |F 7

2 |Elizabeth| F 17
2 |=Alimport@t) P

=detn execute( .2, "update STUDENTS! st MaME=p, | 0| Z3chan [M 19
(ENDER=?,(E=? where 1D=?",Nm,@e.§t@,m) 8|Megan |F 18

Update table students 1 in the
database with the table
execute() function will usually auto-commit to the database after execution. If the manual
control is required, then you can use these options.

X3

%

@k Execute the SQL statement with no transaction committed.
@s Run the static SQL statement directly without pre-parsing, and the parameters
cannot be used.

0.0

When using the @k option, the transaction will not commit automatically. You will need to
use function db.commit() to commit or use function db.rollback() to roll back and cancel the
modification.

4 | B |
1 =filei "Drifilesitxtistudents txt ")
2 =81 importiEt)
3 =conrecti@el"derna") ﬁEstablish database connection |

=83 execute@hi A2, "update STUDENTS] set
4 MAME=?, GENDER=? &AGE=? where [D=7",

Maroe, Gender, & ze 1T
5 =A73 errom) —ﬁcheck the error code after executing A4 |
& if & 5==0 =53 .CDrﬂIﬂitISlﬁCommit if no error |
7 else #h3 'muhaﬂkoﬁl?oll back if any error |
2 =43 close)

8.3.2 Update the Whole TSeq
You can also use update function to write the whole TSeq to the database.

db.update(A,tbl,Fi:xi,...;P,...)

Update field F; in tbl table according to A and assign value x; to it; use the field value of the
same name if x; is omitted. The P,... in the expression is the primary key for updating. If not
specified, then the primary key will be retrieved from table tbl. If the retrieval fails, then the
primary key of A will become the substitute.

- db.update(A1,EMPLOYEE, NAME:FullName,EID)

A is an RSeq usually. For every record in A, if the primary key value exists in tbl, then an
UPDATE statement will be generated. Otherwise, INSERT statement will be generated.
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b | IO Mame |[GendernAge
|| =file("Doifilesitetistudents txt") 1)Emily |F 17
o 72 |Elizabeth F 17
=demo. update( 42, STUDENTS1,ID HAME Nawe, | | 0 |23CNaN [ 19
3 | GENDER.Gender, AGE:Age 1D) 8|Megan |F 16

Update the retrieved TSeq in
the file to the STUDENTS1
table in the database

When update() function is working, several options below are often used to perform various
operations:

X3

%

X3

%

X3

%

X3

S

@u
@i

@a
@k

@1

Only generate UPDATE statement.
Only generate INSERT statement.
Empty the target table before updating.
After updating, do not commit transaction. The transaction will be committed
automatically by default.
The first field is the independent increment field. During updating, no value will be
assigned to this field.

8.4 Use SQL Directly

$(db)sql;...

Execute the SQL statement directly in the cell in the data connectiion db. If the (db) is

omitted, then use the db just worked in the previous statement. The SQL statement can be with

parameters which simply follow the semicolon. When using the SQL statement, you are not
required to add the equal mark before it or mark it with quotes. The beginning words are limited to

- $§(db)select * from EMPLOYEE
- $select * from EMPLOYEE where DEPT=?;3
- $update EMPLOYEE set NAME=? where EID=?;"Harry",1

A |

=connect("dero")

$i s select * from
LDVENTURE

S b 1hselect * from
ADYENTURE wrhere

select/insert/update/delete only. Using the select statement will return the result set.

Specify the

the result set.

datasource to execute
the select statement

——qwith (A1), and return

AlD

MAME

COUNTRY

Grand Cany

us

Lin]»

Kailua-Kan

us

>

Yosemite M

us

Maoakb

us

MALTE=? and HID*‘-C'?;"I'I.I'I",j\
fupdate STUDENTS1 set
HaWE=? WHERE ID="."
Haney",1

thus use the db
connection in the

Omit the (db) and

previous sql statement

T | B | L | PO =

Soninia an

(L=

AlD

MAME

COUNTRY

Yosemite M

us

Moab

us

NS
=L1 closze) [Execute update
tatement and return
he updated number
ords

Value

.
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9. High-level Code and Its Application

9.1 Long Statement

If any long statements cannot be displayed fully when written in one cell, then you can write
them in multiple cells according to the sequential cell rule.

If a computational cell or an execution cell ends with ",", ;" or (", it will concatenate with
the contents of the next cell till the cell doesn’t ends with these characters or reaches the end of
this code block.

1 BE
2 (=) ==if{ & 1==80:"Heavyweight ", & 1==0%"Dliddleweight ", &1==38"Lightweight", "Flyweight ")

Value
Middleweight
& B

1 Diepmty Drvision Chaef
2 (=) ==case(t], "Drvision Chief™:500,
3 l "Deputy Division Chaef™:300,
4 y "Section Chief™:S00)

Value

300
The first cell of a long statement generally begins with sign "==" or ">>". This writing style

tells esProc to process the entire code block, which take this cell as its master cell, as a single
statement. Without these signs, other cells in the code block will be mistakenly executed by esProc
and errors will thus occur.

9.2 Computational Substatement

Following the JAVA convention, the assignment statement is also regarded as an expression,
which will return the value itself and support the parenthesis operator.

a=4 Assign 4 to a and return 4.
(a=3,a%a) Assign 3 to a and return 9, the computed result of the expression.
Value
. |/' 4
1 == Value
2 =a 4
3 =b=34"0)  — Value
4 =h g
Value
3

Some long statements are very complex, in which the temporary variables above may be used
for the computation, for example:

demo.query("select * from EMPLOYEE").select((a=demo.query("select * from FAMILY where
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EID=?", EID).select(RELATION: "child").sort(Age: -1),if(a.len()<2, false, a(1).AGE-a(2).AGE>= 2)))

The above code will find out the employees whose age differences of their first two children
are not less than 2.

This long statement is not allowed to be written into multiple cells by practicing the
above-mentioned mechanism of long statement writing style because the temporary variables are
used in it. In this case, you will need to follow the rule of computational statement to write the
long statement into multiple cells.

IA1: The employees whose age differences of
L e ; c
— . - mp— fhew_ﬁrst two children are not less than 2 are
- fF=clemo gqueri “select B
L MeMPLOYEE selet?) T
2 Find out children =dEI't'UII.q'IlEI'_',ﬂ'.:"SEIECt * from
data AWILY where EID=7" EID]
3 =P 2 select{RELATION :"child") ———
P "_.,.l jfBE.lEIII::IZb:g deslcending age
5 =B3 sort{AGE.-1)
The age difference of

& the first two children = LAGE-C5(2) AGE==1)
7 -:_.' else is not less than 2 =falge

In cell A1, you may find a "??" operator.
??

The operator ?? equals a function. It will compute in order the cells of the code block
except the current cell, which is the master cell, and return the cell value of the last computational
cell.

The whole statement becomes clearer with this writing style.

The computational substatement is a long statement that is quite special and also begins with
double equal sign "==", without which esProc will execute again the other cells in the code block,
and thus errors may occur.

9.3 Assignment Block, Execution Block and Comment Block

9.3.1 Assignment Block and Computation Block

In the above example of long statement and the computational substatement, cell strings of
the master cells all begin with == instead of =.

This writing style is to make esProc realize that the whole code block with the current cell as
its master cell is actually a single statement, which thus must be computed as a whole and cannot
be split. In this case, esProc will ignore other cells in this code block after executing this statement
according to the rule. Otherwise, without the operator, esProc will compute other cells in the code
block by default, and this may cause errors.

The executable cell works in the same way. When it begins with >>, it indicates that the
whole code block with the current cell as its master cell is a single statement.
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4 | B
1 =connecti@el"derno") | =A1quers“select * from EWMPLOYEE")
=41 execute!"drop table =41 execute] "create table ERIPLOVEE]L
2 ERIFLOVEEL"™ (EID int FULL AWE warchar30),
GENDEER warchar 100"
5 (=if==b] execute
4 Bl,
5 “ingert inta EMPLOYEE] (EID,
& FULLN&ME, GENDER) values (7,7,71",
7 EID HAWE+" "+5URNAME,
& GENDER)
9 Fﬁéﬁtﬁ?ﬁ%;‘ N EID FULLNAME | GENDER |-
10 =41 close() 5“ Rebecca Moorg 1=

F
Ashley Wilson |F
Rachel Johnso|F

F
E

Emily Smith

Schlow Smith

| e | Cad | P3| —

-

These code blocks, according to the types of statements being executed, are respectively
called assignment block and execution block. Accordingly, the above statement block beginning
with == is called computation block.

9.3.2 Comment Block
Similarly, when the cell string of a cell begins with /I, it indicates that the whole code block
with this cell as its master cell is the comment. This code block is thus called comment block.
When esProc runs into this kind of cell strings, it will skip the whole code block.

& B
1 (=f|lcorrnernt:
All the comment

2 Lnotel... block is the comment
3 2notel...

4 3note3. .

IThe ending line of a
4 =143 lcomment block starts
9.4 Macro

To increase the flexibility of the code, you need to generate the statement string dynamically,
and a macro may be used here.

The macro is bracketed with sign ${}, and esProc will compute the expression in ${...} and
take the result as the macro value to replace ${}. If ${} is quoted, then it will not be replaced. After
the replacement, esProc will resolve the statement. In this way, you can generate the expression
dynamically.
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L B C
1 [1,2,3.4
2 fune =41 518200 retmm B2 S
3 fune =41 St 4330 returm B3 10
_ " " Return Al.sum()
| =func( &2 "sum'™) value

9.5 String Constant

$[...] indicates that the string constant consisting of " ..."is equal to "..." in the esProc
expressions.
But there are a lot of differences between $[...] and "..." in the esProc edit interface. The cell

names in $[...], along with other standard expressions, will change according to the editing
operation; or the expression will be modified in executing copy and paste. While the contents of
"..." will not change according to the editing operation.

Thus, in some special circumstances that strings need to be adjust-paste along with the
editing, the "..." may be substituted with $[...], for example, the arguments of eval function, and
SQL statements in query function, etc. These arguments are all presented as strings, but they
essentially are expressions or SQL substatements to be parsed.

L B o D
1 Eeval §[C1+D1])  feval"C14D1") 1 4
2 |FadcaiD) [ CIADLY |2
3 evall§[C3+D3) feevali"C14+DLM |3 &

\ N

String in the "". Contents
in the string cannot be
adjusted when pasting
ith Ctrl+Alt+V

String constant. The cell
name in the string can be
adjusted when pasting
ith CtrI+Alt+V.

4 | B
1 =IIEID=4II =IIEID=14II
I=aﬂ;n5.iu513-r{%[§ﬂec-t;‘ from -:=d£mn.qu313r{$[select * fromm
2 A FLDILY where ${4117) (FAWILY where ${B111)

If macro exists in the string constant, then the cell name used in
he macro can be adjusted along with inserting and deleting
columns, or pasting with Ctrl+Alt+V

In the Section 2.2.2 String Constant Cell, we can define the string constant by starting with
the ', and the data in the string constant cell will be resolved as string directly, not requiring any
additional escape character. In the string constant cell, you can define the character string starting
with the equal mark or containing special characters.

- | Value
= = <=
1 |=, 3:, = —y 1 1
Value
LR i > Coifile b

9.6 Special Identifiers
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Some identifiers may include non-alphabetic or non-numeric characters such as %, () or
spaces, so they may be misinterpreted as a percent sign or parentheses by the engine. To avoid this,

a pair of single quotation marks may be used to enclose the identifier so as to differentiate the
identifiers from the special signs.

&

1 =derno.queryt "select * from STATES™)

2 =& ] alter{ A BBR_POPULATION, Area {Sq.r ) AREL)

3 }EmePDPULHTIDNfEIE& {Sopred ), 2) Population/A rea)

oremineses, spacesdecmal ot ABBR|POPULATION|Area (Sq.mi ) Population/Areal «
and other special characters may AL ATTA736 2419 g1.18 |=
|exist in the column name. In order to
avoid confusion, you may need to AK 710231 663267 1.07
indicate them with single quote. AZ 6392017 1139498 5607
AR 2915918 52897 5512
i1} ATIRIAAER AR3ATFON0 237 57 1T
9.7 Cross-Cellset Calling
9.7.1 File Path
« file@s(fn) Define the file object at the path fn. It is allowed that fn does not

contain any file path. For those file names not containing any path, esProc will search
the class path first, and then the list of searching path.

4 |
1 =file{ "D :ffileaftutfatudentas it ™) If it is not the full file path that in the file name, you can  use the
" " @s option to indicate that the file is in the application directory
2 =file@ sl "students txt")

Click the Options button on the Tool menu option of the menu bar to display the Option
window. In the Option window, set the list of searching path on the Environment tab. If multiple
paths are required to be set, use the semicolon to separate them:
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I ﬁEnuirnnrﬁent | Apr
Loy’
= name E:Mtoolsirags

Appearance

Option
Environment

General |

Log file name |E.\luols\raqsumesF’rUC\Iug\espruc.lug

Browse Cancel

dd

Searching path |E.\luo|5\raqsumesF'rUC\demo | Browse

——awypimain

Main path Browse

Edit

J U

Searching path |E:1.tnnlslraqsumesF'mt:\\demn

Date time format ~ [yyyy-Tmm W&59—1 |v|
——

Local host [192.168.0.1 | Localport o282 |

File buffer(Byte) | 55.535|i|

9.7.2 Return Value and End of Cellset
result x;,...
In esProc, to run the whole cellset, you can take it as a subroutine. In the cellset, use result to
return the result of expression x;,.... Return and terminate the program to release resources.

9.7.3 Cross-Cellset Calling
In esProc, you can execute cross-cellset calling. In other words, you can run the program
from other cellsets or use the computation in other cellsets.

call(dfx,...)

Call the cellset dfx, and take "..." as the parameter to input in correct order. When specifying
dfx, you can use the absolute path name of the cellset directly. If the absolute path isn’t used, @s
will find the file automatically. If there is any cellset parameter in the dfx, then use these
parameters "..." when calling the call(). These parameter values will be given to each parameter of
dfx, which are irrelevant to the parameter names in the dfx parameter list. dfx can also be a file
object. In that case, it will be loaded and executed directly.

For example, the cellset file sort.dfx is to sort the sequence in the parameter argl according
to the settings in the parameter desc (true for descending and false for ascending):

A | B
1 if dese result argl sorti~:-1)

2 (=) else result argl sort()
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s

=

Program parameter @
[ |/Setarguments before run OK
Mo. Mame Value Remark Cancel
1 |arg1 [1,5.3] —
2 |desc true

In other files, you can call sort.dfx across cellsets:

Member
" | 1

1 =call{"zort Afx",[1,5,2,3] false) =~——{Sort the sequence
[1,5,2,3] ascendingly ==

2
a =call{"sort.dfx",[1,4.3],true) \ 5
5

Sort the sequence
1,4,3] descendingl
[43] had Member

\ 4
3
1

When multiple results are to be returned from the cellset being called using result, you will
get a sequence as the final result.

9.8 Instant Computation Mode

esProc can also run in the instant computation mode.

Click "Switch to computing mode" button on the Tool bar, and enter the instant computation
mode.

Q| = | b | b@] [ p3]» a ||z

Al = Switch to computing mode |

In the instant computation mode, press the Enter key on the cell to compute the cell value of
this cell instantly:

q
] D:viles\dmaTon0a_os_o1.. o o B ffy|- EFY
: Yalue -]
=3k o 12
2 |=&145 —
N | eeereeereeeeseesereee -

In the instant computation mode, you must pay attention to the order of computation because
you can only compute the selected cell value each time. If the uncomputed cells are called in the
expression, errors may occur.

9.9 Use Constants in the Cellset

In the cellset computation, parameters are used frequently. For some repetitively used
parameters, you can set them as constants. The usage of constants is the same as that of the cellset
parameters, and you can call them with the constant names. However, constants and parameters in
the cellset are a bit different. The assignment is allowed for parameters in the cell while it is not
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allowed for the constants.
To view Cellset constant, click the Cellset constant button on the Tool menu:

Cellset constant

] Mame Type Walue oK
1 [param String John —
2 |pi Double 21416 Cancel
3 |param3 Sequence | [John,12,34.5]
Add
Delete

The constants can be various data types, such as string, integer, date, and sequence. When
using, you can call them directly with their names:

Walue

A |/)'Jnhn Smith
i | =parami+* Smith" Value
3 |mromdipirag — 28.2744
3 =paratn’ count() Walue

9.10 Execute Cellset Files with Command Line

Under esProc installation directory esProc\bin, you can find the esprocx.exe file, and you can

compute the cellset files with command line in the DOS environment.

esprocx <options> <dfxFile> [arg0] [argl]...
esProc can be launched with a command line in DOS. The option in the command line
provides options for setting the launch. The dfxFile is the cellset for esProc computation, and
[arg0] [arg1]... is the cellset parameters for computation. In computing the cellset file, the program
will automatically search the config.xml to retrieve the environment configuration data. The
config.xml file contains the basic configuration data of esProc, such as registration code, searching
path, home directory, and data source configuration.

esprocx C:\c.dfx

Export result. TSeq/RSeq is exported in the form of text

Execute the computation of cellset file c.dfx.

When the cellset file is being executed with the command line, the messages of startup and
end will be printed out on the screen.

> No export
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"4

Difiles\df\summation. dfx =
A B C | I
1 =argl-+argd
2 (=) result &1
3 Program parameter @
4
¥|[Set arguments before run O
5 U
6 Mo MName Value Remark Cancel
1 |argl
1
2 |arg2
@

Execute the command line to pass-in the arguments 100 and 5, and the result is as shown
below:

D:“FProgram Filesz6t4*eszProc hinreszsprocx F:issummation.dfx 1688 5
[2014-81-23 16:81:211 : [DEBUG] - Before calculating:Thu Jan 23 16:81:21 CET 28
14

[2814-81-23 16:81:211 : [DEBUG] - After calculated:Thu Jan 23 16:81:21 CST 2814

D:~Program Files64*esProc>hin

Use -R option to print out the result of calculation.
Ly B

1 =ponnect( “dema")

=81 guery "zselect DEFT NAME SATARY
2 fror EWPLOYEE where EID = 10"

3 =41 close)
4 (=) result &2

1 |
After the command is executed, the result is as shown below:

D:“Program Files64“esProc*binresprocx —R F:isgueryEmployee.dfx
[2014-81—-23 16:27:23]1 = [DEBUG] - Before calculating:Thu Jan 23 16:27:23 CST 28

Rebecca 7A8A
Azhley 1186808
Rachel 9888

Emily 7808
Azhley 16888
Matthew 11888
Alexiz ?66A
Marketing Megan 118688
HR Victoria e]515]5)
[2014-A1-23 16:27:231 : [DEBUG] - #After calculated:Thu Jan 23 16:27:23 C8T 2814

10. File System and Cursor

During data computing, analysis and processing, the file access is the common and important
demand. The file read-write and file data computing, and etc. all belong to the file access.

10.1 File System
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In the 2.8 Read and Write data with File Object , we explained the basic uses of file
objects in esProc. In this section, we will further explain the related functions of file system.

filename(fn)
Get the file name with extension, by splitting it out from the full path fn.

o @e Only split the extension name out

% @n Split the file name out with no extension kept

 @d Split the directory out

o @t It is for local use only. Under the same directory of fn, the temporary file of

the same extension name is generated and the file name is returned. If fn is omitted, under the
system temporary directory, a file name equivalent to the home directory will be generated.

B | Value
|| =filenare("Dofflesittiabe ") ——— |2bChd
3 | =flenarne@e! "D:flssitxtiabe tet ") — [ Vae
3 | =filenare@n("D:ifilesitxtiabe txt") et
4 | =filenare@d("D:ifilesitatiabe txt") \ Value
5 =f'ﬂﬂnmnﬂ@t("D:.ff'ﬂﬂsIt:n:tIa}Jc.txt} abc
WValue ¥ Value
D:\files\ittmpdata1780127675025507244 b D:\files\bxt

directory(path)

It is for local use only. List the file names matching the wildcard path path, excluding the
path names.

< @d List the subdirectory
¢ @p Keep the full path name
S @m Create directory

X3

*

@r Delete empty directory
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Member
—>| ESOIOC.EXE

b List the files with the extension exe
under the specified directory BSprocy.exe

=directorsy"E:

1 ftoolsiragsoftiesF rochin™ exe") , Member
e full path is kept -

=directory@p "E: hen the file is g‘.tnnls".raqsnﬂ".esF'm cibin\esproc.exe

E ftoolsiragsoftiesProchin exe"T listed [ :
) ] : E:toolsragsoffiesProcibintesprocy. exe

=directorn@m "E:
3 ftoolsirageoftiterap ) T————{Create the subdirectory temp Value

=directorni@d "E: > {rue
4 ftonlsiragsaft™) \ : — —

=deECtDI'_',@I1:"EZ Lli;the subdirectories of specified Member
5 ftoolsfragsoftiternp ) ™~ i COMmman

=directoryn@di"E: Delete the subdirectory temp \
£ ftoolsirageoft") I estale

ETTTOET esProc
The subdirectories after removing common \ Value Hub
emp esCalc true termp
“\[esProc
Hub

f.property(p)
From the property file object f, get the value of property p by name. If p is omitted, return a

TSeq composed of all properties.

A Retrieve
1 =file{"E:ftoolsiragsoftHub T nitLogzer properties " jjproperty from
logging Walue
2 =41 property "logd) logzer ragsoftLogger" femm———configuration EBUG LOGT LOG2

10.2 Database Cursor

You can retrieve massive data from database in batches by taking advantage of database
cursor.

db.cursor(sql,...)
Open a database cursor based on sgl and return it.

cs.fetch(n:x)

With the cursor cs, retrieve n records or keep on retrieving records till the expression x
changes. The retrieved records will be organized and returned in the form of TSeq. Null will be
returned if the retrieval reaches its end. When the remaining records in the database are less than n,
retrieve all of them. The cursor will be closed once all records are retrieved.

cs.skip(n:x)
n records are skipped or you keep on skipping the records one by one until expression x
changes, and then return the actual number of skipped records.

cs. close()
Close the cursor cs.
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& B C

Open a cursor

! =detnn oursan “select *
frorn ERMPLOYEE :' Retrieve data from the cursor,

:, for 150 records each time.

2
_ 7 Discontinue the loop once finish
3 =41 fetch(130) E“)retrieving the data
4 if B3==null e
Operate on the data retrieved.
5 0= else %

Once the last record is fetched or skipped in a cursor, then this cursor will be closed automatically.
for cs,n:x

Loop through the cursor, retrieve n records each time or retrieve the records till x changes,
then return a TSeq. Once the retrieval ends, close the cursor.
A | '

Loop through the cursor, retrieve 100 records each

=demo curson “select *
! | fiom EMPLOYEE"

2 for &1.100 =043=45+82 Jen)
3 I}

time and return, close the cursor when the loop is

10.3 File Object Cursor and Memory RSeq Cursor

In the section 10.2 Database Cursor, we introduced the basic method to retrieve the
database data with the cursor. In addition, you can also retrieve file data with cursor or build a
cursor by means of memory RSeq.

10.3.1 File Object Cursor
f.cursor(Fi:type;,...;s,b:e)

Based on file f, create the cursor and return it. Creating a cursor is similar to retrieving a
TSeq from files. You can also define the beginning and ending position of data and the fields to be
retrieved. Similarly, you can also use various options like the @t, @b, @z and @s. For the related
contents, please refer to the section 5.3.1 Retrieve and Write TSeq from File.

®,

e @x Delete the file automatically when the file object is closed.

The file object cursor is used in the same way as the database cursor:

A B | ¢ |
1 =file"Drifilesittfetnplotes ")
a2 =& 1 cursorit()
3 (=) for =82 fetchi1 500
4 if B3==nnll break
5 =B3 .zelect{ST ATE=="Califomia")
i =4T=HTB5
1

In this example, the file object cursor is used to retrieve the data of 150 employees each time,
of which the Californian employees are selected to store in the A7. The result is shown below:
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EID MAME [SURMA. |SEMDER| STATE
RebeccalMoore  |F

6 | Matthew | Johnson| M
g Megan [Wilson |F
23 | Joseph |Turner |M
27 | Alexis Jones  |F
29 | Olivia Harris  [F

http://www.ragsoft.com

—5

BIRTHD_ JHIRED...| DEPT |SALARY
Californig 1974-114 2005-03- R&D 7000

Californig 1984-074 2005-07- Sales 11000
Californig 1979-044 1924-04- Marketing 11000
Californig 1983-084 2003-08- Finance 6000
Californig 1983124 200312 Marketing 10000
Californid 1979-084 2009-084 Sales 2000 |

L] »

F.cursor()

Based on the binary file object - sequence F, create a cursor and return it. Each file will take
up a field.

10.3.2 Memory RSeq Cursor
P.cursor()

Convert an RSeq to a cursor with the aim to use the RSeq data in the cursor function, for
example, merge@x and join@x.

& B C
1 Ly drinistration 4 40000
2 Finance 24 177500
3 HE. 19 132000
4 Ilarketing oo 733500
5 Froduction ) 653000
& R&D 29 232000
7 Sales 187 132500
2 Technology 41 344000
0 =createl DEPT, Count, TotalSalary) record( [&1:CE])
10 =A% cursor)

The memory RSeq cursor in A10 is generated from the RSeq in A9.

You can also create a cursor from a dfx file.

pcursor(dfx,...)

Call the cellset dfx, and take "..." as the parameter and input it in correct order, and return the
result as a cursor.

10.4 Usage of Cursor
10.4.1 Cursor for Data Retrieval

In addition to the basic methods introduced in the section 10.2 Database Cursor for cursor

retrieval and skip, esProc additionally provides many other cursor-related functions. We will
continue to explore these functions in this section.

cs.select(x)

Filter the records in the cursor cs on condition x, and return a cursor. It is equivalent to
performing select(x) on records from cs.

& @c Only return the first continuous band of records that makes x true.
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L

1 =file "D Milesitxtlernplotes txt ")
a2 =41 cursorf()

3 =82 gelect(ST A TE=="Califtrnia")
4 =473 fetch)

5 =52 fetchi)

Filtering data with a cursor directly will lead to the same result as filtering after data
retrieving. The result from A4 is the same as that in the section 10.3.1 File Object Cursor. One
thing to note is that cursor in A3 is generated from cursor in A2. So, the cursor in A3 is to retrieve
the data with the cursor in A2. Once data is retrieved with the cursor in A3, the cursor in A2 will
also complete its data retrieval. Thus the result from A5 is null.

» fexport(cs,x:F,...;s)
Write the data from cursor cs to the file object f. It supports @t, @b, @p, @z, and @s option
of export function. Similar to f.export(A,x:F,...;s) in the section 5.3.1 Retrieve and Write TSeq
from File, you can also specify parameters x, F and s.

F. export(cs,x;:Fi,...;s)
Write the data from cursor cs to each file object of the file object sequence F. Each field will
be written to a file.

<> @a Append

cs.new(x...)

Create a new TSeq according to the definition in x. In data retrieving, get the new records by
computing the expression based on the records from cursor cs, and return a cursor. This is similar
to performing new(x...) on the records from cs.

&
1 =filei "D ifilestxt fernploses txt ")

a =41 cursoriit()

=42 new{MAREH" "+5URNANE FUTLLNAME,
3 ntervali@yw BIRTHD A Y now () AGE)

4 =53 fetch)
5 =52 fetch)

With the file data, compute and return the full name and age of the employees. The cs.new()
works in a similar way as creating a new TSeq based on an existing TSeq. The new cursor in A3
needs the cursor in A2 to retrieve the data. Once data is retrieved in the A3, the data retrieval in A2
is also completed.

The computed result of A4 is as follows:
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FULLMAME AGE ||
Rebecca Moore 33| =
Ashley Wilson 33
Rachel Johnson 43
Emily Smith 28
Ashley Smith 33
Matthew Johnson 29|

cs.derive(...)

Add computational fields to cursor cs, and return it as a new cursor. It is similar to run
derive(...) against the result set returned from cs.
cs.run(x)

Compute the expression x with the records from the cursor cs to generate the new records,
and return them as a cursor, which is similar to performing run(x) on the records from cs.

I S

1| =file("Difilesituteraployee txt™) NAME  |SURNAME STATE ||
=k 1 curson@it( FMAME, Rebecca Moore |Moore California “E
2 SURMAMESTATE) ) Ashley Wilson  |Wilson | Mew York ||
3 Tg%ﬁgﬁ%kmﬂma Rachel Johnson | Johnson | Mew Mexi cnll
mrCyoTE ———[Emily Smith Smith  |Texas  |_|
Al re St it Tavarn |l

cs.switch (Fj, Aizx;...)
Switch the records in the cursor cs to get the new records and return them as a cursor. This is
similar to executing switch(...) on the records in cs.

@i If the corresponding value of F; cannot be find after a record is computed based on A;,
then delete the whole record.

i =file("D:ifilesitxtierployes txt ") Rebecca Maoore California || =
" =k 1 cursong@it] MAME, Ashley Wilzon Mew York
SUEMAMESTATE) fRachel Johnson | Mewdlexico
=derno.quers "select MANME, : :
3 | ABBR.CAPITAL from STATES") Emily Smith Texag —
Arhln Crnith Toufe -
4 =82 awitchiSTATE A3 HNAME)

=44 fetch{) / MAME ABBR | CAPITAL
Mew Mexico M Santa Fe

You can see from these cursor functions that when a new cursor is generated from a cursor
function, the old cursor will become invalid and, in principle, shouldn’t be used any more.
Otherwise the new cursor and the old one will have mutual effect during data retrieval on each
other, which will produce unexpected situations or make the data retrieval failed.

cs.news(...)

Based on the expression..., perform the computation by using the records in the cursor cs.
Each record will be split into a Sequence or an RSeq. The members or records in the results will

be merged to return a new cursor.This is similar to the process that the news(...) is performed on
the records of cs.
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L
1| =file("Doifilesitetieraployee txt") HANE Ltem Date
Y " Bebecca Birthdayr 1974-11-20
2 =Al cusor@t() Fehecea Hirelate 2005-03-11
=7 newscreatel A TE Tter Date). - ——
3 | record(TAME, "Bithday" BIRTHDAY, Ashley | Birthdsy | 1980-07-19
NARE, "HireDiate" HIREDATE]Y) M =hl ey HireDate | 2008-03-18
4 =A3 fetch(5) Rachel Birthday | 1970-12-17
5 =835 close()

It can be seen that the number of records will be computed based on the splitting results when
you use fetch function to retrieve data.

»  csregex(rs,Fi,...)
Execute regex(rs) on each member of string cursor ¢s and combine the matching results
into a TSeq whose field name is F;,...

< @i Not case-sensitive.
< @u Use unicode to match.

The cursor’s regex function works in a way similar to how a TSeq works. Their
difference is that the former begins execution as the fetch function is fetching data.

10.4.2 Merge and Unconditionally Join Cursor Sequences
In some cases, the data is from multiple cursors. Considering this, esProc provides some
functions to merge or join the data from multiple cursors.

CS.merge@x(Xi,...)

Merge the records from cursor sequence CS, and return the cursor. During merging, the
records of each cursor must be ordered for expression x;,.... and in the same order as that of it.
Similar to A.merge(), this function supports @u, @i and @d and thus can be used to perform
operations of union, intersection and difference during merging.

Take the following case for example. The employee data for each department is stored
respectively in the txt files which are named after the department names. For example, the data of
Sales department is stored in Sales.txt. The employee data of each department is sorted by
employee number EID in ascending order. In this case, the data of each department will be
retrieved with the proper file object cursor and the employee data from all departments will be
listed by the employee number. So, we need to merge the records in each cursor:

&

[Firarice, Sales HE_ & drninistration,
L | Marketing Produstion R&D, Technology]

2 =81 (filel "D ifiles " ++" 2t "))
3 =42 [~ cursonit))

4 |=A3merge@:EID)

5 =A4 fetch)

A2 generates the sequence of file object of each department according to the department
sequences in Al; A3 uses the file object sequence to generate the sequence of file object cursors.
In generating the cursors, the @t option will enable you to read out the first row of text file to
build the data structure of each cursor; A4 merges the data of every cursor in A3. In A5, you can
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view the following result:

EID| MNAME [SURNAMEGEMDER| STATE |BIRTHDAY|HIREDATE| DEPT |SALARY| =
59 [David Texas M Pennsylvg 1877-12-24 2007-12-24 Sales 5000
G0 | Taylor Smith F Texas 1974-12-18 2004-12-16 Productiq 12000 ||=|
61 |Joseph | Smith M Californial 1974-11-11 2006-04-01 Sales 5000
62 | Emily Jones F Texas 1977-05-08 2008-06-01 3ales G500
63 | Samanthg Martin F Missouri | 1976-11-212006-01-01 Sales 7000
G4 |Mathan |Johnsan [M Michigan | 1986-08-28 2003-08-01 Sales 000
65 |Michael |Smith M Connectig 1971-03-03 2004-03-01 Sales 2000
66 |Madison | Davis F Florida |1982-11-08 2010-01-01 Sales 6500
67 | Cameron| Jones M Mew York| 1970-03-14 2003-07-01 Sales 5000
68 | Ashley Moore F Mew York| 1980-05-08 2007-04-01 Sales 10000
69 [Brandon |Wilson I Pennsylvg 1881-05-15 2002-11-01 Sales 7000
70| Brandon | Johnson [ Mew Yorkl 1976-07-28 2008-02-01 33les 10000 |

Retrieving the data from the cursors all at once is to describe the structure of the result. In the
practical big data computation, the data usually cannot be retrieved into the memory all at once. In
this case, if you need to merge and compute the data returned from multiple servers, you can use
the cursors to merge.

The cursor sequence in the merge operation can be composed of various cursors, for example,
file object cursor, database cursor, or remote cursor.

In some cases, you will have to combine the data from multiple cursors when using cursor to
retrieve data. You may choose the unconditional joining and conjunction with cursor.

CS.pjoin()

It is to join each cursor cs; of cursor sequence CS in alignment and return the result as a new
cursor whose minimum length is indicated by the minimum length of cs;. The alignment join will
add the fields from multiple cursors to the resulting TSeq one by one.

&

=filei "D :ifilesitxt fernplotyes txt ")
=i 1 cursor@t] M ANE,

2 |SURNAMESTATE)
=derao . cursor "select MAME,

3 | ABBR.CAPITAL from STATES")

4 | =[42.47 pjoin)

=A4 fetch)

The result of data retrieving in A5 is shown below:

MAME SURMNAME STATE MAME ABBR CAPITAL || =~
Rebecca Moore California Alabama AL Montgomery || =
Ashley Wilson Mew York Alaska AR Juneau
Rachel Johnson Mew Mexico |Arizona AL Phoenix
Emily Smith Texas Arkansas AR Little Rock
Ashley Smith Texas California CA Sacramento
L atth cnar lnhnenn ™alifnrnia Mnlaradn ™M Nonuar -

As can be seen from the result, the simple horizontal join is just to join the fields in various
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cursors. Even if there are duplicate fields such as NAME, they will not be processed in this
non-conditional joining. Of the data returned from the result cursor, the number of records will be
the minimum number of records in each cursor. During the non-conditional joining, it is required
generally that the number of records in each cursor should be the same.

CS.conj@x()

Vertically and unconditionally, join each cursor cs; of cursor sequence CS, and return the
result as a cursor. The data structure will depend on the first cursor cs;. The vertical join will add
records from multiple cursors to the resulting TSeq successively. All cursors are often required to
have the same number of fields. Records will be retrieved from cs; in proper order. Note: In order
to differentiate it with the conjunction function A.conj() for normal sequence, an option @x must
be added to the conjunction function for cursor sequence.

A |
1 =filei "D ifilesitxtiernplotes tx ")

=1 cursor@t( NAME,
2 |SURNAMESTATE)

=demo curson “select FATE,
3 APBECAPITAL frora STATES™

4 | =[82.47] conj@x)
5 =a4 fetch)

The result of data-retrieving in A5 is shown below:

MAME SURMNAME STATE
Micole Smith South Carolina
Joseph Smith Pennsylvania
Alabama AL Montgomery
Alaska AK Juneau —
Arizona AL Fhoenix —
Arkancac LR | ittla Bnrk :

From the result, we can see that the conjunction of cursors is simply to merge the records one
by one, and the data structure is determined by cs;. The data retrieved from cs; will be populated to
fields of cs; based on its position.

10.4.3 Cursor Join
In addition to the unconditional joining, esProc also allows for setting the equivalent
conditions, and associate the data in the cursor with the data from other TSegs or cursors.

join@x(csi:Fi.x;,...;...)

According to the corresponding fields or values of expression x;,... connect the cursors cs;,....
Generate and return the cursor with F;,...as the field. During retrieving, the value of F; is the
record retrieved from cs;. Because the records of each cursor is retrieved individually, the records
in each cursor must not only be ordered for expression x;,...but also have the same order. Similar
to join(), you can also use @f and @1 to compute full join or left join in joining cursors together.

For example, in the following case, join the record of each employee with its departmental
record:
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& B C
1 Ldraristration 4 40000
2 Finance 24 177500
3 HE. 19 138000
4 Ilarketing oo 733500
5 Froduction a1 HH3000
& R&D 2 2352000
7 Sales 187 1362500
2 Technology 47 344000
o] =create{ DEPT Count, TotalSalarey) record({[& 1 :C8] )
10 =[a 18 E] (il "D filesltat M+t 2t )]
11 =510 [~ cursor@i())
12 =411 merge@g DEPT)
13 =joir@xl (& 12 Employes DEPT A9 carsor):DEPT,
DEFT)
14 =413 fetch)

Note: We must make sure that the records in each cursor in A12 and A9 are sorted for the
corresponding departmental records. In Al4, we can check the data retrieved from the cursors all
at once:

Employee DEPT il
18 Administration =
20 Administration
26 Administration
42 Administration
Z Finance
13 Finance
23 Financg -
5 Cimmm e\ -
N\ DEPT Count | TotalSalary
Finance 24 177500

EID \| NAME [SURN..[GEND..| STATE|BIRTH..|HIRE...| DEPT |SALA .
23 | Joseph Turner | M Californ 1983-0¢ 2003-0) Finance 6000

In many cases, we are just required to query data in two or more tables and display it,
according to the relation of certain columns in them. This is similar to what join statements do in
SQL, which aims not to get a TSeq composed of records, like the result in the above example. To
deal with this kind of computation, fields can be added to the cursor directly according to the
relation.

cs.join (Xi..., Aty ziF o xi s Ay ziF L))

Join the cursor cs with RSeq A on condition that the results of computing expression x:... on
the records in cs are the same as the results of computing expression y:... on the records in A. If
the y is omitted, the condition for join will be the primary key of A. Once joined, the field F,...
will be added to the records of cs. The value of this field is the result of computing expression z in
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A. This function also allows for joining multiple RSeqgs with semicolon-delimited parameters.

@i If no corresponding foreign key in Ais found for a record in cs, then remove the
record from cs.

In addition, use cursor A instead of the RSeq in the join function cs.join(). In computing, all
records will first be retrieved from the cursor A to generate a TSeq. In other words, when using the
cursor A in the function, you must ensure that there will not be too massive/big data in the cursor
A to be read into the memory.

This join function is often used for processing big data table. When retrieving records from
cursor ¢s, you can associate it with other TSeqs or cursors on certain conditions.

&
1 =filei "D ifilestxt fernploses txt ")

a =41 cursoriit()

=52 new{EID NAME+" "+5TRN & WE:
3 FullMarne, ST & TE GEHDER)

=preate(Code, Tender) record(["F", "Female ", "Tv" "
4| naaey
5 =derno cursor "select * from STATES"™)

=43 joinf GENDER & 4:Code, Gender: FullGender,
6 STATE A5 HAME ABBER State fhhr)

7 =56 fetchi)

In the above figure, the code in A3 gets the desired fields from the file object cursor in A2;
AG joins the TSeq in A4 with the database cursor in A5 using the cursor returned from A3, in order
to get the full name of the genders of employees as well as the abbreviations of the states where
they come from. To illustrate the usage of this function, the data is retrieved from the cursor all at
once in A7.The result is as follows:

EID FullMame STATE |GEMNDER| FullGender State.ﬂ.hhrl:
1|Rebecca Moore |California |F Female CA =
2 |Ashley Wilson MewYork |F Female MY
3 |Rachel Johnson |Mew Mexico|F Female M
4 | Emily Smith Texas F Female TX
5 [Ashley Smith Texas F Female TX -
E |k aHhoser lokhmen T aliformin EA ¥ =1 =S (it} s

In practice, the result sets returned by cs.join() are generally quite large, the data will be partly
fetched from cursor each time.

10.4.4 Group and Aggregated Summarization
cs.groupx(x)

Group the records in the cursor cs with group@n() and return a cursor sequence. Because it
is impossible to load the data from the big data table into the memory all at one time, it seems that
the big data table cannot be grouped in the same way as that for the normal TSeqgs. To serve this
purpose, esProc especially provides this grouping function specific to cursor. In grouping, the
result of expression x is expected to indicate the sequence numbers of groups directly. After
grouping, multiple temporary files holding the text data will be generated to record the data from
each group, and a sequence composed of the cursors of these files will be returned.
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L Member
com.ragsoft.dm.cursor. BFileCursori@14eefbf

Eom.raqsnﬂ.dm.cursnr.ElFiIeCursnr@1fbd4eb

1 =file "D filesitxtleraplotes txt ")
2 =41 cursorf@()
3 =42 gronpediff GENDER=="F",1,2%}

Cursor grouping and summarizing is similar to A.groups(x:F,...;y:G,...) in 7.2.3 Group
summarization, it uses the method of aggregation.

cs.groups (x:F,...;y:G,...)

Perform aggregated group summarization on the data from cursor cs and return the resulting
TSeq. The function’s parameters are similar to those of A.groups(). It can also use @o option and
@n option. The expression y for aggregating is the same as that used in A.groups(), and only the
simple aggregate functions like sum/count/max/min/topx can be used.

The aggregated group summarization for cursors can be used in performing big data grouping
and summarizing. The usage is similar to that of grouping and summarizing a TSeq. What’s more,
it is also used to return the data through multiple cursors. For example, the server returns multiple
remote cursors in parallel computing.

Modify the dfx in section 10.4.2 Merge and Unconditionally Join Cursor Sequences, first
merge the data, then summarize and group the data of returned cursor list to compute the number
of male and female employees in each state:

A
[Firarice, Sales HE_ & drninistration,

L | Marketing Produstion R&D, Technology]
3 | =AL(file("Dofilesitat! a1t "))

3 =42 [~ cursonit))

=23 conji@a) gronpe( ST A TE pount

4 (GEWDER=="NM"):Nale count

(GEWNDER=="F")Female)

After performing aggregated grouping and summarizing on the returned data of remote

cursor list, you can see the result in A4:

STATE Male Female 1=
Maryland 3 1
Massachusetts 2 B |
Michigan 16 12|—
Minnezota
Mississippi
Mizssouri 2 |

10.4.5 Sort Big Data Cursors
cs.sortx(X...;n)

Sort big data cursor cs and return the result as a cursor. Parameter n indicates the size of
buffer. During creating the cursor, retrieve n records for sorting from cs at one time. The sorted
result will be cached as the temporary file each time. Perform the operation in cycles. When data
is retrieved from the result cursor, the retrieval will be performed on the file cursors of all
temporary files
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&
1 =filei "D :ifilesitxt fernplotyes txt ")
2 =41 cursori()
3 =2 st STATE S
4 =i fetch) \

EID | NAME [SURNANGEN..| STATE |[BIR.|HIR.|DEPT|SAL..
102 | Christian [Smith | Alabama | 1972 2000| Saleg1200(

282 |Kayla Cravis F Alabama (1970 2006 Saled&500
419 | Sara Davis F Alabama | 1984 2004 Sales5000
477 |Lauren | Smith F Alabama (1975 2007 MarquEDD -

AN | Cimemismlls | Cemith g AriTrmm e A008 000 TnﬁhJ?l‘ll’ll‘l il

The usage of cs.sortx() is the same as that of normal T.sort(), and the same result will be
returned. During sorting a table holding massive amount of data, usually the records cannot be
retrieved entirely due to the limited size of the memory, or the memory cannot hold the result table.
In this case, the massive data sorting function cs.sortx() is a good choice.

L] »

11. Authorization

11.1 Registration code

Normally, the edition of esProc is controlled by registration code. Please refer to our official
website for the differences between editions and how to get a registration code.

After getting the registration code, you can register in the esProc. The operation steps are as
follows:

»  Open IDE, and click the Help -> Registration menu item:

Registration @

Registration code: Scan

Product name: esProc 3.1
> : Reugister
Edition: Free Edition  [Enter registration code

-

Serial Mo ] Check points
Expiration date: Faor ever Close
User information I E

After entering the product registration code, click Scan button to see if the registration
information is correct. If it is correct, click the Regsiter button to start registering. The
registration code for free edition is empty.

11.2 Cellset Description and Cell Tips
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11.2.1 Description on Cellset
In esProc, you can set the cellset description in the cellset file.
In the Tool option on the menu bar, click the CellSet Description button. The cellset
description window will appear for you to view or set the cellset description.

11.2.2 Cell Tips
In the cell, you can add tips and comments to the computation in the cell.
Right click the selected cell and select Tips on the right-click menu. The cell tips window
will appear for you to set the cell tips in the window.
In esProc, if tips are set in the cell, then a green triangle will appear on the top right corner of
the cell. If the cursor hovers on the cell with tips, then the tips that you’ve set in the cell will
appear next to the cell indicated by the mouse.

D-files\dfxisumup. dfi

& | B |
q =poin=>3 rae=20 Y ISET wuin = 5.y = 20
3 e ‘IG' Set min = E,max:20|
3 (=) result A2 suraf) :J‘SUM UF &ND RETURN

In order to illustrate clearly, the cells of column B are filled with comments. Note that the
comments are different from the cell tips.

11.3 File Encryption

11.3.1 Permission

In order to prevent the unauthorized view of or access to the cellset, esProc has developed the
cellset encryption with the following two levels of authorizations:

Execution Right: You can set the parameters and execute the cellset, check the cellset
descriptions and the cell hints, but you are not allowed to change the information. When you are
only allowed to execute, you cannot view any string in the cell and cellset variables in the cellset.
After execution, you can view the cell value.

Full Control: You can perform any operation on the cellset.

11.3.2 Password Setup
In the Tool option of the menu bar, click the Cellset password button. The Cellset password
window will appear:

Cellset password @
oK

.

Cancel

Faor full control For execution

Click For Full Control button, you can set the full control password.
Click For Execution button, you can set the execution password:
Note:
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The privilege can be nullified with the corresponding password for such privilege. Once the
file is opened under the full control privilege, you can rescind the full control privilege and
execution privilege for this file. If the file is opened with the execution privilege, you can only
nullify the execution privilege password for it.

11.3.3 Control of Authority

If a password is set for the cellset, then Input cellset password window will appear to
prompt you to enter the password when you open cellset in esProc.

If the password is correct, then you will open the cellset according to the corresponding
privilege granted by such password. If the password of the execution privilege is the same as that
of the full control privilege, then the cellset will be opened according to the highest level of
privilege, that is, full control privilege.

If you’ve only got the Execution Privilege, then you are unable to view the cell string as
well as even the comments in the cell or the cellset variables. However, you can view the cell tips:

D:¥iles\dhisumup. dix

A | B |
1 b
- L\) 1 | Set min :E,ma}{:20|
30 :

Then, you can compute the cellset normally. If the cellset requires the parameter being set

before computation, you can set the execution parameter. Afer running the program, you can view
the resulting cell value:

Difiles\dfidsumup. df - Member ||«
5=
6
1 Having the execution privilege, = 7
you can still run the cell and check
[, the result. g
Sao) il oll™

With the full control privilege, you can view all contents in the cellset and take any actions
on the cellset:

D:\iles\dfi\sumup.dfx

& | B |
i =prin= 5, poae=20 Y ISET ruin = 5.ex = 20
P (e ~ s Set min = 5,max= 20|
3 (=) result &2 surmf) :J"SLTM UP AHD RETURN
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